www.iwidin.com

S

Machine
Tool Holder




L& oIN’




TI&X0! AIZINE S0 Hal 2
SRl Cf QEEHs Jjgo= Ha unm QELIC

LIEHWIDIN : Wide + Intention) 0l2t= AP 2H0]
Z2810| _éiix' KHALC] OleHe
A OF2 Gls Y HEIQIS 21QLICH

S

0




Greeting

Making customer’s
dreams a reality-
The best mechanical solution

(F)HITh2 1988 78 ZFoleh I 22 HA STAIYS| 28 SidS ol TES| el AFLICE

0|2 22 =0f 2I0] =L END MILLS, DRILLS, REAMERS, TAPS #2t0tL|2} SPECIAL TOOLS= Bt=H| 2&, Xt
= X7

SAHRE, 29 % SV B2 St 22 I LTl H2 7|6E St ASLIC,

QIS oYL, FRIoM02k= AF20fH 2E UZIH0| SHLtZ K2 2ot (F)fIHe] TS 2o HE S2ln M
MEOX= HME XARaE 7He=M FH| St 23E 0%E US0 LI RS2 =8 Bt S/,
At SOh3), 7|82l MASks ZEWERY (F)HTS TR LTAZ|7| Llioh ZMe| 23S Of7|K| ¢ USL
=

Ok2d] (F)fIH 24 GrA0Ms SEVHNE St BY%e S5 oi UCH, 1 ZuS2 44 29| gyt il
ME L= LEHT ASLC

CESE MIZAIR Bf243(21 EMO, JMTOF, IMTS, SIMTOS S2f 0] 22t OfL|2} XIEXQ1 sHRIAE /HIMasoz S2IeHY
I 2|Ak2] o[0IX| M= 22, MAIE Rz 288 22 ZHs Acie ASsHCH

Hxfet 2agE|et Fafet HYIErE 22 121 0|US e Liss Xk2 ER0l &g XS CHEEk A &4
= Fet =527t AR ik ekt HIHFEZ 7104 & U=E F[ME CisEU T

T2 o2l S 0] TES 2T AR ZASIH, BUGS =21 HYOR o3t HS AACLIC)

President and CEOQ Dong Hyun Kwon

Wz AL




-
@)
)
B
-

Ab

2001, 04

1ISO 9001

07

)

2

240 S £(X[0277126

A
=

05

MEY)

|

Al2 Aot E2(H|0350651)

2004, 05

O|At &
AR 2 R (E=4510])

I
avt,

i

1l

A1

2005, 02

)

SHCHARA R K| & (K|2005-165

TENE

05

)

3

1 X|™(x[2005-28

(

(INNO-BIZ) &

o
=]

|AHOIE &3

HolE " =

=
T

20

=izl
==

2008, 07

—y

F+

wl
Ih

500¢F

_x___.__
b

2011, 11

06



Machine Tool Holder

TOOLING SYSTEM

ER COLLET CHUCK ER COLLET

SHRINK FIT CHUCK

JSK COLLET CHUCK JSK COLLET




MILLING CHUCK TAPPING CHUCK

TAP COLLET FACE MILL ARBOR MICRO BORING BAR

MODULAR BORING SYSTEM OIL HOLE HOLDER SYSTEM




Machine Tool Holder

TOOLING SYSTEM

HSK-JHM

Modula AlAR OFgfE{et X8
Stod Of2{7Hx] 37PE ABE &
ULt

HSK SPINDLE

HSK-BASIC HOLDER

Hydraulic — — wiw = — = enoue
Expansion P.13

Chuck E S o

—- ——= REAMER

oK —f——F- 3 CUTTER
Double bearing RBH fra 2
Millin . I8 1 >
Chuck pat : K — g @

T
i { BABY CHUCK S
[ — O p— =‘\§‘ ENDMILL

Milling
Chuck o

ER COLLET P.70

ER

e
Collet e @ ==————B HOLDER
Chuck ‘

o WSK COLLET P.78
. P : = ===
Chuck PR CENTER TOOL
FaceMill iAo
Arbor o1l EMB
FMC
ShellEndmill — sma
Arbor P.97

—He==a<——=] evomi
Endmill — EMH —
Holder P

FACE CUTTER

FACE CUTTER




Morse
Taper P83
Arbor
— MTB
P.85
Drill — NPU
Chuck P81
— JTA
P.82
Tapping — 1C
Chauck P10
Taper _ 1sa
Sleeve
Adapter
Side — scA
Cutter P.90
Arbor
: — BSA
Boring P.113
Series
BSB
P14
BCA
P.110
MBF
— BRA
Modular _ gy
System
NT
MT
BT
NT
L— MT

Qo

- ===l“‘§‘|\“ DRILL(morse taper)

DRILL(=AH|0|H)

L= 5} roune

LARGE SIZE
BASIC HOLDER

KERESS DRILL CHUCK

EXTENSION

&L

REDUCER

el

= ==

DRILL

&=— (> CENTERTOOL

CHAMFER
HEAD

) —— ]
) —— ]

TAP

STRAIGHT SLEEVE P.106

ol — =

DRILL
- == fou
ER COLLET P.105
f —2)
— 1 A“-) ENDMILL
— E—-—<—9 REAMER
MT SLEEVE — %ﬁﬂ"’\‘: DRILL(morse taper)

L =— - === - DRILL(morse taper)

FINISHING HEAD

et

ROUGHING HEAD

MS-RH-BCA
RING HEAD
RH ADAPTER

ADAPTER

=)

LARGE SIZE
ROUGHING HEAD

=k

LARGE SIZE
FINISHING HEAD

g

8

EHEW
=]
=0

:
]




Products

INDEX

ER COLLET &

HYDRAULIC CHUCK 18 ACCESSORIES

70

REDUCTION SLEEVE 30 JSK COLLET CHUCK 74

JSK COLLET &

SHRINK FIT CHUCK 32 ACCESSORIES

78

MILLING CHUCK 45 DRILL CHUCK 80

DOUBLE BEARING
MILLING CHUCK

.,
N
MILLING CHUCK o \\ MORES TAPER -

51 JACOBS TAPER ARBOR 82

COLLET ADAPTOR

QUICK CHANGE

’( ARBOR 57 END MILL HOLDER 86

ER COLLET CHUCK 62 SIDE CUTTER ARBOR 90

10



(& ioiv

FACE MILL ARBOR 91 DRILL TAPER CHUCK 128
SHELL MILL ARBOR 97 TOOL SETTING STAND 132
TAPPING CHUCK 100 a BASE MASTER BOLT 134
\
TAP COLLET 102 *‘ *q!ﬁi- PULL STUD BOLT 135
k. -tﬁ, v
% &
OIL HOLE HOLDER 104 ANGLE HEAD 136
ROTATING TOOL
MICRO BORING BAR 107 HOLDER 138
BORING HEAD 115
BASIC HOLDER 123




HYDRAULIC

EXPANSION CHUCK

SYSTEM

=1

| —

~i

|

70| URROIL AmE BAHSS 1 AT WA AHUE 018510
5 SIS HES SaiM A0E 71AR0l WKt o] WS 1Fs
2 QRIsH= S22t U=ciof Hstol SiAte] QAR & L0 Zolx]
of k= Qel0] AalE WA U HE0| HAZTE Hot oA

(=} =}

Eot YN £2E FEE 14 J7430| 7HS5Hn (£]1125,000RPM)
ol
=]

|
3~5/1000m2] HEES HASH= &]7|x0l wal

Existing Milling chuck and spring collet chuck have banausic
clamping method such as clamping by a nut or chuck head, but
there is limit to keep high precision.

However, hydraulic chuck have special clamping method by
removing and expansion the sleeve which were brazed on inside
of chuck. This method completely clamping a cutting tool on all
around inner bore face of chuck and keep high precision and proper

for high speed machining as well.



HYDRAULIC EXPANSION CHUCK

BASIC PLAN

b3 |

A=Y, HLAEY, 2 § DHYUES B
Fine finishing, High speed & high accuracy machining, Reaming, Drilling, etc.

10mm [max)

2Ysel 2E

5um. O|LHe] M= | T.IR accuracy

QXS SHEI} 5mo|L 0122 TUA| JHENS E0IFT Bl 22S s,
Below 0.005mm at 2.5xD / This high accuracy extend tool life including improving
machining condition

O

L=

2.5xD1

CIQU5H L4 AROIZ2| D/OD COLLETE A% 4 S,
ID(Inner bore) size can reducible with reduction sleeve Using Reduction Sleeve D12 / D20
/D32 /0D12/0D20/0D32

T-wrench StLIZ &7 375 wgeh

Easy Clamping and Un clamping by T-Wrench Clamping / Un clamping.

[t is able to tool change after assembling the chuck into the spindle of Machine.

HAQ HEAl | Coolant System

H3 U - ARZ AR AIZ0| 7H5E. DING9871 AD+B type
Center through coolant system(AD) + Flange through coolant system(B)

1271380]| M8 | Good for High Speed Machining

QUHS HIE 25,000r0mIHK| BIRHAT} 5IXI0Y, DATKBSIOIA DYEO| Keja ok
VS

Even under high speed, it works very fast without vibration and makes sure of fine
process and safety with fine balance up to G2.5 at 25,000rpm

13




HYDRAULIC

EXPANSION CHUCK

eExample applications for hydraulic
expansion chuck in standard version

o RYUH ALE Of|A|

e ZHUS X[&UGHE FYUChuck HLUAMA Zetof| MEkstL|ct,

XU 7|A 0l A CBN Tools, Solid Carbide Tools, Poly crystal
Tools, Diamond Tools§ 17t2| 37E E2XO=Z AIEstH TS
S| 2oy HMERLICE

PRECISION

¢Due to the absolute precision of 3microns run out accuracy

o JEIL hydraulic expension chucks are excellently suitable
for precision machining with CBN, Solid carbide and
i polycrystal-diamond tools.

NOTE

- U0l HAZT ChuckingAlol @6~ @329 FAZT A3
h6 Ot ERE HAIZTE ALE.

- QU @12, @20, @32- ALAloli= D or OD ColletE 0|83}0 C}
o

o5t MO|x0| HAZTE MEE 4 US.

rr

E3%t

- Tolerance of cutting tool shank should be configured within h6
- ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32

Laon LG @3-6 76.1-10 #10.1 - 14 @14.1-18 ?18.1 - 24 @241 - 30 @30.1 - 40
h6 0 - 8um 0-9um  0-1tum  0-11um 0-13um 0-13um 0- 16um

- A| EEE RUA ABY| ABRYIY JIEBHALC,

+ The above chart is standard tolerance tool shank for hydraulic chuck application.

Qo 14




FEO| 1L | Feature of Hydraulic chuck

TIZe] YOI AmR BUHSS 1 FZ YA0| AUS 01850
5 SlEU UES SN Ak JPIEe WHoIKEt of wHe nys
0] el

oY
Yot= §J.7|" ! o“i.‘éll-llif

1

) E 3| TIR(BAE) &3

—2.5 x D1 O|LHOlM Collet AF2A| 5/1000um(max), I ChuckingAl

3/1000um(max) =&
—HARRIAN B2 FYst

2) SXH| M2

2.

—ZAte] RUES AU

ALS O} TRIBOfAM LMK

= a =
S Z|Askelo] Mol £42 AMNOZ MA N £F| gy RXES

HIE HMZ2t StASLICE

. _|<_Dro=|+i_-|ig| oori|7d)\| Oori."ﬁ BOLTE ==Y |. | XOIL|[:|.
(BOLTE 27IX| MZA| BOLT7t HE, YAte| RLLX|Z2 BOLT7
E7X| MZA] 21X TiX|ZS YELCh)
of LEB0] FUAIR, 713 ol
2 Qlslf RS0[51H AE R Al ol FUTE Collets AFSSHAIT
Coller DJAFZAJ0fl= CHUCK LHZ SHEHRIHIE0llA 8mmo|d &< X] O
HAIL.(8mmOLY 9] ARZAl CHUCKUA +=gUCh)

=
AR MOIA| QO LHA 5E

3. THABT MY CHUCK LiZn BT 9 87| EE 718718

M5t FHAL (UHY 0IZEE st YAl BAZTIL Ol &
Sk UFLCH)

4, 2915|0{ Ql= AR HOLE BOLTE ZX| DA

(FUF7H &H=0f AFZ0| E7Fs6tA ELct)

5. &4 TOOL2 ALE3IX| OHYAIR

6. CHUCK BOLT oRE0ILt FE
StX

fS0| EIX| %= S A/S & LA
| ORAIZ U0 H2SH0] FAHA
%P |

=

ch)

=l
Yoz B3 EE 01BUE MBI

2. (Yol =x|= CHUCK° A/STH 27}

Existing Milling chuck and spring collet chuck have banausic clamping
method such as clamping by a nut or chuck head, but there is limit to keep
high precision.

However, hydraulic chuck have special clamping method by removing and
expansion the sleeve which were brazed on inside of chuck. This method
completely clamping a cutting tool on all around inner bore face of chuck and

keep high precision and proper for high speed machining as well.

FYUA AZA| #H | Advantages of Hydraulic chuck (See the page 15)

0

3) a4i2 muy

r

—71&29| Muh= o2 T-HIXIA8 2 HAZTE Chucking,”|&2] ZF
YAl HAHZZN BMST ZAl W= 212 FAs oilE
Lc.

4) DA7KB0| =zt
~UHE SRS 71E EAte] QYRS MATKBA RSE0| 70| It
BHLict.

5) Collet A2 2 ZRIA =7}

~AH| 1Y, DY Coler M| X Bhigt CiEt Sized

Collet2 AF25l0] Z|ABtO| HIROZ Z|Ci3te] HIIZ AZE 51U
L.

1) Please fully clamping the clamping screw by T-Wrench (The

clamping screw will be stopped, if it was fully clamped by human
power)

2) Please fully insert a cutting tool into the chuck. At the least, tool
shank edge to be arrived at 8mm from end of inner bore depth.

3) Please eliminate a dust or tiny chip or humidity on the tool shank
and inner bore face of the chuck.

4) Please do not pull out the Clamping Screw and Qil Sealing from the
chuck.

6) Please do not using hydraulic chuck for rough cutting.

7) Please do not disposal it by oneself when come out operating
problem such as broken the chuck or clamping & unclamping
problem etc. (If you have some problem for the hydraulic chuck,

please contact us at first)

15



HYDRAULIC CHUCK

TORQUE No Sleeves
(Hydraulic chucks)

450
400
350
TEST PIN 300
, ,/ E 250
=
_ i - g 200
g
== 2 150
100
50
6 8 10 12 14 16 18 20 25 32 O
Clamping @ (mm)
% This is torque(Nm) when clamped % This is torque(Nm) of Hydraulic
tools with straight cylindrical shanks chucks with direct clamping @ 6-32mm
32mm dia. Chuck with Sleeves 20mm dia. Chuck with Sleeves
120
350
300 100
250 80
E E
> 200 >
S S 60
=} =}
= 150 g
= 40
100
50 20
0 0
6 8 10 12 14 16 18 20 25 @ 3 4 5 6 8 10 12 14 16 @
Clamping @ (mm) Clamping @ (mm)
% This is torque(Nm) of Hydraulic % This is torque(Nm) of Hydraulic
chucks clamping @ 3Zmm with HK collet chucks clamping @ 20mm with HK collet

Qo 16



R-P-M / BALANCE

TEMPERATURE

80C Max

40°C
safety
operating
temperature

20°c

10 Min

®"

(G2.5/15000rpm
Fine Balanced (G2.5/20000rpm
(G2.5/25000rpm
(G6.3/12000rpm
Standard Balanced 66.3/15000rpm

Operating Temperature

Generally, the normal operating temperature

of hydraulic chuck is between 20°C and 40°C

When operating temperature isn't the normal range,
pls ask technical information.

4
-~

| SRS

17



MONHI NOISNVdX3
JMNVHAAH

HYD RAU LI C C H U C K _Short & Heavy Design

MAS403 BT-WHM(P type)

T
D1
D2

b
D3

mm

CODE NO.
BT30 | WHM20P-85 14 85
BT40  WHM20P725 20 T 7 S e o Mexio
BT50 | WHM32P-90 2 60 72 %0 65 55 M16X 10

DING9871 SK-WHMI(P type)

T
Lo
D2

. D3
D4

CODE NO.
SK40 | WHM20P-64.5 20 40 49.5 64.5 52.5 42.5 10 M8 X 1.0
SK50 | WHM32P-81 32 60 72 81 65 55 M16 X 1.0

T
D1
D2
03

BT-WHM .
CODE NO.
WHM6-70 6 25 28 M5 X 0.8
WHMB8-70 8 27 30 70 375 215 28 M6 X 1.0
WHM10-75 10 29 32 75 42.5 32.5 38
B 36
BT30 WHM12-75 12 31 34 45 475 375 10 M6 X 1.0
WHM14-85 14 33 36 85 44
WHM16-30 16 35 38 48
WHM18-30 18 38 41 90 52.5 42.5 M8 X 1.0
WHM20-90 20 40 43 -

- QR0 TARBT ChuckingAloll @6~@329] TABT 43
A N6 20| SO{2E TAIBTE A,
- FUH @12, @20, @328 AF2Al0fl= D or OD ColletE 01235104 Ct

o5t oI Z0| HABTE AISE 4+ US.

rr

ET
=5

+ Tolerance of cutting tool shank should be configured within h6
- ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32
- Balancing Grade : BT30, BT40, SK40 - G2.5/20,000rpm
BT50, SK50 - G 2.5/ 15,000rpm

o 18



HYDRAULIC EXPANSION CHUCK

MAS403 BT-WHM

CODE NO. L1 | [2max | L2min |
WHMB-65 65
WHMB-90 6 25 28 90
WHMB6-140 140
WHMB-65 65 375 | 275
WHMB8-90 8 27 30 90
WHM8-140 140
WHM10-65 65
WHM10-90 10 29 32 90 425 | 325
WHM10-140 140
WHM12-65 65
WHM12-90 12 31 34 90
WHM12-140 140
WHM12-65 50 65 475 | 375
WHM14-90 14 33 36 90
B140 WHM14-140 140
WHM16-65 65
WHM16-90 16 35 38 90
WHM16-140 140
WHM18-75 75
WHM18-90 18 38 41 90 525 | 425
WHM18-140 140
WHM20-75 75
WHM20-90 20 40 43 90
WHM20-140 140
WHM25-100 100
WHM25-135 2 %3 o7 135 b .
WHM32-105 105
WHM32-135 32 %8 63 135 6 >

V

L2 max
CI7 V. L2 min

M5 X 0.8

M6 X 1.0

M6 X 1.0

M8 X 1.0

Fig1

108

M16 X 1.0

Fig2

Taper: AT3 | T.I.LR>5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B

NOTE

- FYHOl HABT ChuckingAlol @6~ @329] HAST d3= £3
At h6 el S02E BASTE ME.

- RUM @12, @20, @328 Ar&Alofl= D or OD ColletS 0185101 Tt

o5t oI Z0| HABTE AISE 4+ US.

+ Tolerance of cutting tool shank should be configured within h6
- ID(Inner bore) size can reducible by using reduction sleeve

D12/D20/D32/0D12/0D20/0D32

19  www.iwidin.com

MINHI NOISNVdX3

JNMNVHAAH




AINHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

Lamax
v Lamin

MAS403 BT-WHM

CODE NO. L2max | L2min
WHMG6-90 90
WHMB6-120 6 25 28 120
WHMB-140 140
WHMS-90 90 375 | 275
WHMB-120 8 27 30 120
WHMB8-140 140
WHM10-90 90
WHM10-120 10 29 32 120 425 32.5
WHM10-140 140
WHM12-30 90
WHM12-120 12 31 34 120
WHM12-140 140
WHM14-90 50 90 475 | 375
WHM14-120 14 33 36 120
BTS0 WHM14-140 140
WHM16-30 90
WHM16-120 16 35 38 120
WHM16-140 140
WHM18-30 90
WHM18-120 18 38 41 120 525 | 425
WHM18-140 140
WHM?20-30 90
WHMZ20-120 20 40 43 120
WHM20-140 140
WHM?25-105 105
WHM25-150 25 53 5 150 61 o
WHM32-115 115
WHM32-150 32 58 63 150 65 %

32

44

Fig2

M5 X 0.8

32

40

44

M6 X 1.0

32

44

32

44

32

44

M6 X 1.0
Fig1

32

48

32

48

32

48

M8 X 1.0

67

112

77

112

M16X 1.0 | Fig2

Taper:AT3 | T.I.LR=5:/25xD | Bal/rpm:G2.5/15000 | Coolant: AD, AD/B

- QUH0| FABT ChuckingAlo] @6~@320] HABT 43
A N6 20| SO{2E TAIBTE A,
- QA @12, 320, @328 ArZAl0l= D or OD ColletS 0|&3t0] Ct

o5t oI Z0| HABTE AISE 4+ US.

rr

ET
=5

+ Tolerance of cutting tool shank should be configured within h6
- ID(Inner bore) size can reducible by using reduction sleeve

D12/D20/D32/0D12/0D20/0D32

o 20



HYDRAULIC EXPANSION CHUCK

m

X=

o

>3

L C%ZD
2 SE

c 1 >

1 £

c

dj»\l 5 o (=]
—— =

L2min

L2max

Figl

DIN69871 SK-WHM

CODE NO. [2max | L2min

WHM6-65 65 23

WHM6-80.5 6 25 | 28 805 4 MBX08

WHMB-110 10

WHMB-65 65 | o0 | 270 23

WHMB8-80.5 8 27 30 80.5 | MEX10

WHMB-110 10

WHM10-65 65 23

WHM10-805 | 10 | 29 @ 32 805 | 425 | 325 2

WHM10-110 10

WHM12-65 65 23

WHM12-805 | 12 | 31 | 34 805 | MBX10

WHM12-110 10 .
o WHM14-75 50 75 475 375 0 30 Fig1

WHM14-805 | 14 | 33 36 80.5 2

WHM14-110 10

WHM16-75 75 30

WHM16805 | 16 | 35 | 38 80.5 48

WHM16-110 10

WHM18-75 75 %0

WHM18805 | 18 | 38 | 41 805 | 525 | 425 M8 X 1.0

WHM18-135 135 48

WHM20-75 75 30

WHM20805 | 20 | 40 | 43 80.5 48

WHM20-110 10

WHM25-805 | 25 | 53 | 57 | 66 610 | 510 26 .

WHM32-805 | 32 | 60 | 63 80 0%  g50 | 580 26 MI6X1.0 | FigZ

Taper:AT3 | T.I.LR>5:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B

NOTE
- FUE| HAZT ChuckingAlol @6~ @329 HAZT 83= EF - Tolerance of cutting tool shank should be configured within h6
Xt h6 2ol S0R= HASZTE ARE. - ID(Inner bore) size can reducible by using reduction sleeve

- YA @12, #20, @328 AEAl0l= D or OD ColletS 083510 Ct D12/D20/D32/0D12/0D20/0D32

o5t oI Z0| HABTE AISE 4+ US.

21



AINHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

[2max | L2min

WHMS-90 %0
WHMB-140 6 | % | 28 T R
WHM8-90 A P %0 . .
WHMS-140 140
WHM10-90 %0
WHwmio140 | 0 B 32 150 425 325
WHM12-90 %0
WHM12-140 | 2 31 34 w
WHM14-90 IO e B O . .
WHM14-140 140
WHM16-90 %0

SKSO \whmieqs0 | B 3 38 140
WHM18-90 a0
WHwig1s0 | 8 38 4 w
WHMZ0-805 s05 | % .
WHM20-90 a0
WHM20410 | 20 40 43 0
WHM20-140 140
WHM25-105 105
whzsia | B 3 5 g 810 810
WHM32-115 s
Wi | 2 58 63 g 650 550

44

44

M5X0.8

44

44

M6 X 1.0

44

44

44

44

44

44

M6 X 1.0

48

48

48

48

44

48

48

48

M8 X 1.0

Fig1

85.9

120.9

M16 X 1.0

959

120.9

M16 X 1.0

Fig2

Taper:AT3 | T.I.R=5:/25xD | Bal/rpm:G2.5/15000 | Coolant: AD, AD/B

- QUH0| FABT ChuckingAlo] @6~@320] HABT 43
A N6 20| SO{2E TAIBTE A,
- QA @12, 320, @328 ArZAl0l= D or OD ColletS 0|&3t0] Ct

o5t oI Z0| HABTE AISE 4+ US.

rr

ET
=5

+ Tolerance of cutting tool shank should be configured within h6

- ID(Inner bore) size can reducible by using reduction sleeve

D12/D20/D32/0D12/0D20/0D32

&yonw 2



HYDRAULIC EXPANSION CHUCK

MINHI NOISNVdX3
JNMNVHAAH

[2max | LZmin

WHMB-70 6 | 25 | 28

Hskagn | WHMB-70 8 | 27 | 30 701315 275 28 %0 \sxos
WHM10-75 | 10 | 29 @ 32 75 | 425 325 34 | 55
WHM12-85 12 | 31 34 80 | 475 375 - 85 | MBX10
WHMB-70 6 | 25 | 28 M5X08 | Figl
WHMET0 R 70 375 275 28 | 44
WHM10-80 10 = 29 32 | 40 | 75 | 425 325 34 | 54
WHM12-85 | 12 | 31 34

G 85 | 475 375 ZRN - T
WHM16-90 | 16 | 35 | 38 | 60 30 Fig2
WHM18-90 | 18 | 38 | 41 90 | 525 425 - 64 o
WHM20-90 20 | 40 | 42 g
WHMB-70 6 | 25 | 28 M5 X 0.8
WHM8-70 8 | 27 | 30 70| 3751275 248 T uex10
WHM10-80 | 10 | 29 @ 32 80 | 425 | 325 35 | 54
WHM12:85 | 12 | 31 | 34 MBX10 |

g WHMILES 14 3w 50 | 85 | 475 375 10 | 40 | 59 Fig!
WHM16-90 | 16 | 35 | 38 46
WHM18:90 | 18 | 38 | 41 90 | 525 425 47 | B4 | MBX10
WHM20-90 20 | 40 | 43 48
WHMZ25-120 25 = 53 | 57 | 63 | 120 | 61 | 51 59 | 94 .
WHM32-125 32 = 58 63 | 75 | 125 | 65 55 63 | gg MIGX10 Fig2
WHM6-75 6 25 28 M5 X 0.8
WHMETE s o g 54 75 35 275 2% | 46
mmggg 12 g? gi 90 | 425 | 325 2 8 e

95 | 475 375 47 | 66

Hskioon WHM1485 | 14 | 83 36 | o
WHM16-100 | 16 = 35 | 38 100 53 | 7 g
WHM18-100 | 18 | 38 | 41 525 | 425 M8 X 1.0
WHM20-105 20 | 40 | 43 105 59 | 76
WHM25-110 | 25 | 83 | &7 | 63 | .| 61 | 5 6 | g | MBX1O
WHM32-110 | 32 | 58 | 63 | 75 65 | 55 M8 X 1.0

Taper: AT3 | T.I.LR>5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD

- QUH0| FABT ChuckingAlo] @6~@320] HABT 43
A N6 20| SO{2E TAIBTE A,

rr

Ot

- FUH @12, @20, @328 AF2Al0fl= D or OD ColletE 01235104 Ct

o5t AfO|x0| HABTE A

StA Ol
=2 T amo.

+ Tolerance of cutting tool shank should be configured within h6
- ID(Inner bore) size can reducible by using reduction sleeve

D12/D20/D32/0D12/0D20/0D32

+ Balancing Grade : HSK40, 50, 63 - G2.5/20,000rpm

HSK100 - G2.5/15,000rpm

23



AINHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

N

D4

DIN69893 HSK/A-WHM

CODE NO. | [2max | [2min |

WHMB-150 150 103 | 124
WHMB-200 0 2 28 200 | oo e 103 | 174 | MOX08
WHM8-150 . - 20 150 ' ' 104 | 124 |y
WHMB8-200 200 104 | 174 '
WHM10-150 150 104 | 124
WHM10-200 10 29 32 200 | %0 329 104 | 174
WHM12-150 150 105 | 124

Hskega WHM12-200 12 31 34 g0 200 | oo g g 105 174 M6 X 1.0
WHM14-150 " - % 150 ' ' 105 | 124
WHM14-200 200 105 | 174
WHM16-150 150 106 | 124
WHM16-200 16 3 38 200 | . 108 174\ ovg
WHM18-150 8 - 1 150 R 107 | 124 '
WHM18-200 200 ' 107 | 174
WHM20-150 150 108 | 124
WHM20-200 20 40 3 200 | °%° 108 | 174 | MEX10

Taper:AT3 | T.I.R=5:/25xD | Bal/rpm:G2.5/20000 | Coolant: AD

NOTE

- FUE| HAZT ChuckingAlol @6~ @329 HAZT 83= EF - Tolerance of cutting tool shank should be configured within h6
Xt h6 2ol S0R= HASZTE ARE. - ID(Inner bore) size can reducible by using reduction sleeve

- RUM @12, @20, @328 Ar&Alofl= D or OD ColletS 0185101 Tt D12/D20/D32/0D12/0D20/0D32

o5t oI Z0| HABTE AISE 4+ US.

o 24



HYDRAULIC EXPANSION CHUCK

MINHI NOISNVdX3

JNMNVHAAH

| 12max | L[2min |

WHM6-60 6 25 28 35 M5 X 0.8
HSKAOC WHMB8-60 8 27 30 60 375 275 36 M6 X 1.0

WHM10-65 10 29 32 65 42,5 325 41 )

WHM12-70 12 31 34 70 475 375 47 M6 X 1.0

WHMB-60 6 25 28 30 M5X 0.8

WHMB8-60 8 27 30 60 375 215 10 30 M6 X 1.0

WHM10-65 10 29 32 65 425 325 35

WHM12-75 12 31 34 44 M6 X 1.0
HSK50C WHM14-75 14 33 36 7 475 375 46

WHM16-80 16 35 38 51

WHM18-80 18 38 4 80 525 42.5 51 M8 X 1.0

\WHM20-80 20 40 43 52

Taper:AT3 | T.I.R=5:/25xD | Bal/rpm:G2.5/20000 | Coolant: AD

- FUE| HAZT ChuckingAlol @6~ @329 HAZT 83= EF - Tolerance of cutting tool shank should be configured within h6
Xt h6 2ol S0R= HASZTE ARE. - ID(Inner bore) size can reducible by using reduction sleeve
- RUM @12, @20, @328 Ar&Alofl= D or OD ColletS 0185101 Tt D12/D20/D32/0D12/0D20/0D32

o5t oI Z0| HABTE AISE 4+ US.

rr

25



AINHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

L1

L4

|
qﬁ L3
30° G

D4

DIN69893 HSK/E-WHM

CODE NO. | [2max | L2min |V
WHMB6-75 6 25 28 75 55
HSKAOE WHMS8-70 8 27 30 2 70 375 275 28 50 M5 X 0.8
WHM10-75 10 29 32 75 425 | 325 34 55
WHM12-85 12 31 34 85 475 | 375 65 M6 X 1.0
WHMB6-70 6 25 28 M5 X 0.8
WHM8-70 8 27 30 400 70 3751275 10 28 44 M6 X 1.0
HSK50E WHM10-80 10 29 32 ’ 80 425 | 325 34 54
WHM12-85 12 31 34 85 475 | 375 44 59 ME X 1.0
WHM16-30 16 35 38 60 90 525 | 425 30 64 '
\WHMZ20-90 20 40 42 - ) )
Taper:AT3 | T.I.LR>5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD
- FUE| HAZT ChuckingAlol @6~ @329 HAZT 83= EF - Tolerance of cutting tool shank should be configured within h6

b h6 2Hll S0RE BAISTE ALE.
- YA @12, #20, @328 AEAl0l= D or OD ColletS 083510 Ct D12/D20/D32/0D12/0D20/0D32

o5t oI Z0| HABTE AISE 4+ US.

- ID(Inner bore) size can reducible by using reduction sleeve

o %



Tool Lenght Adjustable
Design by Gear

- MU 712 E E Gear

HIA|
o

-Unclamping & AIR22 Z0| ZHE M5 Setting

- Using Special Gear to tool Length Adjusting

- Easy Tool length adjusting by gear after assembling the chuck into the spindle of Machine

T-Wrench stL2 &7 3
72 warst

Easy Clamping and
Unclamping by T-Wrench
Clamping/ Un clamping It

is able to tool change after
assembling the chuck into the
spindle of Machine

HAMZT M = T-Wre
2 £ Zo| =H™Ho| 7=
&t (Max. 10mm)

Easy Tool length adjusting
up to 10mm by gear after
assembling the chuck into the
spindle of Machine

nEyElES

Good for High Speed
Machining

FAUXES HE 25 000RPM7IX|
Hi2tAT} EoiX|H, n£71Sst
(UIPSnEsl==el e inl Bulpsysy =
sk

Even under high speed, it works
very fast without vibration and
makes sure of fine process and

safety with fine balance up to
(2.5 at 25,000rpm

AINHI NOISNVdX3
JNMNVHAAH

5um, O|LH nHE /

T.IR accuracy

FYUH2 SHETH5mo|UH 0|2
2 YA 7IBH8E =T B
7ol +82 oI,

Below 0.005mm at 2.5XD This
high accuracy extend tool life
including improving mechining
codition.

CHfst LHZ AlO|=2| D
COLLETE AtEE £ S
ID(Inner bore) size can
reducible with reduction
sleeve

Using Reduction sleeve

D12/D20/D32/0D12/0D20/
0D32

HAR ury
Coolant System
A3 U EZ HAR ALO| 7t

=

=ar

DING9871 AD+B type

Center through coolant
system(AD) + Flange
through coolant system(B)
= AD/B coolant system

27



AINHI NOISNVdX3
JMNVHAAH

HYD RAU I_I C EXPAN S I O N CH U CK _Tool Length Adjustable Design by Gear

L1
BT40 | WHMZ20G-30 20 40 43 50 90 525 425 10 50
BT50 | WHMZ20G-30 20 40 43 50 85 52.5 42.5 10 32

Taper:AT3 | T.I.LR>5:/25xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B

L1

|
D
D2
D3
D4

= = —e - -
S B |

T
"
ST — U 1t

L1 | 2max | L2min | V
SK40 | WHM20G-85 20 40 43 50 85 52.5 425 10 50
SK50 | WHM20G-85 20 40 43 50 85 52.5 425 10 32

Taper:AT3 | T.I.LR=5:/25xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B

NOTE

- R0 HAST ChuckingAloll @6~ @322 HAIZT 43
At h6 Chof S012= EASTE M.

- RYUA @12, @20, @328 ABAlol= D or OD Collet2 0l&3t0 Tt

=]
o5t oI Z0| HABTE AISE 4+ US.

rr

ET
=5

+ Tolerance of cutting tool shank should be configured within h6
- ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32

o 28



HYD RAU I_I C EXPAN S I O N CH U CK _Tool Length Adjustable Design by Gear

L3

MINHI NOISNVdX3
JNMNVHAAH

DIN69893 HSK/A-WHM(G Type)

mm

CODE NO. L1 | [2max | L2min |
Hskeaa | WHM12G-95 12 31 34 95 475 | 375 42 69
WHM20G-100 | 20 40 43 c0g 100 | 525 | 425 50 74
WHM126-105 = 12 31 34 ' 105 | 475 @ 375 10 42 76
HSK100A WHM20G-110 | 20 40 43 110 | 525 | 425 50 81
WHM32G-120 32 60 63 750 | 120 65 55 61 91

Taper:AT3 | T.I.R=5:/25xD | Bal/rpm: G2.5/20000 | Coolant: AD

NOTE

+ SO0 MALZET ChuckingAlol @6~ @329 MALZR Al9= EF + Tolerance of cutting tool shank should be configured within h6
Zt h6 2Hfl S0 HABTE AL, - ID(Inner bore) size can reducible by using reduction sleeve

c QUM @12, 320, @328 AZAlofl= D or OD ColletE 0|&3+04 Cf D12/D20/D32/0D12/0D20/0D32
Aot AO|ZO| HMBTE ARBE 4= UB. - Balancing Grade : HSK40, 50, 63 - G2.5/20,000rpm

HSK100 - G 2.5/15,000rpm

29



JIA331S NOILONATY

HYDRAULIC EXPANSION CHUCK COLLET _secucaion Sesve(i oy

0D-Coolant Waterproof Design

- —

0-Ring

[4]o]

0d
?D1

L1 L2

mm
CODE NO.

3 3
4 4

0D12 5 5 12 21 45 2
6 6
8 8
3 3
4 4
5 5
6 6

0D20 g o 20 29 50.5 2
10 10
12 12
16 16
6 6
8 8
10 10

0D32 12 12 32 39 60.5 3
16 16
20 20
25 25

T.LR>5: /25D

2

0¥ 2 40

(=[] ank

mo ri

0)

=

A0 HAZFO| ShankE
Uz (SA)RXIE 26t WE 32

QO HAR AIBA|
85t USLICt

=

o

2% & OD COLLETE W goll w2t 6522 282 =
o 127 Chucking iF0H, 1

N=WVN=1=I-]

100% Xict

Peature

- ID(Inner bore) size can reducible by using reduction sleeve

0D12/0D20/0D32

- 0D type is 100% coolant waterproof
+ There is a little bit tighten when insert the reduction sleeve into the

chuck due to high precision tolerance of reduction sleeve and chuck.

+ Please insert the reduction sleeve into the chuck after insert a cutting

tool into the reduction sleeve.

@lpm 30



HYDRAULIC EXPANSION CHUCK COLLET -Reduction sieeve

IA331S NOILINAIY

CODE NO.
3 3
4 4
D12 5 5 12 16 44.5 2
6 6
8 8
3 3
4 4
5 5
6 6
D20 8 8 20 24 50.5 2
10 10
12 12
14 14
16 16
6 6
8 8
10 10
12 12
D32 14 14 32 36 60.5 3
16 16
18 18
20 20
25 25
T.I.LR >5:/2.5xD

E 3 Peature

+ FYUH 2 D COLLETE 38522 22 |0U0] HagT + ID(Inner bore) size can reducible by using reduction sleeve
9| ShankE T 2| Chucking shFEH, MU SXIE 25l 0D12/0D20/0D32
WWZ @of 34 SxF FUSH| ChuckingAloll 0|8E {2 - There is a little bit tighten when insert the reduction sleeve into the
SHYAlR. chuck due to high precision tolerance of reduction sleeve and chuck.
COLLETOl| EAMZFE Aelst F0i| Chuckol| &= FAA| - Please insert the reduction sleeve into the chuck after insert a cutting
2 Al YUSKIZ Qlsff RFEX| tE 4 el Fn tool into the reduction sleeve.
HIZHLCE

31  www.iwidin.com



SHRINK FIT CHUCK
SHRINK FIT EXTENSION
SLEEVE

- Quickly and Easy Tool change
- Excellent for High Speed Machining .

J|




SHRINK FIT CHUCK _pesigned 3" siope

BT30

1

MAS403 BT-SHR

CODE NO.

SHR3-80 14.8 3 9 9

SHR4-80 15.8 4 10 12

SHR5-80 16.8 5 1" 15

SHRG6-80 17.8 6 12

SHR8-80 19.8 8 14 25 80
BT30 SHR10-80 21.8 10 16 32

SHR12-80 23.8 12 18 38

SHR14-80 25.8 14 20 0

SHR16-90 27.8 16 22

SHR18-90 29.8 18 24 42 90

SHR20-90 31.8 20 26 44

Taper: AT3 | T.LR>3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B | For : Solid Carbide

~—§¢*%?SHANK@‘ 03-6 ‘ 76.1-10 ‘ 010.1-14 ‘ 014.1-18 ‘ 018.1-24 ‘ #24.1-30 ‘ 30.1-40

h6 0-8um 0-Sum 0-11um 0-11um 0-13um 0-13um 0-16um

33  www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIYHS

SHRINK FIT CHUCK _pesigned 3" siope

BT40

MAS403 BT-SHR

CODE NO.
SHR3-90 17 3 9 9
SHR4-90 18 4 10 12
SHR5-90 19 5 1" 15
SHRG6-90 20 6 12 25
SHR8-90 22 8 14 90
SHR10-90 24 10 16 32
BT40 SHR12-90 26 12 18 38
SHR14-90 28 14 20 0
SHR16-90 30 16 22
SHR18-95 32 18 24 42 95
SHR20-95 34 20 26 44
SHR25-100 39 25 31 50 100

Taper : AT3 | T.I.LR>3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B | For : Solid Carbide

~—§¢*%?SHANK@‘ 03-6 ‘ 76.1-10 ‘ 010.1-14 ‘ 014.1-18 ‘ 018.1-24 ‘ #24.1-30 ‘ 30.1-40

h6 0-8um 0-Sum 0-11um 0-11um 0-13um 0-13um 0-16um

@lpm 34



SHRINK FIT CHUCK _pesigned 3" siope

BT50

MAS403 BT-SHR

CODE NO.
SHRG-100 20.4 6 12 25
SHR8-100 22.4 8 14
SHR10-100 24.4 10 16 32
SHR12-100 26.4 12 18 38
SHR14-100 28.4 14 20
BTS0 SHR16-100 30.4 16 22 40 100
SHR18-100 32.4 18 24 42
SHR20-100 34.4 20 26 44
SHR25-100 39.4 25 31 50
SHR32-100 46.4 32 38

Taper:AT3 | T.I.R>3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B | For : Solid Carbide

~—§¢*%?SHANK@‘ 03-6 ‘ 76.1-10 ‘ 010.1-14 ‘ 014.1-18 ‘ 018.1-24 ‘ #24.1-30 ‘ 30.1-40

h6 0-8um 0-Sum 0-11um 0-11um 0-13um 0-13um 0-16um

35 www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIYHS

SHRINK FIT CHUCK _pesigned 3" siope

DIN69893 HSK/A-SHR

HSK4O0A

mm

CODE NO.
S8 1 ; : I
ST 2 ‘ 1 L S
HSK40A g:ggfgo 22 6 12 . +
SHAAT 2 ; 1 —
SHRIO17D 7 1 1 I
SHRIZ17D 7 12 1 O

Taper:AT3 | T.I.LR>3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD | For: Solid Carbide

—BUBTSHANG | g |

h6

0-8um

76.1-10 ‘ @10.1-14 ‘ 214.1-18 ‘ 218.1-24 ‘ 324.1-30 | @30.1-40

0-9um

0-11Tum 0-11um 0-13um

0-13um 0-16um

@lpm 36



SHRINK FIT CHUCK _pesigned 3" siope

HSK4OE

DIN69893 HSK/E-SHR

mm

CODE NO.
S8 1 ; : I
ST 2 ‘ 1 L S
HSK40E 2:22?20 22 6 12 . +
SHAAT 2 ; 1 —
SHRIO17D 7 1 1 I
SHRIZ17D 7 12 1 O

Taper:AT3 | T.I.LR>3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD | For: Solid Carbide

430.1-40

h6 0-8um 0-9um 0-1Tum 0-1Tum 0-13um 0-13um 0-16um

37 www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIYHS

SHRINK FIT CHUCK _pesigned 3" siope

HSK50A

DIN69893 HSK/A-SHR

mm

CODE NO.
SHR4-60 18.6 4 10 12
SHR5-60 19.6 5 11 15 60
SHR6-60 19.6 6 12
SHR8-80 25 80
SHR8-120 216 8 1 120
SHR10-80 80
SHR10-120 236 10 16 32 120
SHR12-85 85
HSK50A SHR12-120 256 12 18 38 120
SHR14-90 90
SHR14-120 216 14 20 120
SHR16-90 90
SHR16-120 296 16 2 40 120
SHR18-95 95
SHR18-120 316 18 24 42 120
SHR20-100 100
SHR20-120 316 20 26 i 120

Taper: AT3 | T.LR>3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

—_ TABTSHAN

K@‘ @3-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 714.1-18 ‘ 218.1-24 ‘ (324.1-30 ‘ 430.1-40

h6 0-8um 0-9um 0-1Tum 0-1Tum 0-13um 0-13um 0-16um

@lpm 38



SHRINK FIT CHUCK _pesigned 3" siope

HSKS0E

DIN69893 HSK/E-SHR

mm

CODE NO.
SHR4-60 18.6 4 10 12
SHR5-60 19.6 5 11 15 60
SHR6-60 19.6 6 12
SHR8-80 80
SHR8-120 216 8 1 25 120
SHR10-80 80
SHR10-120 236 10 16 120
SHR12-85 85
HSK50E SHR12-120 256 12 18 38 120
SHR14-90 90
SHR14-120 216 14 20 120
SHR16-90 90
SHR16-120 296 16 2 40 120
SHR18-95 95
SHR18-120 316 18 24 42 120
SHR20-100 100
SHR20-120 316 20 26 i 120

Taper: AT3 | T.LR>3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

,,,,,;,;M“j% i%?s HANK@ ‘ o

3-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 714.1-18 ‘ 218.1-24 ‘ (324.1-30 ‘ 430.1-40

h6 0-8um 0-9um 0-1Tum 0-1Tum 0-13um 0-13um 0-16um

39 www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIYHS

SHRINK FIT CHUCK _pesigned 3" siope

DIN69893 HSK/A-SHR

HSK63A

D1

mm

CODE NO.
SHR3-80 171 3 9 9 80
SHR4-80 18.1 4 10 12 80
SHR5-80 19.1 5 11 15 80
w0 w s | w | o®
O a e
sow s W oo
S R B
sl e omw
I -

Taper:AT3 | T.I.R=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

430.1-40

0-16um




SHRINK FIT CHUCK _pesigned 3" siope

HSK100A

HSK100A

3°slope
et
_ ii ‘7 [l L —
,,{ | 2
L3
Fig2 ‘ L
DIN69893 HSK/A-SHR -
CODE NO.
SHR6-85 6 12 25 80
SHR8-85 8 14 85
SHR10-90 10 16 32 90 )
SHR12-95 12 18 50 24.8 91 83.84 o 95 Fig1
SHR14-95 14 20 95
HSKT00A SHR16-100 16 22 40 100
SHR18-100 18 24 - - - 42 100
SHR20-105 20 26 - - - 44 105 )
SHR25-115 25 31 - 392 - . 50 115 | 92
SHR32-120 32 38 - - - 120

Taper:AT3 | T.I.R=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

——— ZASTSHANK ‘ 036 ‘ 06.1-10 ‘ 010.1-14 ‘ 014118 ‘ 018.1-24 ‘ #24.1-30 ‘ (930.1-40

h6 0-8um 0-9um 0-11um 0-1Tum 0-13um 0-13um 0-16um

41  www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIYHS

SHRINK FIT EXTENSION CHUCK -pesigned 3 stope

3° Slope
8 R et 1354l

SR-SHR (STANDARD)

mm

CODE NO. D | Shank Tolerance

SHR3-160 3 9
SHR4-160 4 10

SR16 SHR5-160 5 " 16 66.8
SHRE-160 6 12 10
SHR8-160 8 14
SHR10-160 6 12 160 he
SHR6-160 8 14

SR20 SHR8-160 20 105
SHR10-160 10 16 26
SHR12-160 12 18 32

(EXTRA SLIM) mn
CODE NO. D D | Shank Tolerance

SHR3-160 3 6 9 52.2
SHR4-160 4 7 12 47.7

SSA12 SHR5-160 5 8 12 15 38.2 hé
SHREB-160 6 9 25 28.6
SHR3-160 3 6 9 85.9
SHR4-160 4 7 12 85.9
SHR5-160 5 8 15 76.3

SSA16 SHRB-160 6 9 16 25 47.7 160
SHR8-160 8 " 47.7 he
SHR10-160 10 13 32 28.6
SHREB-160 6 9 o5 95
SHR8-160 8 " 85.9

SSA20 SHR10-160 10 13 20 32 66.8
SHR12-160 12 15 38 47.7

For : Solid Carbide

‘ ?3-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 214.1-18 ‘ 018.1-24 ‘ 324.1-30 ‘ 430.1-40

h6 0-8um 0-Sum 0-11um 0-11um 0-13um 0-13um 0-16um

The universal solution for your machining issues.

+ Highest runout accuracy optimum and almost unlimited extensions likely the most economic way special machining requirements for
carbide steel

@lpm 42



SHRINK FIT EXPANSION CHUCK -pesigned 3 stope

3° slope

D3

i

i

i

i

i

v

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

:

i

o
i

;

|
L
gD1
?D2

SR-SHR
CODE NO. Shank Tolerance

SHRB-300 6 12

SR20 SHRB-300 . y 20 25 76.3
SHR8-300
SHR10-300 10 16 32

SR25 SHR12-300 12 18 25 38 124
SHR14-300 14 20 300 he
SHR16-300 16 22 40
SHR10-300 10 16 32
SHR12-300 12 18 38

SR32 SHR14-300 14 20 32 190.8
SHR16-300 16 22 40
SHR20-300 20 26 42

For : Solid Carbide

The universal solution for your machining issues.

+ Highest runout accuracy optimum and almost unlimited extensions likely the most economic way special machining requirements for

carbide steel

43  www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIYHS

Induction Machine for Shrink Fit Chuck -zxss 24s e

SF4200

EZ Y Z3H (Feature)
Z|CHAH|Z © 3.6KW

¢ Low Consumption Power : Max. 3.6W

o FHIS A THA : Steel A, SUS AL

e Chuck material : STEEL & SUS

« X253t 712 A

« Cost-effective price and competitive price
==

e Delivery : within 10 days from order date

o AFRFQ 1 AC 100V~240V

* Using Volatage : Free Voltage

5|8 oozt UXY

e All-in-one Inducting & Air Cooling System

AAIS
o 222 ZAfH

Easy Operating Manual

ST E/AIARK(Shrinking Time)

Induction %24 (Carbide Tool)

ZFQ A2 (Specification)

22 Model Sf4200

Chuck ID

T2 Power AC 110V -240V Coil Heating Cooling
AH|%124 Rated Ampere Max 3.6KW g4 720 4 Sec. 6 Sec.
0| Dimension(mm) 325X 340 X 690

e AR oF |2 & See below Chart 76 @20 4 Sec. 5 Sec.
e S G sitel Okl 20mm, 30mm, 40mm, 50mm
S0 L MoIx B30, B0, BT50 o8 020 4 Sec. 4 Sec.
Holder Support Size HSK32, HSK40, HSK50, HSK63, HSK100 @12 320 4 Sec. 6 Sec.
A g 71 HeY
Inducting range of Chuck ID 3mm - 32mm 716 @30 6 Sec. 10 Sec.
s Weight 19kgs
Z2{Z 11 Output Hz 7kHz ~ 45kHz 020 040 8 Sec. 12 Sec.

HZ B4E (Standard Parts) « 7183 Y LHE x|+  BERLE

Induction Coil Size [@ d] [Standard Parts]

o 7193 (Induction Coil) : @d = 30mm
« 27 9HEI0(Holder Support) : BT & HSK Bd=20mm @d =30mm
@ d=30mm HEEES HQIF L2
o LiE &I ZHHeatproof Gloves)
o S X(Fuse) @ d =40mm AO| == 24 04
@ d=50mm And other size is optional

Qo 4



~ SINGLE MILLING




MONHI ONITIN

SINGLE MILLING CHUCK

MAS403 BT-C o
CODE NO. | COLLET
C20-75 75
BI30 o000 90
C20-80 20 19 59 80 65 K20
C20-90 90
20-135 135
C25-90 90
BT40 ocae 25 255 62 135 70 K25
C32-90 90
C32-105 32 25 75 105 75 K32
32-135 135
C20-105 105
t20-150 20 19 59 150 65 K20
C25-105 105
25135 25 255 62 135 70 K25
32-110 110
BIS0 " ¢ap135 32 25 75 135 75 K32
C32-165 165
C42-110 110
C42-135 42 25 94 135 85 K42
C42-165 165
Taper: AT3 | T.I.LR>10:/2.5xD | Coolant: AD
COOLANT
- LIZ 2% (Spindle Through)ALZ0| 7+53HH ALZAI ONK ColletE ME3HIAIL.

- If you want to use the Milling Chuck with Spindle Through Coolant system, please use our ONK Collet.

@mﬂv 46



SINGLE MILLING CHUCK

L

d1

D1

DIN69871 SK-C
CODE NO. \ d1 D1 L1 COLLET
C20-105 20 59 K20
K40 C25-105 25 62 105 K25
C32-105
32 75 K32
C32-135 135
C20-105 20 59 K20
C25-105 25 62 105 K25
C32-105
C32-135 32 75 135 K32
SK50 C32-165 165
C42-115 115
C42-135 42 94 135 K42
C42-165 165
Taper: AT3 | Coolant: AD
L1 L1

DING69893

Fig.1

HSK-C

D2

L2

Fig.2

d1

D1

CODE NO.
HSK50A C20-100 20 19 59 100 65
HSKB3A C20-105 105
C32-130 32 25 75 130 75
C20-110 20 19 59 110 65
HSK100A C32-135 32 25 75 135 75
C42-135 42 94 135 85

Taper: AT3 | Coolant: AD

COOLANT

- L5 27 (Spindle Through)ALE0| 7Hs3HH AFZA| ONK ColletE ME5HIAIR.

+ If you want to use the Milling Chuck with Spindle Through Coolant system, please use our ONK Collet.

47 www.iwidin.com

MINHI ONITIIN




MONHI ONITIN

SINGLE MILLING CHUCK

Draw Bolt

DIN2080 NT-C

Draw Bolt
CODE NO. N S COLLET
NT30 20 20 - 505 sg 1/2'-12UNC | M12X1.75 20
NT40 295 2 5/8"-11UNC | M16X2.0
32 32 75 267 % K32
NT50 42 42 94 86.2 110 1"-8UNC M2AX30 v

Draw Bolt

d1
D1

R8-C

CODE NO. Draw Bolt |  COLLET
R8 C20 20 59 62.5 85 7/16"-20UNC K20

L7 4 AZE

- 22X 2glo|us 300710 HolZS 425101 LSO £|A0| DFE
0| ojR0IX|22 71 £HS QXIFLICE

- E4ZioR HIzlE 2lH|0|uis QIESl HIsid 4o BRIt

Durability
+ Milling chuck will be maintained long life through retainer that is
accepted 300pcs bearings and minimized the friction on its rolling side.

LS 222 H|of2
b4

- 2FY DT LIS HOE2 MPA| F2lg kR0l 2EEA AESE - 6719 ARE= PEAHUZS 2 ¥ 0|SEE MHste olmEs &
0 OFEZ0| glELch X|5to ’1. HE Y7 |H 37O S YXIFLIC

Needle Roller Bearing Slot

- The Needle Bearing with high precision & high strength is working - Eliminates the oil and dregs owing to 6pcs-slots and improves torque
softly and no friction noise even heavy load. power due to prevent slip and come off the tools.

@mﬂv 48



SINGLE MILLING CHUCK -set

SR8-C, SNT-C
CODENO SETLHZ (Set Contants)
' 23| (Chuck) COLLET MT. 2E (MT Collet) | E2A H} (Drill Chuck Bar)
SR8 R8-C20

E— C20 K20 6.8.10.12.16 K20-MT1.2 K20-JT6

SNT30 NT30-C20

SNT40 NT40-C32 K32 2b8'2150'12'16
— C32 6 8 101216 K32-MT1.2.3 K32-JT6

NT50-C32 K32 e
20.25
SNT50 6.8.10.12.16
C42 NT50-C42 K42 202532 K42-MT1.2.3.4 K42-JT6

- a2l X g5 MEZS FE6H 1= Draw Bolt (inch. Metric) 2=
PNESIS SINIER
0il) SNT50M—C42(METRIC SIZE),
SNT50U—C42(INCH SIZE)

- Draw Blot £ XI"HotX|%E Z<0ll= NT40, NT50, R82 INCH

SIZE 2 NT30, NT602 METRIC SIZEZ &1 gLt
- S HHJTE)o| E2IMS HEHE|of UX| ELICE
- Centering Bar= SetOfl M &|2| ElL|ct,

- Please make designate the Draw Bolt dimension between Inch and

Metric at ordering step.

+ Unless any notifying, NT40 and NT50 will be supplied with Inch Draw

bolt.

+ Drill chuck bar(JT6) is excluding a Drill chuck
+ Centering Bar is excluding in set contents.

49

www.iwidin.com

MINHI ONITIIN



MONHI ONITIN

SINGLE MILLING CHUCK

Tang

Draw Bolt

Cotter Home

el

S
MT-C n
CODE NO. d1 | DrawBolt | COLLET
C32-90 32 75 90 K32
M4 C42-95 42 94 95 M16x2.0 K42
C32-90 32 75 90 K32
MTS C42-95 42 94 95 M20X2.5 K42
MT6 C32-90 32 75 90 - K32
C42-95 42 94 96 - K42

« ZE25HAH= Tang Type 2t Draw Bolt TypeS LEHFAAIR

6l) MT5D—C32(Draw Bolt Type), MT5T-C32(Tang Type)

- Tang Type 2 Cotter Home MEE {18t 7|7 22 2 SAIEE L2x

HAIL.

SINGLE MILLING CHUCK -set

- Please make designate the Draw Bolt dimension between Inch and

Metric including Tang type at ordering step.
+ Please inform about Model and Manufacturer of Machine in order to

make designate of Cotter Home for Tang type.

SMT-C
CODE NO SETLHE (Set Contants)
' = (Chuck) COLLET MT. Z2E (MT Collet) | E&A H} (Drill Chuck Bar)
SMT3 C20 MT3-C20 K20 6.8.10.12.16 K20-MT1.2 K20-JT6
SMT4 MT4-C32 268'2150'12'16
C32 K32 - K32-MT1.2.3 K32-JT6
6.8.10.12.16
MT5-C32
SMT5 20.25
6.8.10.12.16
MT5-C42 20.25.32
C42 K42 6 8 16 1216 K42-MT1.2.3.4 K42-JT6
SMT6 MT6-C42 2095 39

- Drill Chuck Bar is excluding Drill Chuck

- Centering Bar is excluding in set contents.

@mﬂv 50



DOUBLE BEARING MILLING CHUCK

MAS403 BT-DBC

J'%

T
d1
D1

mm

CODE NO. 12 | WEIGHT(kg) |  COLLET
DBC42-120 120 7.8
BT50 DBC42-135 42 107 135 107 856 K42
DBC42-165 165 97
Taper : AT3 | Coolant: AD
Zta MALR alaly ARE

° o
Batict
- FYU JI0IE Foj ot 2 YNTER FoIRIs 220l Lot HISTY
22 ALD ULIC,
- et 2lef0|LS S HioIZol Bt £ Hlch25te] 0l5BH0| 5t
B0| 2AE|OE 248 L7 RAIRILICE
- 2= 54 BRYES YHIsl0] LotR 0| 4L
22 A I1BE0| LA ZSS BTROR WXL,
FEATURES

- It adopt a form double Roll-Lock and it give full play to high power
from high holding. (A form of Heavy Duty Cutting)

- External diameter grinding in combination with guide Ring is keep
precision on cutting tools. (For precise working.)

- With Lock Ring rotate side to side, the exchange tool is quickly
and simple.

- The double Roll-Lock on const-ruction prevent vibration during
working with effect. (No Vibration)

7ol AREE el 2 Y 0ISUE APiEiD 0lnS ¥
=]

=2
3|

o
Kot MZHS A7 ST HHES YRIFLIC

Slot
- Eliminates the oil and dregs owing to 6pcs-slots and improves torque

power due to prevent slip and come off the tools.

www.iwidin.com

MINHI ONITIIN




MONHI ONITIN

DOUBLE BEARING MILLING CHUCK

Draw Bolt
- isg |
Jl:ti:-:-:-:lg

-

DIN2080 NT-DBC

mm
Draw Bolt
DE NO. LLET
e . INCH METRIC &0
NT50 DBC42 42 107 97.7 100 1"-8UNC M24X3 K42
73 TAR Ly ARE
- 015 LIS HlofZofl oI5t M0t oiel2is W3letez 23 Mo
Hkstct
- Mo Jto|= 2of ofst &2 BAETEZ ZFK = a7t Zst HIER
ZHE XU UELICH
Hust 2|H0|HE ALE HojZle| Hignt &5 Z|H25H0] 0[S Ho|
SE0| 2 fili 45 LITMEE SXIRILICH
2Hls &+ 37LS GAi2loto] Lint2 o] 4FLCh
zE =A h':,—soll L5l 252 21do = WXLt
F.E;AEUF:ES; double Roll-Lock and it give full play to high TS ~REE BRAAS 28 B OlEES Aishn pings ¥
adopt a form double Roll-Lock and it give full play to high power I|o|'0=|’-§. 2D SAAlT | Z70| WIS Brx|EHC

from high holding. (A form of Heavy Duty Cutting)

- External diameter grinding in combination with guide Ring is keep
precision on cutting tools. (For precise working.)

+ With Lock Ring rotate side to side, the exchange tool is quickly
and simple.

+ The double Roll-Lock on const-ruction prevent vibration during
working with effect. (No Vibration)

Slot
- Eliminates the oil and dregs owing to 6pcs-slots and improves torque
power due to prevent slip and come off the tools.

@lpm 52



DOUBLE BEARING MILLING CHUCK -set

SNT-DBC -
CODENO SETLHE (Set Contants)
' 23 (Chuck) COLLET MT. 22 E (MT Collet) | E&A H}(Drill Chuck Bar)
6.8.10.12
SNT50 DBC42 NT50-DBC42 K42 16.20.25.32 K42-MT1.2.3.4 K42-J6
-2 M gEF MES F25H! = Draw Bolt (inch. Metric) 7#4S X| - Please make designate the Draw Bolt dimension between Inch and
kAL, Metric at ordering step.

0ll) SNT50M—DBC42(METRIC SIZE),
SNT50U-DBC42(INCH SIZE)
- Draw Blot & X|HstX|2tS Zd<0ll= INCH SIZE 2 S EL|ch
- SN HHJTE)0| EZAMS ESI|of UX| Q&L
« Centering Bar= Set0f| A XM|2| ElLICE,

+ Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
bolt.

+ Drill chuck bar(JT6) is excluding a Drill chuck

+ Centering Bar is excluding in set contents.

53 www.iwidin.com

MINHI ONITIIN




MONHI ONITIN

DOUBLE BEARING MILLING CHUCK

L1

Cotter Home

S

Tang

CODE NO. COLLET
DBC42-100

73 FAE w2
0I% LIS wloflofl 23t Zolst Hziut mx|2ie welstoz 2zmst  FEATURES
off Mgtstct, - It adopt a form double Roll-Lock and it give fully play to high
- Mo Jto|=dol| oet =2 AMTRZ ZHK|le= a7t dot HIER power from strong torque power. (A form of Heavy Duty Cutting)
2MS XL Q&L ct - External diameter grinding in combination with guide Ring is keep
Hudt 2lH0|UE A8 LS Hojdel ignt 25 X2 510 0] precision on cutting tools. (For precise working.)
S0 5k=0| EMtzl2 2 245 i8S SXIEILICH + With Lock Ring rotate side to side, the exchange tool is quickly
- g8 BAVIES0| Ldots TISS FUHo = WU and simple.(The working hours shortening)

+ The double Roll-Lock on const-ruction prevent vibration during
working with effect. (No Vibration)

DOUBLE BEARING MILLING CHUCK _set

SMT-DBC
SETUE
R 25 (Chuck) COLLET MT. 22 E (MT Collet) | =2 b} (Drill Chuck Bar)
6.8.10.12
SMT6 DBC42 MT6-DBC42 K42 16.20.25.32 K42-MT1.2.3.4 K42-J76
- S2MHKJITE)0| =2 EEHT|of UX| &L + Drill Chuck Bar is excluding Drill Chuck
- Centering Bar= Z&5HA| S4&LICH - Centering Bar is excluding in set contents.

@lnm 54



MILLING CHUCK -nce coer

L1
— 1q
& @ —m s W 5
NK -
CODE NO.(d1) \ D1 \ D2 \ K
NK20 6.8.10.12.16 20 24 66
NK32 6.8.10.12.16.20.25 32 37 80
NK42 6.8.10.12.16.20.25.32 42 48 87

MILLING CHUCK _sTRAIGHT coLLET

L1

CODE NO.(d1)
K20 6.8.10.12.16 20 24 50
K32 6.8.10.12.16.20.25 32 36 65
K42 6.8.10.12.16.20.25.32 42 48 75

MILLING CHUCK _cooLants coLLet

L1
:"j — 1
= @J g 5|8
ONK ) mm

CODE NO.(d1) \ D1 \ D2 \ L1
ONK20 6.8.10.12.16 20 24 77
ONK32 6.8.10.12.16.20.25 32 37 90
ONK42 6.8.10.12.16.20.25.32 42 48 97

+ ONK Z2E&= Single Milling Chuck (C Type) ZDouble Bearing Milling Chuck (DBC Type)oll Z&t5t0{ Oil Hole(internal Cooling) 21& S8%2
2 AISELCh

+ ONK collet is able to apply for Spindle Coolant system with Milling Chuck and Double Bearing Milling Chuck

55 www.iwidin.com

131109

MONHI ONITIIN




131109

AINHI ONITIIN

MORSE TAPER CHUCK

K-MT
cas
BOIDENEL Drilling Range
MT1 2.0-14 MT1
K20 MT2 14.1-23 MT2
MT1 2.0-14 MT1
K32 MT2 14.1-23 MT2
MT3 23.1-32 MT3
MT1 2.0-14 MT1
K42 MT2 14.1-23 MT2
MT3 23.1-32 MT3
MT4 32.1-50 MT4

STRAIGHT DRILL CHUCK

K-JT
casH
CODE NO. Drilling Range
K20
K32 JT6 1.0-13.0 JT6
K42

- TOjAl =232 Qg
« Drill chuck to be purchased separately.




QUICK CHANGE MASTER

HOLDER

QUICK CHANGE FACE
MILLING CHUCK

MH-T
CODENO. | Z=H0|H Taper |ZQIX| 1ol Q.C Taper
MH40 | T35 1S040 T35
MH50 | T45 1IS050 T45

+ Master Holder & 254! = Draw Bolt #2ZS XI™SHIAIR.

0il) SMH40M-T35—-C32(METRIC SIZE),
SMH50U-T45-C42(INCH SIZE)

- Draw Bolt £ X|H5tX| 42 ZA0l= INCH SIZE 2 E1nELct

+ Please make designate the Draw Bolt dimension between Inch and

Metric at ordering step.

+ Unless any notifying, NT40 and NT50 will be supplied with Inch Draw

bolt.

QUICK CHANGE MT SLEEVE

Z{FCIX| 2[0JA 2 Z4E Face Mill Cutter Size
0 el A ZELHA
Q.CTaper | Face Mill Cutter OD Face Mill Cutter ID
3R | 76 25.4
T35 4R T35 102 31.75
5R 127 38.1
3R | 76 25.4
4R 102 31.75
145 '5R | 145 127 38.1
6R 152 50.8

QUICK CHANGE DRILL
HOLDER

T-MT T-JT
2AFQIX| To|m === ZFRIX| Zo|m Z21 A Drill Chuck
CODENG. ‘ Q.C Taper VIENG ‘ Drilﬁ%?nge COBENG. Q.C Taper ‘ JT.NO ‘ =253 Drill Range

MT1 MT1 2.0-14 T35 T35

T35 | MT2 T35 MT2 14.1-23 T45 JT6 T45 JT6 1-13
MT3 MT3 23.1-32
MT1 MT1 2.0-14

125 MT2 115 MT2 14.1-23 - TOjA| EZM2 FMIQIELICE - Drill chuck to be purchased separately
MT3 MT3 23.1-32
MT4 MT4 32.1-50

QUICK CHANGE MILLING
CHUCK

CODE NO. | Z#oIx| Hojz{ Q.C Taper| A2 L2/A L Inner Bore

T35 | C32 T35 C32
C32 C32
T45 a2 T45 a2

57 www.iwidin.com

d43070H

F9NVHI XIIN0




430d70H

JONVHI X3IND

QUICK CHANGE MILLING CHUCK -set

SMH-C
SETLHE Set Contants
CODE NO. OIAEEH | 2E A ZlojAolt | =2M | EEAH | MTEZE
Master Holder Chuck Face Arbor | Drill Chuck | Drill ChuckBar |  MT Collet
T35-C32A 2'08'2150'1 216 - K32-JT6 -
SMH40 MH40 T35-C32 5 8 101216 T35-4R
T35-C32B 26 '25 — T135-JT6 - T35-MT2.34
K32 -
T45-C32A 568'2150'1 216 - K32-JT6 -
MH50 T45-C32 5 8 101216
T45-C32B 2'0 '25 — T45-JT6 - T45-MT2.3.4
SMH50 6 8 101216 T45-5R
T45-C42A 2'0 '25 52 : - K42-JT6 -
MH50 T45-C42 | K42 5 8 10’ 1216
T45-C42B 202537 T45-JT6 - T45-MT2.34

- U2 M NEZE T2 = Draw Bolt (inch, Metric) 742 X|&3|

HAIL.

Oll) SMH40M-T35-C32(METRIC SIZE),
SMH50U~T45-C42(INCH SIZE)

- X|Yatx| 942 Z<R0ll= Nt40, Nt502 INCHE NT602 METRIC2Z &

TEUC
- E A ui(JTe)ol EZXE =

SfSHA| &L

+ Please make designate the Draw Bolt dimension between Inch and
Metric at ordering step.

+ Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
bolt.

+ Drill chuck bar(JT6) is excluding a Drill chuck

@lnm 58



PASSION FOR PRECISION!




ER COLLET
CHUCK




ER COLLET CHUCK

Strong Torque Power

- ER Chuck have strong torque power.

BRI &3

s - deRs

0| Ao MAI= S22t

ot e S o ASLC

- Slim designed ER Nut were minimized an interruption to
workpiece.

g 2ASUZSEN

23

) -

\d//—\

0l% Hlojnf Z2l=

0.5mm2e| A
E2E AEELCH

HE EE9| 4-84H9|
7k30] ghEiL ok,
If using Carbide Drill
and coated drill,

it can be improve
workability up to 4~8
times.

Rigid Tapping 750] Q!
= HAlE MEoIM 15
So| xielg & 4 9
&Lk

ER chuck is using for
Tapping process with
Machine which have
function of Rigid

Tapping.

There is no drilling
vibration and it will
improve workability with
long drilling process.

D43 caARAS of
Tt & o USFLICL
It using 0.05mm small
dia. drill, it will improve
workability when high
speed drilling

process

EE} "*57} §6}E§
Bwlze & 4 e
ct.

It is possible to high
precision cutting with
end-maill.

61 www.iwidin.com

oQm
T
c O
[®Ne]
N
-
m
—




ER COLLET CHUCK

MINHD
13109 43

MAS403 BT-ER

Fig.1

L1

d1
D1

G1

Fig.2

mm

CODE NO. d1 WE'GHT‘ NUT ‘SPANNER
(Clamping Range) (kg)
ER11-60 60 05
ER11-90 10-7.0 19 90 MBX10 | 06 ERN11 | ERST1
ER11-120 120 07
ER16-60 60 05
ER16-90 10100 | 28 90 | MIIX10 | 06 ERN16 | ERSTG
ER16-120 120 038
ER20-60 60 06
BT30 | ER20-90 104130 34 90 | MIAX10 | 07 ERN20 | ERS20
ER20-120 120 09
ER25-75 75 10
ER25-105 104160 | 42 05 MIBX15 | 11 ERN25 | ERSZ5
ER25-120 120 12
ER32-75 75 11
ER32-105 20200 | 50 105 M2axis | 12 ERN32 | ERS32
ER32-120 120 15

Taper : AT3 | Coolant: AD

@lpm 62



ER COLLET CHUCK

MAS403 BT-ER

L1

G1

d1

D1

mm

CODE NO. di WE'GHT‘ NUT ‘SPANNER
(Clamping Range) (kg)
ER11-60 1.0-7.0 19 60 M8X1.0 1.0 ERN11 ERS11
ER16-60 60 1.1
ER16-90 1.0-10.0 28 90 M11X1.0 1.3 ERN16 ERS16
ER16-120 120 1.5
ER20-80 80 1.2
ER20-105 1.0-13.0 34 105 M14X1.0 1.4 ERN20 ERS20
ER20-135 135 1.6
BT40 ER25-80 80 1.3
ER25-105 1.0-16.0 42 105 M18X1.5 1.5 ERN25 ERS25
ER25-135 135 1.8
ER32-80 80 14
ER32-105 2.0-20.0 50 105 M24X1.5 1.7 ERN32 ERS32
ER32-135 135 2.0
ER40-80 80 1.6
ER40-105 3.0-26.0 63 105 M28X1.5 2.2 ERN40 ERS40
ER40-135 135 2.6

Taper: AT3 | Coolant: AD

63 www.iwidin.com

MONHI
137103 H3




MINHD
13109 43

ER COLLET CHUCK

MAS403 BT-ER

d1

d1
D1

mm

CODE NO. e ‘ L1 ‘ G1 ‘ WEIGHT(kg) ‘ NUT ‘ SPANNER

ER16-90 90 3.9
ER16-120 1.0-10.0 28 120 M11X1.0 41 ERN16 ERS16
ER16-150 150 43
ER20-90 90 4.0
ER20-120 1.0-13.0 34 120 M14X1.0 4.2 ERN20 ERS20
ER20-150 150 4.5
ER25-105 105 4.0

BT50 | ER25-135 1.0-16.0 42 135 M18X1.5 43 ERN25 ERS25
ER25-165 165 4.6
ER32-105 105 41
ER32-135 2.0-20.0 50 135 M24X1.5 4.4 ERN32 ERS32
ER32-165 165 4.8
ER40-105 105 43
ER40-135 3.0-26.0 63 135 M28X1.5 47 ERN40 ERS40
ER40-165 165 5.3

Taper:Als | Coolant: A

@lpm 64



ER COLLET CHUCK

G1

Tﬁl&\
T h————

o
D1

L1

MONHI
137103 H3

DING69871 SK-ER

mm

CODE NO. SIRUIG G} ‘ NUT ‘SPANNEH
(Clamping Range)

ER16-70 70
ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16
ER16-160 160
ER20-70 70
ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20
ER20-160 160

Skag ER25-70 70
ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 ERS25
ER25-160 160
ER32-70 70
ER32-100 1.5-20.0 50 100 M24X1.5 ERN32 ERS32
ER32-160 160
ER16-70 70
ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16
ER16-160 160
ER20-70 70
ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20
ER20-160 160
ER25-70 70

SK50 ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 ERS25
ER25-160 160
ER32-70 70
ER32-100 2.0-20.0 50 100 M24X1.5 ERN32 ERS32
ER32-160 160
ER40-70 70
ER40-100 3.0-26.0 63 100 M28X1.5 ERN40 ERS40
ER40-160 160

Taper : AT3 | Coolant: AD

65 www.iwidin.com



ER COLLET CHUCK

G1

DIN69893 HSK/A-ER

CODE NO. C(*[jUEKg“;‘Gé?) ‘ G1 ‘ NUT ‘ SPANNER
ER11-60 107.0 19 60 MB8X1.0 ERN11 ERS11

ER16-60 1.0-10.0 28 60 M11X1.0 ERN16 ERS16

B 23 ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16
58 ER20-70 10-13.0 34 70 M14X1.0 ERN20 ERS20
M HSK50A | ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20
ER25-70 1.0-16.0 42 70 M18X1 5 ERNZ5 ERS25

ER25-100 1.0-16.0 42 100 M18X1 5 ERNZ5 ERS25

ER32-80 2.0-20.0 50 80 M24X15 ERN32 FRS32

ER32-100 2.0-200 50 100 M24X15 ERN32 ERS32

ER11-75 107.0 19 75 VEXT 0 ERN11 ERS11

ER11-100 10-7.0 19 100 ERN11 ERST1

ER16-75 1.0-10.0 28 75 ERN16 ERS16

ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16

ER16-160 1.0-10.0 28 160 ERN16 ERS16

ER20-75 10-13.0 34 75 ERN20 ERS20

ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20

ER20-160 1.0-13.0 34 160 ERN20 ERS20

HSKB3A | ER25-75 1.0-16.0 42 75 ERN25 ERS25
ER25-100 1.0-16.0 42 100 M18X15 ERNZ5 ERS25

ER25-160 1.0-16.0 42 160 ERNZ5 ERS25

ER32-75 2.0-200 50 75 ERN32 FRS32

ER32-100 2.0-20.0 50 100 M24X1 5 ERN32 ERS32

ER32-160 2.0-20.0 50 160 ERN32 FRS32

ER4Q-75 3.0-26.0 63 75 ERN40 ERS40

ER40-120 3.0-26.0 63 120 M28X1.0 ERN40 ERS40

ER40-160 3.0-26.0 63 160 ERN40 ERS40

ER16-100 1.0-10.0 28 100 VX 0 ERN16 ERS16

ER16-160 1.0-10.0 28 160 : ERN16 ERS16

ER20-100 1.0-13.0 34 100 a0 ERN20 ERS20

ER20-160 1.0-13.0 34 160 ' ERN20 ERS20

ER25-100 1.0-16.0 42 100 ERN25 ERS25

HSK100A  pos 160 1.0-16.0 42 160 M1T8X1.5 ERNZ5 ERS25
ER32-100 2.0-20.0 50 100 . ERN32 FRS32

ER32-160 2.0-20.0 50 160 ' ERN32 ERS32

ER40-120 3.0-26.0 63 120 - ERN40 ERS40

"ER40-160 3.0-26.0 63 160 : ERNA40 FRS40

T ATFQ. AR
aper——A/To T eooilant-— "D

@lpm 66



BABY ER COLLET CHUCK

L1

L2

G1

d1
D2

K-ER

CODE NO. d1 ‘ G1 ‘SPANNER
(Clamping Range)

K18 Eaii10 16 ®_| 5
ER11-100 10-7.0 19 50 20 M8X1.0 ERS11
ER11-130 a0
ER16-105 50

K20 frieaas 1.0-10.0 20 28 % 45 M11X1.0 | ERS16
ER20-120 20
ERO0150 1.0-13.0 34 100 M14X1.0 | ERS20
ER16-130 a0
ER1B.160 1.0-10.0 28 0 50 M11X10 =~ ERS16

K25 | ER20-130 25 a0
ERO0.160 1.0-13.0 34 0 M14X10 | ERS20
ER25-135 1.0-16.0 42 80 55 M18X15 | ERS25
ER20-130 1.0-13.0 34 80 50 M14X1.0 | ERS20
ER20-160 10

K32 eros13s 32 20
EROE 165 1.0-16.0 42 0 55 M18X15 | ERS25
ER32-170 2.0~20.0 50 110 50 M24X15 | ERS32
ER32-210 150

K42 enso-185 42 10
FRR0.275 5.0-34.0 78 a0 85 M16X2.0 | ERS50

CODE NO. | SPANNER
K16 | ER11M-140 1.0-7.0 16 16 140 30 M8X1.0 | ERS11M
K20 | ER16M-140 1.0-10.0 20 22 140 40 M11X1.0 | ERS16M
CIE HoJH| &
- DBC, JHM, ER Type 5 25 =ofl ZE/5101 U2, =208, 9L, 2|y S| 245 Mg 2y 58502 St

Bady Chuck

+ This Baby Chuck are applying(extension) with Double bearing Milling Chuck, Single Milling Chuck, Hydraulic Chuck, ER Collet Chuck etc.

67 www.iwidin.com

MONHI
137103 H3




LONG MINI ER COLLET CHUCK

L1 -NUT-
L2 25 =n\[
M11 3
— - > o~ MType
[=] B B B B B B | - % a
L B _|=
! a
MEC AType mm
CODE NO. d1 SPANNER
(Clamping Range)
MEC16-200 200 175
S20 MEC16-250 100 20 22 250 275 ERN16M ERS16M
MEC16-250 ' ’ 250 225
S25 MEC16-300 25 28 300 275 ERN16A ERS16A
. A cUFoD UYE C32, C42 9 XB5I0] ARREILICE
z2 + Long Mini Chuck 2 i’é%—% ’.;%. dIZf5t0d Hax 7130l 0Lt
Re - Mini Nut 9 ZHE|0f HEQ| ZHIS 2|45} SIGBLIC
=3 + Using for Drilling and Endmill process with Milling Chuck ID 32mm(C32) & 42mm(C42)
+ A straight shank body of this chuck has been filled with a carbide bar so that it is good for deep hole machining.
+ Slim designed ER Nut were minimized an interruption to workpiece.
L1
-NUT-
L2 25 —
M11 [ﬁ N
[m]
A
— _ _ _ _ _ _ A I _ o~
[} S| B8 MType
L '|=
! 8
MER AType
CODE NO. SPANNER
MER16-200 200 175
S20 MER16-250 0100 20 22 250 295 ERN16M ERS16M
MER16-250 ’ ’ 250 225
S25 MER16-300 25 28 300 275 ERN16A ERS16A

- EZOoR UYX 32, C42 9 X504 ARSEILICE

+ Using for Drilling and Endmill process with Milling Chuck ID 32mm(C32) & 42mm(C42)

@lpm 68



STRANIGHT SHANK COLLET CHUCK

L1 L2

CITTT,

.

| Tool Holder

G1

Sleeve

N-ER
d1
CODE NO. (Clamping Range)
N16 ER11-32 16 32 22
ER11-70 1.0-7.0 19 70 30 ERN11 M8X1.0
ER11-105 105
ER16-40 40 25
N20 ER16-70 1.0-10.0 20 28 70 35 ERN16 M11X1.0
ER16-105 105
ER20-70 1.0-13.0 34 70 41 ERNZ0 M14X1.0
ER16-105 1.0-10.0 28 105 30 ERN16 M11X1.0
N25 ER20-70 1.0-13.0 25 34 70 32 ERN20 M14X1.0
ER25-70 1.0-16.0 42 435 ERN25 M18X1.5
ER20-80 1.0-13.0 34 32 ERN20 M14X1.0
N32 ER25-80 1.0-16.0 32 42 80 43.5 ERN25 M18X1.5
ER32-80 55.5
N4O_| ER32-110 20200 42 >0 110 455 EAN32 | M2axis

NC MHLE &
- £, BYS 215 Z7E 2Tk TSI NC Mutg JhE BaidoR ARE 4 gLtk

+ U-Drill, Super-Drill & W& Coolant STS2 A3 3—4H{2| MAN0| SFAEILICE

ER Chuck for NC Lathe Machine
+ Application of drill and boring tools including various tools.
+ Improving productivity by using internal coolant tool such as U-Drill, Super-Drill.

69 www.iwidin.com

MONHI
137103 H3




MINHD
13109 43

GER COLLET

30°

D1

GER
mm
L \ D RUNOUT(TIR)
6 1.0-1.4 0.015
10 1529 0.015
16 3.0-5.9 0.015
25 6.0-9.9 0.015
40 10.0-17.9 0.02
50 18.0-26.9 0.02

CODE NO. (C\ampg;I Range)

GER11 1.0-7.0 1.5 18.0 ER11 ERN11

GER16 1.0-10.0 17.0 275 ER16 ERN16

GER20 1.0-13.0 21.0 315 ER20 ERN20

GER25 1.0-16.0 26.0 34.0 ER25 ERN25

GER32 2.0-20.0 33.0 40.0 ER32 FRN32

GER40 3.0-26.0 41.0 46.0 ER40 ERN40

mm
ER COLLET CODE NO. (d)1 \ SET

GER11 1.0,15,2.0,2.5,3.0,35,4.0,45,5.0,5.5,6.0,6.5,7.0 13PCS
GER16 1,2,3,4,5,6,7,8,9,10 10PCS
GER20 2,3,4,5,6,7,8,9,10,11,12,13 12PCS
GER25 2,3,4,5,6,7.8,9,10,11,12, 13, 14, 15, 16 15PCS
GER32 3,4,5,6,7,8,9,10,11,12,13, 14,15, 16, 17, 18, 19, 20 18PCS
GER40 4,5,6,7,8,9,10,11,12,13, 14,15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26 23PCS

@lpm 70



GER COLLET _oil hole type

30°

80

L1

d1
D1

ERC For Spindle Through Coolant

mm

CODE NO. (C\amp'\(:g Range)
ERC16 4.0-10.0 17.0 275 ER16 ERN16
ERC20 6.0-13.0 21.0 315 ER20 ERN20
ERC25 6.0-16.0 26.0 34.0 ER25 ERN25
ERC32 8.0-20.0 33.0 40.0 ER32 ERN32
ERC40 10.0-26.0 41.0 46.0 ER40 ERN40
mm
CODE NO. ‘ ER COLLET CODE NO. (d)1 SET
ERC16 4,5,6,7,8,910, 7PCS
ERC20 6,7,8,9,10,11,12,13 8PCS
ERC25 6,7,8,9,10,11,12,13, 14,15, 16 11PCS
ERC32 8,9,10,11,12,13,14,15,16,17,18, 19, 20 13PCS
ERC40 10, 11,12, 13, 14,15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26 17PCS
- 7| 7R MEE MEE ULk - Other size can be supplied based on order made.
- A7 MEQ LHEECH 22 HAZT AR A Run—outdfl 2|7t SHalst - Wooden tray for ER collet set to be supplied with Sets.

+ igLic,

 SET BOX Hx

71 www.iwidin.com

MONHI
137103 H3




MINHD
13109 43

ER TAP COLLET

5
; =1
%
L
TER FOR TAPPING -
CODE SIZE
TER16 | TER20 | TER25 | TER32 | TER4O w(o) L D@y TapS'ng U
M4 M4 M4 M4 1 15 5 M4
M5 M5 M5 M5 45 15 55 | M5
M6 M6 M6 M6 45 15 6 Ms | Ui/
Us/16 | U516 U516 | Us/16 5 15 6.1 US/16
M8 M8 M8 M8 5 20 62 | M8
M10 M10 M10 M10 M10 55 20 7 M0 U38
U716 | U716 | U716 | U716 | U7/16 6 20 8 | M1 U716
P1/8 P1/8 P1/8 P1/8 P1/8 6 20 8 P1/8
M12 M12 M12 M12 65 20 85 | M2
Uz | Uiz | Uiz Ui 7 20 9 U1/2
M4 | M4 Mia 8 25 105 M14  U9/16
PI/4 | P4 | Pl/a 9 17 1 P1/4
Us/8 | UsB | U5/8 9 25 12 Us/8
M16 M16 M16 10 25 125 M6
P3/8 P3/8 P3/8 1 18 14 P3/8
M18 M18 1 18 14| M8 | U3/
M20 M20 12 30 15 | M20
M22 13 30 7 M2 | U7/B
P1/2 14 21 18 P1/2
M24 15 35 19 | M2
M27 15 35 20 | M27 U

- Q7| e HE2 MEE YLt
+ Other size to be supplied based on order made.

@lpm 72



ER NUT

Hexagon 61 Mini Standard G1

—

L1 L1 L1
A Type M Type UM/RD Type
ERN
mm
CODENO. | D1 \ L1 \ G \ COLLET \ CHUCK
ERNT1-A 19 11.3 M14X0.75 ER11 ER11
ERN16-A 28 175 M22X1.5 ER16 ER16
ERN20-A 34 19 M25X1.5 ER20 ER20 =k
ERN1T1-M 16 12 M13X0.75 ER11 ER11 S8
ERN16-M 22 18 M19X1.0 ER16 ER16 m
ERN20-M 28 19 M24X1.0 ER20 ER20
ERN25-M 35 20 M30X1.0 ER25 ER25
ERN25-UM/RD 42 20 M32X1.5 ER25 ER25
ERN32-UM/RD 50 225 M40X1.5 ER32 ER32
ERN40-UM/RD 63 225 M50X1.5 ER40 ER40
ER SPANNER
t ERS
> mm
Q 1 CODE NO. owr | K
L1 ERS11-A 17.0 115
‘ A | ERS16-A 25.0 210
ERS20-A 30.0 250
;[ ERS25-UM KM/RD 37.0 206
ERS32-UM.KM/RD 465 253
L ERS40-UM.KM/RD 58.0 289
ERST1-M 115 95
UM.KM/RD ERS16-M 15.0 117
z ) ERS20-M 19.5 129
] - W ERS25-M 25.0 142

73  www.iwidin.com



WSK COLLET
CHUCK ==X




WSK COLLET CHUCK

MAS403 BT-WSKP

G1

D1

—

4o
D2

CODE NO. COLLET

BT30 WSKP6-90 2.0-6.0 19.6 WSK6 WSKNG6 M8X1.0
WSKP10-90 2.0-10.0 27.5 90 WSK10 WSKN10 M11X1.0
WSKP6-90
\WSKP6-120 2.0-6.0 19.6 120 WSK6 WSKNGB M8X1.0
WSKP10-90 90

- WSKP10-120 2.0-10.0 275 120 WSK10 WSKN10 M11X1.0
WSKP16-90 90
WSKP16-120 3.0-16.0 40 120 WSK16 WSKN16 M18X1.5
WSKP25-90 90
WSKP25-120 16.0-25.0 55 120 WSK25 WSKN25 M24X1.5
WSKPB-120 120
WSKPB-165 2.0-6.0 19.6 165 WSK6 WSKNG6 M8X1.0
WSKP6-195 195
WSKP10-120 120
WSKP10-165 2.0-10.0 275 165 WSK10 WSKN10 M11X1.0
WSKP10-195 195

BT50 WSKP16-120 120
WSKP16-165 3.0-16.0 40 165 WSK16 WSKN16 M18X1.5
WSKP16-195 195
WSKP25-120 120
WSKP25-165 16.0-25.0 55 165 WSK25 WSKN25 M24X1.5
WSKP25-195 195

Taper: AT3 | Coolant: AD
- LIFER COLLETE At8ota 42 F2A| 0j2| YEsted FHAL.

+ WSK Collet for Spindle Through Coolant are available depend on customer request

75 www.iwidin.com

MONHI
137103 XSM



WSK COLLET CHUCK

DIN69871 SK-WSKP

Gt

D1 ‘
4°
D2

L1

CODE NO. COLLET

WSKP6-90 90
WSKP6-120 2.0-6.0 19.6 120 WSK6 WSKNB M8X1.0

WSKP10-90 90
o WSKP10-120 2.0-10.0 275 120 WSK10 WSKN10 M11X1.0

WSKP16-90 90
WSKP16-120 3.0-16.0 40.0 120 WSK16 WSKN16 M18X1.5

2= WSKP25-30 i 90
B 3 WeKPR120 16.0-25.0 56.0 0 WSK25 | WSKN25 | M24X15

= WSKP6-120 120
- WSKP6-165 2.06.0 19.6 165 WSK6 WSKNG M8X1.0

WSKP6-195 195

WSKP10-120 120
WSKP10-165 2.0-10.0 27.5 165 WSK10 WSKN10 M11X1.0

WSKP10-195 195

SK50 WSKP16-120 120
WSKP16-165 3.0-16.0 40.0 165 WSK16 WSKN16 M18X1.5

WSKP16-195 195

WSKP25-120 120
WSKP25-165 16.0-25.0 55.0 165 WSK25 WSKN25 M24X1.5

WSKP25-195 195

Taper: AT3 | Coolant: AD
- LI®ER COLLETE AEsH Al D|2] 24510 FAAR.

+ JSK Collet for Spindle Through Coolant are available depend on customer request

@lpm 76



WSK COLLET CHUCK

DIN69893 HSK/A-WSKP

N

G1

1]

of

L1

CODE NO. | CHUCKING(d) | D1 COLLET |
WSKP6-80 2.06.0 196 80 WSK6 WSKN6 M8X1.0
HSK50A | WSKP10-90 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP16-100 3.0-16.0 40 100 WSK16 WSKN16 | M18X1.0
WSKP6-80 2.06.0 196 80 WSK6 WSKN6 M8X1.0
Hskean | WSKP10-80 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP16-100 3.0-16.0 40 100 WSK16 WSKN16 | M18X1.0
WSKP25-120 16.0-25.0 55 120 WSK25 WSKN25 | M24X15
WSKP6-80 2.06.0 196 80 WSK6 WSKN6 M8X1.0
Hskiooa | WSKP10-90 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP16-100 3.0-16.0 40 100 WSK16 WSKN16 | M18X1.0
WSKP25-120 16.0-25.0 55 120 WSK25 WSKN25 | M24X1.5

Taper: AT3 | Coolant: AD

d Z2 FEAl 02 2ESHH FHAL.

- LI =2 COLLETE At&5H:
+ WSK Collet for Spindle Through Coolant are available depend on customer request

>> WSK COLLET= Of2{2} Z0| AFESHIAIR.
How to use Collet Holder for WSK collet

h=

- WSK COLLET= F& Z70il 2I5t0f NUTOf| 24t

-2 TSIl Styled]| [t WSKS, WSKI10,

+ Collet holder is necessary to assemble the WSK

+ Collet holder to be purchased separately.

ol FHsEILIcH

WSK16, WSK255 MEZEZ50 FUAIR, (RE3F
= = FojgiLct)

collet into Nut.

77

MINHI
137103 XSM




MINHI
137100 XSM

WSK COLLET

S T = 8
[
WSK
STYLE | CODENO. | RANGE STYLE | CODENO. | RANGE STYLE | CODENO. | RANGE
WSK6-2.0 1.5-2.0 WSK16-3.0 |  2.5-3.0 WSK25-10.0, 9.5-10.0
WSK6-25 | 2.0-25 WSK16-35 | 3.0-35 WSK25-11.0 10.5-11.0
WSK6-3.0 | 2.5-3.0 WSK16-4.0 | 3.5-4.0 WSK25-12.0 11.5-12.0
WSK6-35 | 3.0-35 WSK16-45 | 4.0-45 WSK25-13.0 12.5-13.0
WSK6 | WSK6-40 | 3540 WSK16-5.0 | 4.5-5.0 WSK25-14.0 13.5-14.0
WSK6-45 | 4.0-45 WSK16-55 | 5.0-55 WSK25-15.0 14.5-15.0
WSK6-5.0 45-5.0 WSK16-6.0 | 5.5-6.0 WSK25-16.0 15.5-16.0
WSK6-55 | 5.0-5.5 WSK16-65 | 6.0-6.5 WSK25-16.5 16.0-16.5
WSK6-6.0 | 5.5-6.0 WSK16-7.0 | 6.5-7.0 WSK25-17.0 16.5-17.0
WSK10-20 | 1.5-2.0 WSK16-7.5 | 7.0-7.5 WSK25-17.5 17.0-17.5
WSK10-25 | 2.0-25 WSK16-8.0 | 7.5-8.0 WSK25-18.0, 17.5-18.0
WSK10-3.0 | 2.5-3.0 WSK16-85 | 8.0-85 WSK25-18.5 18.0-18.5
WSK10-3.5 | 3.0-3.5 WSK16-9.0 |  8.5-9.0 WSK25 |WSK25-19.00 18.5-19.0
WSK10-4.0 | 3.5-4.0 WSK16 | WSK16-95 | 9.0-95 WSK25-19.5 19.0-19.5
WSK10-45 | 4.0-45 WSK16-10.0  9.5-10 WSK25-20.0 19.5-20.0
WSK10-5.0 | 4.5-5.0 WSK16-10.5/ 10-10.5 WSK25-20.5 20.0-20.5
WSK10-55 5.0-55 WSK16-11.0  10.5-11 WSK25-21.0 20.5-21.0
WSK10 | WSK10-60| 556.0 WSK16-11.5  11-11.5 WSK25-215 21.0-21.5
WSK10-65 6.0-6.5 WSK16-12.0  11.5-12 WSK25-22.0 21.5-22.0
WSK10-7.0 | 6.5-7.0 WSK16-12.5|  12-12.5 WSK25-22.5 22.0-22.5
WSK10-7.5 | 7.0-7.5 WSK16-13.0  12.5-13 WSK25-23.0 22.5-23.0
WSK10-8.0 | 7.5-8.0 WSK16-13.5  13-13.5 WSK25-235 23.0-235
WSK10-85 8.0-85 WSK16-14.0  13.5-14 WSK25-24.0 23.5-24.0
WSK10-9.0  85-9.0 WSK16-14.5 14-145 WSK25-24.5 24.0-24.5
WSK10-95  9.0-95 WSK16-15.0  14.5-15 WSK25-25.0 24.5-25.0
WSK10-10.0,  9.5-10.0 WSK16-15.5| 15-15.5
WSK16160] 15516
STYLE WSK6 | WSK10 WSK16 | WSK25
@D | 75 | 120 188 | 288
L | 250 | 306 450 | 57.0
@C | 104 155 | 246 357
24245t CHUCKING POWER
+ 5um(RUN-OUT) D™ U=
- ENDMILL, DRILL, REAMER S0l Z%{& WSK | 16— wsKk | 16 |
- 1.0~25.474%] COLLET7} WSK6, WSKIO, WSK16, WsK25el azixl STYL‘E o CHUC‘KlNG NBNE
STYLES| 2RI tS310f Ztlslof UL, COLLECT ance  STANDAD
Strong Torque Power PRECISION

+ T.I.R below 0.0005mm
+ Good for Endmill, Drill, Reamer etc.
+ Good for deep hole machining

@lpm 78



WSK COLLET

T
L
WSKC For Splndle Through Coolant (F2x%))
STYLE | CODE NO. RANGE STYLE | CODENO. | RANGE
WSKC640 WSKC1680 WSKC25-160|  7.5-8.0
Wskcg | VVSKCE-5.0 5 WSKC16-9.0 9 WSKC25-170,  8.0-8.5
WSKC6-6.0 6 WSKC16-10.0 10 WSKC25-180]  8.5-9.0
WSKC10-6.0 6 WSKC16-11.0 11 WSKC25-190]  9.0-95
WSKC10-7.0 7 WSKC16  WSKC16-120 12 WsKCgs | WSKCZ5200 9510
wskeio | WSKC10-80 8 WSKC16-130 13 WSKC25210]  10-105
WSKC10-9.0 9 WSKC16-14.0 14 WSKC25220| 10.5-11.0
WSKC10-100 10 WSKC16-150 15 WSKC25230 11.0-11.5
WSKC16-16.0 16 WSKC25-240| 11.5-12.0
STYLE WSKCS WSKC10| WSKC16 WSKC25 WSKE25250] 12.0-125
@D | 7.97 | 1251 | 2012 | 29.69
L | 210 | 256  37.0 | 485
@C 104 | 155 | 246 | 357
£0| wéto|Lt 7|E} FIIElE LIEER THS
+ 5um(RUN-OUT) 182 =
« ENDMILL, DRILL, REAMER S0 Z|XEt ‘ WSK ‘ 16 ‘ ‘ 60 ‘
+ 1.0~25.477tX| COLLETZ} WSK6, WSK10, WSK16, WSK252| 47tX| ‘ ‘ [
STYLE®| 2RI thSatol ZHIElof UgsLict. WSK  STYLE No CHUCKING
COLLECT RANGE
For Spindle Through Coolant
+ T.I.R below 0.0005mm
+ Good for Endmill, Drill, Reamer etc.
+ Good for deep hole machining
WSK NUT
WSKN g )
J
CODE NO. L D d M Type °
WSKN6 78 12.0 207 | M155X1.0P  Figl
WSKN10 | 210 256 370 | M215X1.0P  Figl : .
WSKN16 | 10.0 15.0 - M32X15P | Fig2
WSKN25 | 10.0 15.0 - M45X1.5P | Fig2
WSS-Spanner
CODE NO. \ e
WSS6 WSKP6
WSS10 WSKP10 h
WSS16 WSKP16
WSS25 WSKP25 h

79 www.iwidin.com

MONHI
137103 XSM




DRILL
CHUCK

Al Az dMoz =2 mio| g
X2 WrenchZ 0|25t 272} E2
2 IR20| gELICH ‘o

Strong Rigidity |
[IStrong unitied Drill Chuck and Arbor |

HIEZ 5t5 H|%
Torsion Load Lotio

OYLx&nt 1240l NC E2E = 0.7kgf-m 100
of FeI2%of ofgt 37
SE3T A| L= E

OSEXIA| L= =2 2 -

O7Y HE Al M= HF20 : kgf-m 314

Safety

[Do not out drill at high spe

Do not broken a drill due to re

[CIChuck never dispatched at the sud

1
0.7kgf-m 100

g e

s R



DRILL CHUCK

L1

D1

MAS403 BT-NPU
CODE NO Chuchkin D1 -
: uchking MIN MAX
arag | NPUB-70 1-8 38 72 78
NPU13-105 1413 50,5 97 108
NPUS-70 72 78
NPUS-110 1-8 38 m 17
NPUS-155 156 162
BT40 Npu13-100 100 m
NPU13-130 1-13 50,5 132 143
NPU13-175 177 188
NPUS-85 83 89
NPUS-110 1-8 38 m 17
NPUS-170 171 177
BISO  Npu13-100 100 m
NPU13-130 113 50,5 132 143
NPU13-190 192 203
Taper: AT3
oll ¢ s

DIN69893 HSK/A-NPU

L1

CODE NO. Chuchking
HSK50A NPU8-140 1-8 345
HSKB3A NPU8-140 1-8 345 141 14
NPU13-140 1-13 46.0 142 153
NPU8-150 1-8 345 151 157
HSK100A NPU13-170 1-13 46.0 172 183
Taper: AT3

81 www.iwidin.com

MINHI 11Hd




S409vr

4084V H3dv1

JACOBS TAPER ARBOR

MAS403 BT-JTA

L3

L2

D1
D2

BN RRLRY

CODE NO. el

(kg)

TTATS0 1 @ s X
ﬂﬁggzgg 2SHORT 13.94 " gg 18 1 :i

BT40 jlﬁ;:gg 2 14.199 gg 20 LZ‘
e v e =
650 : m e @ it
A0S 1 s 2
A T e R

S0~ rag 105 2w L 2
e @ I =

TS 105 ; mo 2

Taper: AT3

DRILL DIA | Drill depth\ DRILL DIA | Drill depth DRILL DIA | Drill depth| DRILL DIA | Drill depth|

2.0-21 1715 1925 6.4-7.0 105 2145 9.6-10.0 | 130 2350
2.2-2.3 58 174.0 4.0-4.3 83 196.0 7.1-73 108 217.0 10.1-104, 133 2375
2.4-2.5 61 176.5 4.4-46 86 199.0 7.4-76 111 2195 10.5-10.7, 137 2410
2.0-2.7 64 179.5 4.7-4.8 89 2015 7.7-8.0 114 2220 10.8-11.1, 140 2435

2.8 67 182.0 4.9-5.1 92 204.0 8.1-8.3 117 2245  112-115 143 246.0
2.9-3.2 71 185.5 5.2-55 95 206.5 8.4-8.7 121 2065  116-11.9 146 2485
3.3-35 73 187.5 5.6-5.9 98 209.5 8.8-9.1 124 2305  12.0-123, 149 251.0
3.6-3.8 76 190.0 6.0-6.3 102 212.5 9.2-95 127 2330  12.4-13.0] 152 253.0

@lnm 82



MORSE TAPER ADAPTER

L1

D1

MT. NO
~N
T e =
el [m]
Fig.1
L1
MT. NO
\
- TANG Type B2 AIR3H= Sr{eict, - - @rf’ 5!
- With Tang —|:
Fig.2

MAS403 BT-MTA

DRILLSH WEIGHT

CODE NO. FIG MT.NO d1 MIN MAX (ka)

BT30 MTA1-45 1 12.065 13.5 14.0 25 45 0.8
MTA2-60 1 2 17.780 14.1 23.0 32 60 09

MTA1-45 45 1.0

MTA1-120 2 1 12.065 13.5 14.0 25 120 13

MTA2-60 1 60 1.1

S40 MTA2-120 2 2 17.780 14.1 23.0 32 120 14
MTA3-75 1 75 1.2

MTA3-135 2 3 23.825 23.1 32.0 40 135 18

MTA4-95 1 95 1.4

MTA4-165 ? 4 31.267 32.1 50.0 48 165 24

MTA1-45 1 45 4.0

MTA1-120 2 1 12.065 13.5 14.0 25 120 4.3

MTA1-180 180 4.3

MTA2-45 1 45 4.0

MTA2-135 2 2 17.780 14.1 23.0 32 135 4.4

BT50 MTA2-180 180 4.6
MTA3-45 1 45 39

MTA3-150 2 3 23.825 23.1 32.0 40 150 4.7

MTA3-180 180 49

MTA4-75 1 75 5.0

MTA4-180 2 4 31.267 32.1 50.0 48 180 54

MTAB-105 1 5 44.399 50.1 75.0 63 105 4.6

Taper: AT3

83 www.iwidin.com

d0.1dvav
H3dVL1 ISHON




d01dvav
H3dV1 ISHON

MORSE TAPER ADAPTER

[Owith Tang

DIN69893 HSK/A-MTA

o

@D

@c

CODE NO.
MTA1-110 1 12.065 25 110
HSK50A MTA2-135 2 17.780 32 135
MTA3-155 3 23.825 40 155
MTA1-120 1 12.065 25 120
MTAZ2-135 2 17.780 32 135
HSK63A MTA3-155 3 23.825 40 155
MTA4-165 4 31.267 48 165
MTA1-120 1 12.065 25 120
MTA2-135 2 17.780 32 135
HSK100A MTA3-160 3 23.825 40 160
MTA4-185 4 31.267 48 185
MTA5-215 5 44.399 63 215
Taper: AT3

@mﬂv 84



MORSE TAPER ADAPTER

- Draw Bolt TypeQ| =L 2|H

S A A
ArEE £ UG

Lot

- With Draw Bolt

MAS403 BT-MTB

Fig.2

MT. NO

Draw Bolt Type

MT. NO

Pull Stud Bolt Type

Draw Bolt Type | Pull Stud Bolt Type WEIGHT

CODE NO. C1 CODE G1 (ka)

BT30 MTB1-45 1 1 12.065| 25 40 10.1 - M6X1.0 0.8
MTB2-60 2 2 17.780 | 32 60 - MTB2 M10X1.5 0.8

MTB1-45 1 1 12.065| 25 45 10.0 - M6X1.0 1.0

BT40 MTB2-60 2 17.780 | 32 60 13.5 - M10X1.5 1.1
MTB3-45 ? 3 23.825| 40 45 - MTB3 M12X1.75) 1.1

MTB4-85 4 31.267 | 48 85 - MTB4 M16X2.0 1.3

MTA1-45 1 12.065| 25 45 10.0 - M6X1.0 39

MTAZ2-45 1 2 17.780 | 32 45 16.0 - M10X1.5 3.9

BT50 MTA3-60 3 23.825| 40 60 18.0 - M12X1.75] 3.9
MTA4-75 4 31.267 | 48 75 205 - M16X2.0 39

MTA5-105 2 5 44399 | 70 105 - MTB5 M20X2.5| 4.0

Taper: AT3

- *DRAW BOLT E{(F2ALSY)
+ *Draw Bolt to be purchased separately

“Fig 19 &
- Fig 29| &

o
F
o
A=

ql

PS
)

E.
=

€ Draw Bolt7} AFZEL|CE
2= Pull Stud Bolt7} AF2EL|Ct

+ Fig 1 to be used special Draw Bolt

+ Fig 2 to used special P/S bolt

85 www.iwidin.com

401dvav
H3dVL1 ISHON




END MILL HOLDER

Fig2

MAS403 BT-EMH

CODE NO.
EMH6-60 6 | 25 MBX0.75
EMH8-60 s 28 | %0 | % ] 0 M8X1.0 :
EMH10-60 10 35 | 60 54 20
BT30 | EMH1260 12 37 | 60 | 59 225
EMH16-75 16 | 40 75 | 62 | o | o, M10X1.25
EMH20-75 20 43 | 75 64 2
EMH25-75 25 48 | 75 89 | 20 | 20
EMH-80 6 | 25 50 3 MBX0.75
EMH8-80 8 | 28 ) M8X1.0 :
EMH10-80 10 35 | 8 54 20 M10X1.25
EMH12-80 12 | 4 59 225
5140 “Emm1e-80 16 | 48 62 o MI2x15
EMH20-90 20 52 | g | 6 ” ,
EMH25-90 25 | 55 74| 25 M16X1.5
. EMH35-105 32 | 60 | 105 | 78 28
o2 EMH6-90 6 | 25 MBX0.75
B B2 EMH8-90 s 2 0 % ) 8 MBX1.0 :
; EMH10-90 10 35 a0 54 20 M10X1.25
EMH12-90 12 | @ 59 225 V121 5
EMH16-105 16 | 48 62 '
EMH20-105 20 | 52 69
BT EMH25-105 R M16X1.5
EMH32-105 2 | 75 78 | 28 )
EMH40-120 0 g e | 32 |
EMH42-120 42 120 M20X2.0
EMHS50-120 50 o 8 | 3 | 35 '
®EMH50.8-120 50.8 94 | 36 | 34

Taper : AT3 | Coolant: AD/B

- @ H= Saddle pin Type(DIN 1835C) A= URQIL|C},
+ The model @mark is for saddle Pin Type(for DIN 1835C)

@lpm 86




END MILL HOLDER

DIN69871 SK-EMH

SK40

d1

D1

CODE NO. d1 \ D1 \ L1 G1
EMHB-50 50
EMH6-100 6 2 100 M6
EMH8-50 50
EMH8-100 8 28 100 M8
EMH10-50 50
EMH10-100 10 3 100 Mio
EMH12-50 50
EMH12-100 12 42 100 Mi2
EMH14-50 50
EMH14-100 1 “ 100 Mi2
EMH16-63 " 63
EMH16-100 100
EMH18-63 18 8 63 M4
EMH18-100 100
EMH20-63 63
EMH20-100 20 %2 100 M6
EMH25-100 25 55 100 M18
EMH32-100 32 60 100 M20

Taper : AT3 | Coolant: AD/B

87 www.iwidin.com

43070H
TN ON3




d43070H
TN aN3

END MILL HOLDER

L1

G1

DIN69871 SK-EMH

CODE NO.
EMHG-63 63
EMHG-100 6 25 100 M6
EMHG-160 160
EMH8-63 63
EMHB-100 8 28 100 M8
EMH8-160 160
EMH10-63 63
EMH10-100 10 35 100 M10
EMH10-160 160
EMH12-63 63
EMH12-100 12 42 100
EMH12-160 160
EMH14-63 63 M1z
EMH14-100 14 44 100
EMH14-160 160
SK50 EMH16-63 63
EMH16-100 16 100
EMH16-160 160
EMH18-63 18 63 Mi4
EMH18-100 18 100
EMH18-160 160
EMH20-63 63
EMH20-100 20 52 100 M16
EMH20-160 160
EMH25-63 80
EMH25-100 25 62 100 M16
EMH25-160 160
EMH32-100 100
EMH32-160 32 75 160 M20
EMH40-100 40 80 100
EMH40-160 160

Taper : AT3 | Coolant: AD/B

@mﬂv 88



END MILL HOLDER

L1

DIN69893 HSK/A-EMH

mm mm
CODE NO. | a1 | D1 | U1 | G CODE NO. | d1 | D1 | L1 | G

EMH6-65 6 25 65 M6 EMH6-80 6 25 80 M6

EMH8-65 8 28 65 M8 EMH6-160 6 25 160 | M6
Hskson _EMH10-65 10 35 65 | M10 EMH8-80 8 28 80 M8

EMH12-80 12 42 80 | M12 EMH8-160 8 28 160 | M8

EMH16-80 16 48 80 | Mi4 EMH10-80 10 35 80 | M10

EMH20-80 20 52 80 | MI16 EMH10-160 = 10 35 160 | M10

EMH6-65 6 25 65 M6 EMH12-80 12 42 80 | M12

EMHB-100 6 25 100 | Mé EMH12-160 = 12 42 160 | M12

EMH6-160 6 25 160 | M6 EMH14-80 14 44 80 | M12

EMH8-65 8 28 65 M8 Hskioon EMH14-160 | 14 44 160 | M12

EMH8-100 8 28 100 | M8 EMH16-100 = 16 48 100  M14

EMH8-160 8 28 160 | M8 EMH16-160 16 48 160 | M14

EMH10-65 10 35 65 | MI0 EMH18-100 | 18 50 100 = M14

EMH10-100 | 10 35 100 | M10 EMH18-160 | 18 50 160 = M14

EMH10-160 10 35 160 | M10 EMH20-100 | 20 52 100 | M16 -

EMH12-80 12 42 80 | M12 EMH20-160 =~ 20 52 160 | M16 gsg

EMH12-160 | 12 42 160 | M12 EMH25-100 | 25 62 100 | M16 D=
HSKB3A| EMH14-80 14 44 80 | M12 EMH25-160 | 25 62 160 | M16 -

EMH14-160 | 14 44 160 | M12 EMH32-100 | 32 75 100 | M20

EMH16-80 16 48 80 | M4 EMH32-160 | 32 75 160 | M20

EMH16-160 | 16 48 160 | M14

EMH18-80 18 50 80 | M4

EMH18-160 | 18 50 160 | M14

EMH20-80 20 52 80 | MiI6

EMH20-160 20 52 160 | M16

EMH25-110 | 25 62 110 | M16

EMH25-160 | 25 62 160 | M16

EMH32-110 32 75 110 | M20

EMH32-160 | 32 75 160 | M20

Taper : AT3 | Coolant: AD/B

89 www.iwidin.com



4084V

d4311Nn9J 30IS

SIDE CUTTER ARBOR

L1 30

G1

B

L 2](3.5.7.8.10.12)

H1

D1

MAS403 BT-SCA

mm

COREND H1 w1 o |WEIGHT| CODENO.
INCH [METRIC| INCH |[METRIC (kg)
SCA12.7 60 13 50
SCA12.7 g |20 - - - - M12X175 SCAT3 g0
SCA15.875 75 14 75
SCATE.675 s 28 1742 172 318 4 M1X15 SCAT6 | o
BT40 | SCA22.225 75 75 | 80 75
SCAZ2 275 g 34 2382 236 318 6 M20X15 g SCAZ2 o
SCA25.4 75 71 o
SCAZ54 g 40 2778 290 635 7 M24X20 o SCAZ7 |~
SCA31.75 90 | 46 | 3492 | 340 | 7.92 8 M30X2.0 | 25 SCA32 | 90
SCA12.7 75 37 75
SCA12.7 105 20 . : - - MI2X1.75 ¢ SCA13 e
SCA15.875 90 4.0 90
SCATE.875 g | 2 1742 172 318 4 M1X15 SCAT6 o0
SCA22.225 0 5y 2382 236 | 318 6 Maox1s 3 scazz 0
SCA22.225 135 16 135
BTS0 SCA25.4 90 47 BT50 a0
SCAZEA g5 40 2778 | 290 635 7 M24X20 SCAZ7 o
SCA31.75 90 51 %0
SCAZT 75 g5 46| 3482 | 340 792 8 M30X20 SCA32 o
SCA38.1 90 =g %0
SCA38.1 195 95| 4206 | 425 952 10 M36X30 | — o SCA40 o
Taper : AT3

- JIS B4206, JIS B4219, JIS B4107, JIS B410922] Side CutterE At + Using with Side Cutter standard JIS V4206, JIS B4219, JIS B4107, JIS

i, B41092.
- Key 2 CollarFe= Arbor0fl 2|0 QU&LICE
- S Cutter2 H|2lst ZdL|ct.

- Key and Collars to be supplied with the Arbor.
- Specified weight are not including Cutter weight.

@lnm 90



FACE MILL ARBOR

MAS403 BT-FMA

L2

g
_ T+ 58
SRS
Fig.1

L 12

/0

= Y

Fig.2 \J

D4

L4

mm

CODE NO. WEIGHT
(kg)
BT30 a5 1.3
FMA25.4 22 50 95 33 1.5
90 10 3.1
BT40 45 1.7
FMA31.75 75 30 60 12.7 40 31
FMA38.1 60 34 80 15.9 50 14 2.9
45 3.7
FMAZ25.4 90 22 50 95 33 4.6
150 55
45 10 45
FMA31.75 75 30 60 12.7 40 53
BT50 105 6.1
FMA38.1 4 34 80 15.9 50 43
75 5.6
45 14 49
FMA50.8 36 98 19 65 6-8
FMAA47.625 75 38 128.57 25.4 - - 7.7
Taper: AT3

- £2+2 FACE CUTTEREZ H|QI5 ZIILICt,

+ Specified weight are not including Face Cutter.

91

www.iwidin.com

4084V
TN 334




d40a4v
MAERNE

FACE MILL ARBOR

L1

L2

Fig.1

DIN69893 HSK-FMA

|

D1

Fig.3

L1

D1
D2

CODE NO.
_HSK50A | FMAZ25.4 60 22 50 95 33
HSKB3A FMA31.75 65 30 60 12.7 40
FMA38.1 34 80 15.9 50
FMA25.4 60 22 50 95 33
FMA31.75 65 30 60 12.7 40
HSK100A FMA38.1 34 80 15.9 50
FMA50.8 75 36 98 19 65
FMAA47.625 80 38 128.57 25.4 -
Taper : AT3

@mﬂv 92




FACE MILL ARBOR

MAS403 BT-FMB

Fig.1

i

D1
D2

I
D1
D2

L4

D4

04 | L4 |WEIGHT| CODE NO..
(kg)

BT30 45 1.7 | BT30 45

FMB25.4 | 60 80 95 12 - 33 110 25 FMB27 60

BT40 90 47 | BT40 90

FMB38.1 | 60 85 15.9 16 - 50 | 14 7.4 FMB40 60

45 1 40 45

FMB25.4 | 90 26 80 95 12 - - 33110 5.8 FMB27 90

150 8.2 150

45 47 45

BTS0 FMB38.1 | 75 85 15.9 16 - - 50 14 6.1 BT50 FMB40 75

105 ' 8.7 105

AVIB3BIF | 75 9 110 M12 | 66.7 6.6 FMB40F 75

- - 25 140 254 | M16 | 1016 | - 7.9 FMB60

Taper : AT3

- B2 FACE CUTTERE MIQIgt AeLICt
- Specified weight are not including Face Cutter.

93  www.iwidin.com

4084V
AERE]



FACE MILL ARBOR

L 12

m: v 61
= BECE =

—_— = [m] s
LA A
Fig.1
12
| <

G1

‘
|\
0
Wi
H_L‘
D1
D2

MAS403 BT-FMC

mm

CODE NO. D2 W1 G WEIGHT |CODE NO..
INCH |METRIC

BT30 1.4 BT30 40

- - 1 18 45 - 10 M10X30 1.3 FMC22 45

2.0 90

BT40 FMC25.4 60 20 70 95 12 M12X35 15 BT40 | FMC27 60

90 2 2.2 90

60 2.3 60

FMC38.1 75 22 85 159 14 M16X35 26 FMC32 75

42 60

- - 18 45 - 10 M10X30 47 FMC22 | 105

53 150

45 41 45

BT50 FMC25.4 90 20 70 95 12 M12X35 55 BT50 | FMC27 90

150 1 7.3 150

45 42 45

FMC38.1 75 22 85 159 14 M16X35 55 FMC32 75

105 7.0 105

Taper: AT3

T
w O
o}k

- 22 FACE CUTTERE H|2I8H HQILICE
+ Specified weight are not including Face Cutter.

@lpm 9



FACE MILL ARBOR

L1 L2

L1

L2

G1

T

Fig.1 ANEVAN

Fig.2

DIN69893 HSK/A-FMC

5=r'

—

mm

CODE NO.. W1
o METRIC il
FMC16 45 17 38 8 M8X3.0
HSK40A FMC22 45 ! 18 45 10 M10X3.0
FMC16 45 2 17 38 8 M8X3.0
FMC22 50 18 45 10 M10X3.0
HSKS0A FMC27 50 1 20 70 12 M12X3.5
FMC32 50 22 85 14 M16X3.5
FMC16 60 9 17 38 8 M8X3.0
FMC22 60 18 45 10 M10X3.0
HSKB3A FMC27 60 1 20 70 12 M12X3.5
FMC32 60 22 85 14 M16X3.5
FMC16 75 17 38 8 M8X3.0
FMC22 75 18 45 10 M10X3.0
HSK100A FMC27 75 2 20 70 12 M12X3.5
FMC32 75 22 85 14 M16X3.5
Taper: AT3

95 www.iwidin.com

4084V
AERE]




FACE MILL ARBOR

Fig.2

+ JIS B4113 Face Mill

KOREA TUNGSTEN, KORLQY, IGETALLOY, MITSUBISHI,
TUNGALOQY, DI JET, HITACHI

DIN2080 NT-FMA

mm

CODE NO.
TAPER |
FMAZ25.4 22 50 9.5 33 10
NT40 FMA31.75 30 60 12.7 40
FMA38.1 34 80 15.9 50 14
FMA50.8 30 1 36 98 19.05 65
FMA25.4 22 50 9.5 33 10
FMA31.75 30 60 12.7 40
NT50 | FMA38.1 34 80 15.9 50 14
FMA50.8 28 36 97.5 19.05 65
FMAA47 625 45 38 128.57 25.4 - -
22
Sz
- Draw Blot & X|IHsHIAIL. - Please make designate the Draw Bolt dimension between Inch and
0il) NTSOM—FMA25.4(METRIC SIZE), Metric depend on using Face Mill.
NT50U-FMA25.4(NCH SIZE) + Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
- Draw Blot £ X|H5X|Z2 AL NT40, NT502 INCH SIZE 2 bolt.

Era=lleg

@mm 9%



SHELL END MILL ARBOR

L2

- JIS B4214 SHELL END MILL &
+ For JIS B4214 Shell End Mill

MAS403 BT-SMA

mm

CODE NO. WEIGHT |  CODE NO..
(kg)
SMA15.875 17 34 20 7 09 SMA16
BI30 “smazzazs | 20 27 42 28 9 10 210 omazz 30
60 1.3 60
SMAT5.875 17 34 - 20 A SMA16 120
60 14 60
SMA22.225 27 42 28 9 X SMA22 120
BT40 | spazs.4 45 36 50 33 C 1A BT gyiagg 45
105 23 105
45 10 10 1.6 45
SMA31.75 = %8 60 40 3 SMA32 =
SMA38.1 60 80 12 50 14 3.0 SMA40 60
75 42 75
SMAT5.875 17 34 20 7 £ 3 SMA16 120
75 - 4.3 75
SMA22.225 = 120 27 42 28 9 48 SMA22 120
180 55 180
60 4.3 60
BTS0 | SMAZ25.4 105 36 50 33 52 | BT50 | SMA27 105
150 5.8 150
45 10 0 45
SMA31.75 75 60 40 5.2 SMA32 75
105 38 6.2 105 22
45 4.3 45 SE
— <
SMA38.1 = 80 12 50 14 e SMA40 = =
Taper: AT3

NOTE
+ 22 FACE CUTTERE H|2Igh ZdQILIct,
- Specified weight are not including Face Cutter.

97



H0guv
TN T13HS

SHELL END MILL ARBOR

D1

D2

‘ L1 L2
il
Il
aif

- JIS B4214 SHELL END MILL &
+ For JIS B4214 Shell End Mill

DIN69893 HSK/A-SMA

CODE NO. CODE NO..

SMA15.875 30 17 34 20 7 SMA16 30

HSK50A | SMA22.225 27 42 28 9 HSK50A SMA22
SMA25.4 50 36 50 10 33 10 SMA27 50
SMA22.225 27 42 28 9 SMA22
SMA25.4 36 50 88 SMA27

HSK63A SMA31.75 60 38 60 10 40 10 HSKG3A SMA32 60
SMA38.1 38 80 12 50 14 SMA40
SMA22.225 27 42 28 9 SMA22
SMA25.4 50 36 50 33 SMA27 50

HSK100A SMA31.75 38 60 10 40 10 HSK100A SMA32
SMA38.1 60 38 80 12 50 14 SMA40 60

Taper: AT3

o #



CENTERING PLUG

L1

Draw Bolt

=T i | =
DIN2080 NT-CPI .
DRAW BOLT
COPENG ! .
CPl47.625 47.625 .
NT50 CPIGO 60 38 ‘ 1"-8UNC ‘ M24X3.0
TAPER SLEEVE ADAPTER
L1
Draw Bolt . B E
MAS403 BT-TSA mn
CODE NO. WEIGHT (kg)
BT50 gﬁigm';: BT50 1S040 70 75 . /’f\;ﬂl%fvc 46

TAPER SLEEVE ADAPTER

L1

G1

T2

i

D1

DIN2080 NT-TSA .
CODE NO. \ T1 \ T2 \ D1 \ L1 \ G1
TSA40U-75 5/8-11UNC

NT50 TSAAOM-75 NT50 ‘ 1S040 ‘ 70 ‘ 75 CoMee

NOTE

- Draw Boltg XIHsHMAIL. - Please make designate the Draw Bolt dimension between Inch and

6fl) NTS0M-TSA40(METRIC SIZE), NT50U-TSA40(INCH SIZE) Metric.
- Draw Bolt £ X|H5IX| & AR NT502 INCH SIZER &1L}, + Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
bolt.

99

IAFTTS H3dVL




TAPPING
CHUCK




TAPPING CHUCK

L1

(Comp]  F1, | F2 (Tension)

\ \ 4
>
=

o~ - E
— =) — s o 5 &
Il :
c
)
=
MAS403 BT-TC .
CODE NO. TAPP'SG GALGE F2 W:Ekls)HT COLLET
BT30 | TC0312-130 130 15
510 T00312-135 2-12 1/4-1/2 1/8 32 | 45 135 6.5 12 18 SES1
TC0822-160 8-22 5/16-7/8 1/8-1/2 50 | 62 160 | 145 | 13 2.6 SES2
TC0312-150 150 42
TC0312-210 2-12 1/4-1/2 1/8 32 | 45 210 6.5 12 53 SES1
BT50 | TC0822-175 175 54
TC0822-225 8-22 5/16-7/8 1/8-1/2 50 | 62 295 145 | 13 65 SES2
TC1638-240 16-38 5/8-13/8 1/4-11/8 72 | 88 | 240 20 20 7.8 SES3
Taper: AT3
- & YISO Floating St22 £ 3|81} Pitche| XIS &45t0{ &2 - tis floating toward Axial so that absorb a tolerance of pitch and
oS WXgLct spindle rotating and it will prevent a broken tool.
+ Tap Collet = One Touch 2 A&t ZHEASHA| wEtEL|CH - Easy and Quick change Tap with one touch type Tap collet.
BHZIX| AF24YMH Operating of Taping Chuck
Ti= F2 X 60 AT ‘ T1  Forward rotation dwell time (sec)
PXN T2 Reverse rotation dwell time (sec)
F2  Tension shile idle rotation
Fp= F2X(0.7-1)X 60 P~ Pich of tap
W N Spindle speed (rpm)
At Spindle running time corresponding
to the number of rotation (sec)
F2X1.5 } Approach Point
EER e . HMOIS
Finishing 1] ] Cutting Feed
0% o ‘ e 0|
OB o feed reed . oBEx
Start Feed (Dwell T2 XIEI0I& | ! AR bowen ) Feed Stop
B Self Propel n Self Propel B
cAs|d e i * 3|TFEK
Backlashing ( ‘ | K Rotating Stop
T T

101



MINHI ONIddVL

TAP COLLET

SES

CODE NO.

U

D1
i
|

P

mm

TAPPING RANGE ‘ L1 ‘ CHUCK CODE

M

SES-1 2-12 1/4-1/2 1/8 19 32 25 21.5 TC0312
SES-2 8-25 5/16-7/8 1/8-1/2 31 50 33 355 TC0822
SES-3 16-38 5/8-13/8 1/4-11/8 48 72 45 55.5 TC1638
- Torque QHEIEIX|7} LHRLE|O] Q0| THESt Al XFE2 2 Z5|F610{ Tap « Tension and Compression
o] &g WX|ELCt - Prevention come out a tap from the chuck by Ball Clamping.

+ Ball Clamp Al22 XA S72| tE0| Ylen S72| wEo| One
Touch WHo=z MY 5l &=fo| ZHHSHA| ELC.

TAOP COLLET dEHE}H

TAP COILLET FARSIZE TAP COILLET IARSIZE
2| (SES) METRIC 0 He| (SES)
3 ) S SEST| 1/8 1/8 8 6
M3 NO5,6 4 3.2 E 1/4 1/4 11 9
M4 M4.5 5 4 S 3/8 3/8 14 11
o M5 M55 55 . S 2 2 18 14
o M6 u1/a 6 ) . 5/8 19 15
S Us/16 6.1 5 S 3/4 3/4 23 17
1 M8 M7 6.2 3 7/8 24 19
M10 M9 U3/8 7 55 1 1 26 21
M11 Uu7/16 8 6 11/8 28
M12 8.5 6.5
S u1/2 9 7
| E M14 M15 | U9/16 10.5 8
S Us/8 12 9
2 M16 125
M17 13 10
M18 U3/ 14 1
M20 15 12
M22 u7/8 17 13
E M24 M25 19
S M27 M26 | U1 20
3 M28 21 17
u11/8 22 + Tap Shanki KSUIS) FALILICt,
M30 23 17 + Tap Shank is JIS(or KS) standard
M32 ut/4 24 19 - M : Metric threads
M33 25 UNC : Unified coarse threads
M35 M34 U13/8 26 21 PT : Pipe taper threds
M36 M38 28 PF : pipe straight threads

@lpm 102



STRAIGHT SHANK TAPPING CHUCK

- B RN 379 IS X| Y Tap0| M4t Soprty| flstod
Floating 7|50] LiZtE[0f Qi&LICt

Function of Floating

- In order to prevent of tool when tapping process, our chuck
have function of floating.

AONHJ HNIddVL

A8 LA EY oK

- Ut LIAL HIO|ERE 27H58 M3 BE 7|7 TAPSZ TAPEHY
| 7ksEiLCt

Suitability for small thread cutting

- Itis able to tapping from M3 tap size.

FLT.13

4+ fsso
| Tool Holder
Sleeve
N-TC m
CODE NO. COLLET
TC13 3-13 35 45 DN13 ER20
N32 TC20 3.20 32 52 100 58 DN20 ER32
- TC132 M8 O|MFE HFEEE 0|8 US. - TC13 size are able to use locking bolt from M8
- TC202 M16 O|4RE HFEEE 0|8 US. - TC20 size are able to use locking bolt from M16

ER COLLET2} &4 H|W ¥ (Comparison chart between ER collet and Tap) -

COLLET TAP

ER20 \ ER32 \ METRIC \ INCH
04 04 M3
@5 25 M4, M5
6 26 M6 U1/4
07 07 M7, M8, Mg, M10 U5/16, U3/8
29 29 M11, M12 U7/16, U1/2
012 012 M14, M15
213 213 M16, M17 U9/16, Us/8
015 M18, M20 U3/4
219 M22, M24, M25 u7/8
@20 M26, M27 U1

103 www.iwidin.com




OIL HOLE HOLDER

SYSTEM

HxIEFY=H

Position
Setup

Rocate Pin

Rock Plate

SE6.0
Moving
range6..0

Z38 Adjusting Ring
3|70| 7tsato] ofw st Flol= &

=o| guck

It is able to rotating and possible to
install on any Machine.

#|0{2! Bearing

1< Ts5t5E DDU E4 Hg@ez
HIHT MO 2 ALZEHL T (300rpm)

It is semipermanent with special DDU bearing
for high speed and heavy load.(300rpm)

E4£4 Spcial Seal

LI, Wot2d 1Qf S+ Sealz &

24, +84, BMY £& Arr coolant
A8 7HsSELIC.

Using durability of abrasion seal and
durability fo oil seal, It is able to using
Water-solubility and Qil-solubility
coolant water and Air coolant.

0£5|1T 2l Fafollofl ofgt FuiE0| ZUXCZ 0|20
X|22 5Hj o|&fe| Zi3k4o| O[F0{EL|C
Increasing Ffficiency

Increasing workability due to chip discharge with
coolnat-water.

HAIRO olst ITPLES| Won ZIR4Ho| HHE
Lich
Tool life Improvement

Tool life imprevement by cooling a tool with coolant-
water.

KAl

-

Ze7a), LA JhZols 2 Eoi7t 2mel

=",
1SS YRLC

x Ot

0

Variety of Application
Heavy cutting, Deep hole machining.




OIL HOLE HOLDER

MAS403 BT-OHDC

CODE NO.

ﬁ
a
D1
D2

[
ey

L
A5 60 [T

D1

mm

MIN | MAX |
OHDC10-165 1.0 10 28 165 5.1 ER16
BT40 | OHDC20-165 2.0 20 50 9.0 65 5.0 ER32
OHDC26-170 3.0 26 63 170 4.9 ER40
OHDC10-175 1.0 10 28 ER16
BT50 OHDC20-165 2.0 20 50 105 175 80 78 ER32
OHDC26-180 3.0 26 63 105 180 80 77 ER40
OHDC34-180 50 34 78 7.8 ER50
Taper: AT3
S| AF2Z7 (Using Tool : Coolant type)

- FAR ARE Al MAX. 3000 rpm
- 0101 AF2A| MAX. 1500 rpm

RPM

+ In case fo using Coolant water : Max. 3000 rpm

+ In case fo using Air coolant : Max. 1500rpm

Available Pressure

MAX 20kg/cm

Oil Hole Type

- Straight Shank Insert Drill

- Straight Shank Carbide Drill
- Straight Shank HHS Drill

Stopper Bolt

- AIO|LE A7t BEEIX| 2 MEfIM T3 T2
270/ ot o Eofol w2

stof

=
AHS =
TS HEAY

HOSHK| OHYAIL.
Lict

« Stoper Bolt®] O—Ring0f| A3 S 2ATIGHA| LURIA|F7|[MAIL.

2Utelx| QoS! ARLO|

Z=|0] b

T

20| XMstEuct

+ Do not operati
It will cause a
+ Please tighten

ng the main spindle without Coolant water or Air cooiant.
shortening tool life and holder life.
the shank toward the O-ring of Shopper bolt.

If did not tighten the shank, the coolant water can be leakage and it

cause come down a cooling efficiency or chip discharge.

105 www.iwidin.com

43070H
J10H 110




43070H
F10H 110

OIL HOLE HOLDER

0°-360°
L3L2] M1 W&‘;
s
—H
560
MAS403 BT-OHSL -

CODE NO. | M1 | WEIGH (kg)
OHSL16-160 16 5.0
BT40 OHSL20-160 20 48 90 160 65 25 49
OHSL25-175 25 175 20 15 48
OHSL32-175 32 50 5.9
OHSL16-170 16 M12X1.5
0HSL20-170 20 48 175 25 77
BT50 | OHSL25-180 25 55 105 80 20 7.6
OHSL32-180 32 60 180 15 7.7
OHSL40-180 40 65 25 8.8
AH&:Z7 (Using Tool : Coolant type)
- HAIQ AR Al MAX, 3000 rpm Available Pressure Oil Hole Type
« 0fl0] AF2A] MAX. 1500 rpm MAX 20kg/cm - Straight Shank Insert Drill
RPM « Straight Shank Carbide Drill

+ In case fo using Coolant water : Max. 3000 rpm + Straight Shank HHS Drill

- In case fo using Air coolant : Max. 1500rpm

NOTE

- HAIHOILE A7t SSEIX| = HEoIM £F 3TE Hoishx| oHYAIR. 372l 02 ¥ 22| YHS ZReffoto] £HES HEAIZLICH

- Do not operating the main spindle without Coolant water or Air cooiant. It will cause a shortening tool life and holder life.

« Please tighten the shank toward the O-ring of Shopper bolt. If did not tighten the shank, the coolant water can be leakage and it cause come down a

cooling efficiency or chip discharge.

r
R ENTANTA ]
L1 " | 55
SLEEVE OSL
CODE NO. \ d1 \ D1 \ L1
16 16
0SL25 20 20 25 48
16 25
0SL32 20 32 32 52
25 16
16 20
20 25
0SL40 = o 40 62
32 40

@lnm 106



MICRO
~ BORING BAR

———




INJLSAS DNIH0g

MICRO BORING

UNIT

TR.M

G2B-2CC

CCGT 040102

INSERT

SCREW

S2045 L6

| WRENCH

TOP ADJUST 4

- HHOIM R=ZFE 3f | Z{UA
)\I ReatanlngBoIt 1 X0|X Sh= M
= 4 ot |—|Ef.
. Adjusting boring dimension(range) on the
front side.

o=

AN
.

TRIANGLE INSERT (ZAHH3)

A

- Reataining BoltE £11 Adjusting dial&
=HOIX| Tool Body=

EFsteis 24
et

+ Reataining BoltZ 73| 225 CRA| 1/2}

7 SoiEUC

- HHO|A Adjusting dialS

ok,

MDIA| R

=8 0IMEFE

=Tl

= ot

Adjusting method of boring dimension(range)

=21 - Loosen the Retaining Bolt and turn the
Adjusting Dial and then closing the tool

body to required boring range.

- Fully close the Retaining Bolt and loosen

this bolt by 1/2 turn. Turn the Adjusting

Dial on front side.

mm

ORDERNO. | M (Min Bore) | T SCREW | WRENCH
ggggg ggg 15; 13.0 0.2 ;?j TCGT060204 =~ S1845l5 | WR-25T6
gg@gﬁ g;j 15963 159 | 12 22; TCMT110204 ~ S2555L6 | WR-4T8
S10ATC BT 127 84 18 96 qoungrgs | sssls RO

Brazed Type Unit
- Counter BoringA|0f 2840] =&LIC

+ It have high stability when counter boring.

M TYPE -
ORDER NO. R H K | Insert Red.
BRAZED | INSERT | Min.Bore | Total Adi Range | Min. Height | Tool Pt. Offset ]W]m\ Used As Datum
% F E - 123 ;; 6.4 0.4 - 2.0 0.2
cFe =8 E2 48 « F type : For an Iron foundry E type : For Herdened steel

@lDIN



MICRO BORIN UNIT

RIGIBORE 'R’ & 'TR’

'R' for roughing & semi-finishing
‘TR’ for fine -finishing

Right Hand Units Shown
Left Hand Units(LH) are mirror Image
Adjustment = 0.01mm/.0004ins

on radius division

7 K

95°

7 K

Fig A1 90°

/‘K 7 K

’@5/%@ ﬁ> %> /ﬁf\

90" 95°

75° 75°

INJLSAS ONIHOE

/‘ K //~ K

45°

R

A8
30°

R H K
M
UNIT | FIG A1 TOTALRADLAL | N MIN | TOOL POINT
s INSERT | CODE | MIN BORE POSSIBLE | A JUSTMENT HEIGHT | OFFSET
MIN~-MAX mm
R2A2 | 20.9-25.4 45 45
2 TC_06TI(02) | R2B2 | 18.2-202 2.0 2.0 9.4 135
R2B2S | 15.87~16.62 0.75 0.75
R3A2 | 28-353 7.3 7.3
3 Qg TC_080204) —poeo 5 g 0 0 13.45 0.8
TR5A2 | 415-52.2 107 10.7
° TCT10204 " 1Rog7 | 36.5-42.1 56 5.6 1695 23
7 TR7A2 | 615-74.3 12.8 128 | 2555
10 TCTBT308) p10a7 | 8151045 23.0 23.0 31.7 o4

109 www.iwidin.com



INJLSAS DNIH0g

MICRO BORING BAR

Fig3

MAS403 BT-BCA
WEIGH

CODE NO. i VIS L1 W D2 D3 ka) UNIT INSERT | FIG
BCA13.5-75 135 15.9 75 48 13 - 1.2 | M1B2F-40 -
BCA14.5-75 145 16.9 75 48 14 - 1.2 | M1B2E-40 - 3
BCA16.5-90 16.5 219 90 63 15.5 - 13 | M1A2F-40 -

8730 BCA19-90 19 23 90 63 17 17.5 1.3 | G2B-2CC | CCGT040102
BCA23-105 23 29 105 78 20 - 14 | G3B-2TC K TCGT060204
BCA29-120 29 41 120 95 25 28 15 | G3A-2TC | TCGT060204 3
BCA38-120 38 49 120 95 36 37 17 | G5B-2TC |TCMT110204
BCA46-120 46 66 120 98 38 40 1.7 | G5A-2TC ' TCMT110204| 2
BCA13.5-105 135 15.9 105 65 13 - 15 | M1B2F-40 -
BCA13.5-180 135 15.9 180 65 13 44 20 |M1B2F-40 3
BCA14.5-105 145 16.9 105 65 14 - 15 | M1B2E-40
BCA14.5-180 145 16.9 180 65 14 44 2.0 | M1B2E-40
BCA16.5-105 16.5 219 105 73 15.5 - 15 | M1A2F-40 3
BCA16.5-180 16.5 219 180 73 155 | 44 2.0 | M1A2F-40
BCA19-120 19.0 23 120 86 17 - 15
BCA19-180 19.0 23 180 86 17 44 20 G2B-2CC | CCGT040102) 3
BCA23-135 23.0 29 135 92 20 - 15 1
BCA23-195 23.0 29 195 | 102 20 50 20 G38-2TC | TCGT060204 3

BT40 | BCA29-150 29.0 41 150 | 108 25 28 15 2
BCA29-195 29.0 4 195 | 113 25 50 2.0 G3A-2TC | TCGT060204 3
BCA38-150 38.0 49 150 | 115 36 37 1.7
BCA38-195 38.0 49 195 | 155 36 50 22 G58-2TC | TCMT110204
BCA46-150 46.0 66 150 | 118 38 40 2.1
BCA46-210 46.0 66 210 = 165 38 50 2.8 G5A-ZTC | TCMT110204 )
BCAG2-165 62.0 87 165 | 135 51 50 3.0
BCAG2-225 62.0 87 225 198 51 62 45 G7A-ZTC |TCMT16T304
BCA83-150 83.0 108 150 | 123 63 61 35
BCA83-225 83.0 108 225 198 63 61 6.0 G7A-ZTC \TCMT16T304
BCA98-150 98.0 142 150 | 123 75 60 5.0 | G10A-2TC |TCMT16T304| 4

Taper: AT3

o 10



MICRO BORING BAR

MAS403 BT-BCA
WEIGH

CODE NO. . D3 UNIT INSERT
| min (kg)
BCA13.5-120 | 135 | 15.9 120 67 13 35 4.0
BCA13.5-195 | 135 | 159 195 67 13 50 5.0 MTB2F-40 i 3
BCA14.5-120 | 145 | 16.9 120 68 14 35 4.0 M1B2E-40
BCA145-195 | 145 | 16.9 195 68 14 50 5.0
BCA16.5-120 | 16.5 | 21.9 120 73 15.5 40 4.0 M1B2F-40 i 3

BCA16.5-195 | 16.5 | 21.9 195 73 15.5 55 5.0
BCA19-135 19 23 135 81 17.5 18 4.0
BCA19-210 19 23 210 81 17.5 55 45 G2B-2TC | CCGT040102 3
BCA23-135 23 29 135 92 20 - 4.0 1
BCA23-210 23 29 210 102 20 55 5.0 G38-2TC | TCGT060204 3
BCA29-150 29 4 150 112 25 28 45

BCA29-225 29 4 225 112 25 55 55 G3A-2TC | TCGT060204 3
BCA38-165 38 49 165 122 36 37 4.5
BCA38-225 38 49 225 167 36 36 5.0
BCA46-165 46 66 165 122 38 45 5.0
BT50 | BCA46-225 46 66 225 182 38 45 55 GbA-2TC | TCMT110204 = 2
BCA46-255 46 66 255 202 38 46 6.0

G5B-2TC | TCMT110204 2

BCAG62-180 62 87 180 137 51 59 6.0
BCA62-240 62 87 240 181 51 59 7.0
BCA62-330 62 87 330 277 51 59 8.5

BCA83-165 83 108 165 122 63 76 6.5 G7A-2TC | TCMT16T304 | 2

BCA83-240 83 108 240 197 63 76 9.0
BCA83-345 83 108 345 293 63 76 12.0
BCA98-165 98 142 165 122 83 79 8.5
BCA98-240 98 142 240 200 83 92 11.5 2
BCA98-345 98 142 345 305 83 92 17.0
BCA132-210 132 | 176 210 172 110 96 12.0
BCA132-315 132 | 176 315 277 110 96 18.5 G10A-2TC | TCMT16T304
BCA166-225 166 | 210 225 187 145 96 13.0 4
BCA166-315 166 | 210 315 277 145 96 18.5
BCA200-210 200 | 244 210 172 178 98 20.0

Taper: AT3

111 www.iwidin.com

INJLSAS ONIHOd




MICRO BORING BAR -straignttype

INJLSAS DNIH0g

UNIT \ UNIT
Ty %
Fig2
* L1 UNIT
S
K20:60 Fig3
K32, K42:100 9
L UNIT
8 - = — - x4A 777747 E
K-BCA
CODE NO.
BCA13.5-75 15.9 75 67 13.0 13.0 M1B2F040
BCA14.5-75 16.9 14.0 14.0 M1B2E-40
K20 BCA16.5-90 18.0 90 89 15.5 16 M1A2F-40
BCA19-90 23 85 17 175 G2B-2CC | CCGT040102
BCA23-120 29 120 i 20.0 19 G3B-2TC | TCGT060204
BCA29-120 41 27.0 26.0 G3A-2TC | TCGT060204
BCA13.5-75 15.9 75 67 13.0 13.0 M1B2F040
BCA14.5-75 16.9 14.0 14.0 M1B2E-40
BCA16.5-90 18.0 90 88 15.5 16.0 M1AZ2F-40
BCA19-90 23 80 175 18.0 (G2B-2CC | CCGT040102
K32 BCA23-120 29 105 20 19 (G3B-2TC
BCA29-120 41 - 27 26 G3A-2TC TCGT060204
BCA38-120 49 120 36 34 (G5B-2TC
BCA46-120 66 - 38.0 36 GbA-2TC TCMT110204
BCAG62-120 87 51.0 40 G7A-2TC | TCMT16T304
BCA13.5-75 15.9 75 67 13.0 13.0 M1B2F040
BCA14.5-75 16.9 14.0 14.0 M1B2E-40
BCA16.5-90 18.0 90 87 15.5 20 M1A2F-40
BCA19-90 23 86 17.5 18.0 (G2B-2CC | CCGT040102
K42 BCA23-120 29 105 20 19 G3B-2TC
BCA29-120 41 - 27 26 G3A-2TC TCGT060204
BCA38-120 49 120 36 34 (G5B-2TC
BCA46-120 66 i 38.0 36 GbA-2TC TCMT110204
BCAG62-120 87 - 51.0 40 G7A-2TC | TCMT16T304

@lpm 12




SQUARE BORING BAR

MAS403 BT-BSA

s

D3
&

D2
D2

CODE NO.

BSA25-135 25 38 135 105 20 23 8 14
BSA30-150 30 42 150 120 24 27 '
BSA38-165 38 52 30 34 1.7
BSA42-165 42 56 165 135 34 38 10 1.8
BSA50-165 165 135 2.3

BT40 BSA50-210 50 6 210 180 40 4 13 3.1
BSAG2-180 62 90 180 151 50 57 16 34
BSAG2-225 225 196 4.6
BSA72-180 180 153 39
BSA72-225 2 1o 225 198 60 60 19 5.0
BSAS0-180 180 153 5.2
BSAS0-225 %0 125 225 198 7 60 19 6.2
BSA25-135 25 38 135 92 20 23 8 42 1
BSA30-165 30 42 165 122 24 27 4.4
BSA38-180 38 52 180 137 30 34 10 48
BSA42-210 42 56 210 167 34 38 5.0
BSA50-180 180 137 5.4
BSA50-240 50 65 240 197 40 o 3 5.7
BSAB2-195 195 152 6.2

BT50 | BSA62-270 62 %0 270 227 o0 o7 16 76
BSA72-195 195 152 7.0
BSA72-285 72 10 285 242 60 o7 19 9.3
BSAS0-210 210 167 9.2
BSAS0-300 %0 125 300 257 7 8l 12.3
BSA105-195 195 154 90 10.7
BSA105-285 105 160 285 244 %0 94 25 15.0
BSA130-255 130 190 255 217 110 98 14.5 2

Taper: AT3
+ Square Bolt(2+4 Bolt)= MiE SAl ZE &0 UX| ei&LICE - Square Bolt is out of our product range and we do not selling Square
Bolt.

113 www.iwidin.com

INJLSAS ONIHOE




SQUARE BORING BAR

L1 15
L2
™ e__ N —
| Hol- —— 4 £ 0|o
— X
Fig1 W1
e L1 15
=3 L2
=
(«p}
L
n I\ AN
H )| hd
< - S U 5 8la

MAS403 BT-BSB

CODE NO.

BSB25-135 25 52 135 103 20 22 8 1.6
BSB38-165 38 70 165 133 32 33 10 1.9
BSB50-165 50 90 165 135 40 44 13 25
BSB50-210 50 90 210 180 40 44 13 33 1

BT40 BSB62-180 62 115 180 152 50 56 16 356
BSB62-225 62 115 225 197 50 56 16 48
BSB72-180 72 135 180 153 60 60 19 4.1
BSB72-225 72 135 225 198 60 60 19 5.2
BSB90-180 90 150 180 153 75 60 19 5.4 ’
BSB90-225 90 150 225 198 75 60 19 6.4
BSB25-135 25 52 135 92 20 22 8 4.4
BSB38-180 38 70 180 137 30 33 10 5.0
BSB50-180 50 90 180 137 40 44 13 5.6
BSB50-240 50 90 240 197 40 44 13 59
BSB62-195 62 115 195 152 50 56 16 6.4
BSB62-270 62 115 270 227 50 56 16 7.8 1

BT50 | BSB72-195 72 135 195 152 60 66 19 7.2
BSB72-285 72 135 285 242 60 66 19 95
BSB90-210 90 150 210 167 75 80 19 9.4
BSB90-300 90 150 300 257 75 80 19 125
BSB105-195 105 190 195 155 90 94 25 10.9
BSB105-285 105 190 285 245 90 94 25 15.2
BSB130-255 130 260 255 217 110 98 25 14.7 2

Taper: AT3
+ Square Bolt(2+ Bolt)= M 1Al ZEE0 UX| tELICE - Square Bolt is out of our product range and we do not selling Square
Bolt.

@lnm 14



MODULAR BORING
SYSTEM

HOLDER BORING HEAD
/D - Locking SystemS CHE Ofmst YL Zi2451H Head?t HolderE 1Zsto
2 Xs0| gl HU=E SHAI6HA ghct

* A Locking system of Jeil's boring system combine the boring head with

—
p—

P

""i_‘

— basic holder so that improving boring accuracy without vibration.

STUS AL 80-90kg/mm2| ZAS RX[SIT DOVETAL A x&=
ol zloULck

o

fffffffffffffffff

Strong Boring Head
+ Our boring head keep strongness 80~90kg/mm by using special raw-materil
and it is proper to heavy cutting boring by Dovetail design.

—_—
—_—

couruin [N ——

<: - 8t & OJMZRAR| YR insert Nose R 2= Mats| & 4 leoz 7}
JAl ol =0fl 0|X|l= XMetHE FAsIIEZ 5|=2| 0| ZOo{ELC,

- Accuracy adjusting of tolerance of insert nose R by single blade so that it

minimize a resistance which effect to the the boring head when machining.

%007 ya0iM




INJLSAS HVINAON

V3H 5NId0g

BORING HEAD A1'SSY

HEGEFZE Explanatory Diagram of Boring Head

* FINISHING BORING HEAD

* RARGE SIZE FINISHING BORING HEAD

BORING HEAD SELECTION

HE5|=MEfHH Explanatory Diagram of Boring Head selection

* FINISHING BORING HEAD

A Srgigze ‘—“Angle:?“'gg"r':%mad“‘“ CTBITn?erZ';on —HPEPn?ez'r;ion
2 100
27 401
32 ‘ 400
42 - é
54 |
_\% I EEAs .
100 \
720077_|| 8 J» i 402N
o]
500 L= (=




BORING HEAD (223l=)

D ROUGHING BORING HEAD

A FINISHING BORING HEAD

Z @
=
- o
= T
CODE NO. L Kg INSERT INSERT SCREW ﬁ;
<O
A2275 400 24 30 22 12 34 0.08 CC..0602.. M2.5X5.6 r‘ﬁn
A2275 409 29 40 27 15 42 0.18 CC..09T3.. M4X10 <
A3275 409 39 50 32 20 45 0.25 CC..09T3.. M4X10
D2275 400 24 30 22 12 34 0.10 CC..0602.. M2.5X5.6
D2275 409 29 40 27 15 42 0.18 CC..09T3.. M4X10
D3275 409 39 50 32 20 45 0.26 CC..09T3.. M4X10

D ROUGHING BORING HEAD

A FINISHING BORING HEAD

CODE NO.

A2290 400 24 30 22 12 34 0.08 CC..0602.. M2.5X5.6
A2790 409 29 40 27 15 42 0.18 CC..09T3.. M4X10
A3290 409 39 50 32 20 45 0.25 CC..09T3.. M4X10
D2290 400 24 30 22 12 34 0.10 CC..0602.. M2.5X5.6
D2790 409 29 40 27 15 42 0.18 CC..09T3.. M4X10
D3290 409 39 50 32 20 45 0.26 CC..09T3.. M4X10

117



INJLSAS HVINAON

(V3H 5NId0g

BORING HEAD (223l=)

A FINISHING BORING HEAD

]
|

I

D ROUGHING BORING HEAD

LT
— &S

N
=

CODE NO. L ‘ Kg ‘ INSERT ‘ INSERT SCREW
A4275 300 49 65 42 24 56 0.58 TC..16T3.. M4X10

A5475 300 63 82 54 28 66 1.05 TC..16T3.. M4X10

A4275 300 49 65 42 24 56 0.6 TC..16T3.. M4X10

D4275 402 49 65 42 24 56 0.6 CC..1204.. Mb5X13.1

D5475 300 63 82 54 28 66 1.1 TC..16T3.. M4X10

D5475 402 63 82 54 28 66 1.1 CC..1204.. M5X13.1

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

CODE NO. L ‘ Kg ‘ INSERT ‘ INSERT SCREW
A4290 300 49 65 42 24 56 0.58 TC..16T3.. M4X10

A5490 300 63 82 54 28 66 1.05 TC..16T3.. M4X10

A4290 300 49 65 42 24 56 0.6 TC..16T3.. M4X10

D4290 402 49 65 42 24 56 0.6 CC..1204.. M5X13.1

D5490 300 63 82 54 28 66 1.1 TC..16T3.. M4X10

D5490 402 63 82 54 28 66 1.1 CC..1204.. M5X13.1

@lpm 118



BORING HEAD (223l=)

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

CODE NO. L Kg INSERT CARTRIDGES
AB875 2CT 300 80 102 68 36 86 2.18 TC..16T3.. 2CT 75300
AB575 3CT 300 100 125 85 50 100 4.2
A10075 3CT 300 125 160 100 60 100 6.6 TC..16T3.. 3CT 75 300
A20075 3CT 300 160 220 145 60 100 8.96

TC..16T3.. 2CT 75 300
D6875 2CT... 80 102 68 36 86 2.3 CC. 1204 2CT 75 402
D8575 3CT... 100 125 85 50 100 43
D10075 3CT... 125 160 100 60 100 6.8 ggl%i gg ;g 13182
D20075 3CT... 160 220 145 60 100 9.0 B B

A FINISHING BORING HEAD D ROUGHING BORING HEAD

CODE NO. CARTRIDGES
TC..16T3. 2CT 90 300
AB890 2CT... 80 102 68 36 86 218 I S
A8590 3CT... 100 125 85 50 100 42
A10090 3CT.. 125 160 100 60 100 656 gg}%i gg gg igg
A20090 3CT... 160 220 145 60 00 896 1204
TC..16T3. 2CT 90 300
D6890 2CT... 80 102 68 36 86 23 Loels- e
D8590 3CT... 100 125 85 50 100 43
D10090 3CT... 125 160 100 60 100 6.8 gg}%i gg 38 ?182
D20090 3CT... 160 220 145 60 100 9.0 1208

119

INJLSAS HVYINAON
av3H DNIH0g



INJLSAS HVINAON

(V3H 5NId0g

RARGE SIZE BORING HEAD (tH73& 2&slE)

e

A FINISHING BORING HEAD

7

D ROUGHING BORING HEAD

Yy

=

___1_

CODE NO. INSERT CARTRIDGES

A30075 3CT 300 220 320 90 93
A40075 3CT 300 290 400 90 12.85 TC..16T3.. 3CT 75 300
A50075 3CT 300 370 500 90 16.25
D30075 3CT... 22 2 10.1

30075 3 0 320 %0 0 TC..16T3.. 3CT 75 300
D40075 3CT... 290 400 90 13.75 CC. 1204 3CT 75 402
D50075 3CT... 370 500 90 16.95 B B

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

CODE NO. ‘ Kg ‘ INSERT ‘ CARTRIDGES
A30090 3CT... 220 320 90 93 TC16T3. 30T 90 300
A40090 3CT... 290 400 90 12.85 CC. 1204 3CT 90 402
A50090 3CT... 370 500 90 16.25 B B
D30090 3CT... 220 320 90 10.1 TC16T3. 30T 90 300
D40090 3CT... 290 400 90 13.75 CC. 1204 3CT 90 402
D50090 3CT... 370 500 90 16.95 B B

@lpm 120



ROUGHING BORING HEAD

D3

D2

/

£
e

@I[H]I@

\

L1

D1

CODE NO. ‘I\/IIN & VIAX ‘ Kg ‘ INSERT BASIC HOLDER
RBH29 29 38 15 27 37 0.07 CC..0602.. BH2715
RBH38 38 48 20 32 40 0.16 CC..0602.. BH3220
RBH48 48 60 24 42 54 0.23 CC..09T3.. BH4224
RBHGO 60 75 28 54 67 0.40 CC..1204.. BH5428
RBH75 75 100 36 68 70 0.76 CC..1204.. BH6836
RBH100 100 130 50 85 75 1.80 CC..1204.. BH8550
RBH130 130 180 60 100 86 5.5 CC..1204.. BH10060

121

www.iwidin.com

INJLSAS HVYINAON

aV3H HNHOo4




ROUGHING BORING HEAD

L1

O
Z o
53
B gz PM
3z
28
o MAS403 BT-RBH
D1 WEIGHT
CODE NO. ‘ MIN ‘ MAX ‘ ‘ BASIC HOLDER ‘ (Kg)
RBH29-142 29 38 115 142 37 BT40-27-130 1.60
RBH38-152 38 48 125 152 40 BT40-32-130 1.70
BT40 RBH48-185 48 60 158 185 54 BT40-42-160 2.40
RBH60-188 60 75 161 188 67 BT40-54-160 2.90
RBH75-211 75 100 184 211 70 BT40-68-200 4.00
RBH29-133 29 38 95 133 37 BT50-27-100 450
RBH29-163 125 163 BT50-27-130 4.60
RBH38-163 38 18 125 163 0 BT50-32-130 4.70
RBH38-193 155 193 BT50-32-160 490
RBH48-196 48 50 158 196 54 BT50-42-160 5.50
RBH48-236 198 236 BT50-42-200 6.00
RBH60-199 161 199 BT50-54-160 6.20
BT30 RBH60-239 60 5 201 239 67 BT50-54-200 6.90
RBH75-222 75 100 184 222 70 BT50-68-200 7.60
RBH75-282 244 282 BT50-68-260 9.00
RBH100-213 100 130 175 213 75 BT50-85-200 14.40
RBH100-273 235 273 BT50-85-260 16.00
RBH130-284 130 180 246 284 86 BT50-100-260 13.00
RBH130-344 306 344 BT50-100-320 18.00

Taper : AT3

@lpm 122



=)

- L 10
g /\%(]:EE
-

D1

BH
CODE NO. 2 WEIGHT (Kg) ‘ (31 (ARBOR SCREW)

22 100 22 12 100 88 34 0.58 22 - 68
27 55 27 15 55 35 42 0.45 27 -610

BT30 27 100 27 15 100 80 42 0.64 27 -610
32 60 32 20 60 37 45 0.45 32-810
32 100 32 20 100 77 45 0.69 32-810
22 50 22 12 50 43 34 1.20 22 - 68
22 100 22 12 80 73 34 1.30 22 - 68
22 80 22 12 100 93 34 1.40 22 - 68
27 55 27 15 55 40 42 1.20 27 -610
27 100 27 15 100 85 42 1.45 27 -610
27 130 27 15 130 105 42 1.60 27 -610
32 60 32 20 60 42 45 1.20 32-810
32 100 32 20 100 82 45 1.47 32-810

BT30 32 130 32 20 130 112 45 1.70 32-810
42 75 42 24 75 46 56 1.30 42 -1014
42 160 42 24 160 131 56 2.25 42 -1014
42 200 42 24 200 171 56 2.75 42 -1014
54 90 54 28 90 51 66 1.80 54 -1220
54 160 54 28 160 121 66 2.80 54 - 1220
54 200 54 28 200 161 66 3.55 54 - 1220
68 160 68 36 160 101 86 2.80 68 - 1624
68 200 68 36 200 141 86 3.90 68 - 1624

Taper: AT3

123 www.iwidin.com

INJLSAS HVYINAON

aV3H HNHOo4




BASIC HOLDER (tilo|%|

Mol

)

of

€= CODE NO. 2 2 ‘ WEIGHT (Kg) ‘ (31 (ARBOR SCREW)
5 = 22 80 22 12 80 84 34 4.20 22 - 68
25 22 100 22 12 100 104 | 34 4.35 22-68
o 27 55 27 15 55 51 42 4.05 27 -610
= 27 100 27 15 100 96 42 4.40 27 -610
27 130 27 15 130 126 42 450 27 -610

32 60 32 20 60 53 45 3.95 32-810

32 130 32 20 130 123 45 4.60 32-810

32 160 32 20 160 153 45 4.80 32-810

42 75 42 24 75 57 56 415 42 -1014

42 160 42 24 160 142 56 5.20 42 -1014

42 200 42 24 200 182 56 5.80 42 -1014

BT50 54 90 54 28 90 62 66 4.80 54 - 1220

54 160 54 28 160 132 66 5.80 54 -1220

54 200 54 28 200 172 66 6.50 54 -1220

68 115 68 36 115 67 86 4.45 68 - 1624

68 200 68 36 200 152 86 7.20 68 - 1624

68 260 68 36 260 212 86 8.85 68 - 1624

85 200 85 50 200 138 100 7.85 85 - 1630

85 260 85 50 260 198 100 10.65 85 - 1630

85 320 85 50 320 258 100 13.40 85 - 1630

*100 170 100 60 170 108 100 6.15 100 - 2035

*100 260 100 60 260 198 100 12.85 100 - 2035

*100 320 100 60 320 258 100 16.50 100 - 2035

Taper: AT3

+ oHA| OHH= SI= 200 O[5H2YILICY.
« oMarks are for below 200mm boring head

@lpm 124



BASIC HOLDER (2E2[0|E 225l|=H})

K-32

032 h6
L

— L

L3

Fig 1

032 h6
L

z,

D1

2

—©

Fig 2

032 hé ‘
|

L2

E,

©
Ls
L3

Fig 3

K32

CODE NO.
22 66 22 12
27 81 27 15
32 85 32 20
42 96 42 24
54 106 54 28

80

66 34 146 22 -68
81 42 161 27 -610
85 45 165 32-810
96 56 176 42-1014
106 66 186 54 - 1220

125 www.iwidin.com

INJLSAS HVYINAON

aV3H HNHOo4




LARGE SIZE ARBOR (ti738 ots)

INJLSAS HVINAON
av3H ONIdog

WEIGHT (Kg) | HEAD SCREW
BT50 160 100 60 125 70 90 6.25 M12X45

LARGE SIZE ADAPTER (ti7&& Ot&E)

il
i
o ___] L |4,
%}d {@—-————4—% 8

A300. 400. 500
D300. 400. 500

OfgiEf 2AH3

CODE NO. 2 2 WEIGHT (Kg) | HEAD SCREW

mm

ADT100-50 100 60 50 90 4.6 M12X45

@lpm 126



EXTENSION PIECE

PM1
o
I 1101 |1® {T|F
/4 o
L1 L3 L2 ‘
EXTENSION
ARBOR PIECE HEAD
L3
o [ ©11®-1 8¢5

CODE NO. IRE
P22 20 20 0.095
P22 30 22 12 30 0.140 22-68
P27 30 30 0.180
P27 45 27 15 45 0.250 27-610
P32 35 35 0.260
P32 52 32 20 52 0.375 32:810
P42 40 40 0.480
P 42 60 42 24 60 0.700 42-1014
P54 50 50 0.950
P 54 75 o4 28 75 1.400 541220
P 68 60 60 1.800
P68 90 68 36 90 2.600 68-1624
P 85 70 70 3.050
P 85 105 85 50 105 4.450 85-1630
P 100 80 80 4.600
P 100 120 100 60 120 7.100 100-2035
EXTENSION PIECES 0|23t ZI0| HiA} HitH T FLANGE =7
- PM1 = (L1-BT FLANGE 7)) + L3 + L2 Thickness of BT flange
+ PINZBOHR ARBORZ| ZI0| HZ2 EXTENSION PIECES F7tat 4= Q! - BT30=22
SLICHL B 170 0|42 ofttel BRIl WS 4 o8 AN . graggy
x| esLct,
- BT50= 38

How to extend the length of boring arbor
« Pinzbohr's boring head cab be extend a langth with extension
bar(piece)

127 www.iwidin.com

INJLSAS HVYINAON

aV3H HNHOo4




EYRHA - HTHA -
2|C| A
e HUHAIE TOOL

Drill Taper Holder for Drilling Machine, Tapping Machine,
Radial Machine, Large Bore Boring Machine




DRILL TAPPER CHUCK(iset

SDT-MT &= ME H|& (Contents of Set) .
CODE NO. £ [TAP COLLET] A &0 [Adaptor] | EZEH[Drill Holder]
SDT24 2 T24-MB, M8, M10, M12, M16, M20, M24 J24-6 D24-MT2
SDT33 g T33-M10, M12, M14, M16, M20, M24, M30 J33-6 D33-MT3
SDT52 2 T52-M20, M24, M30, M36, M42, M45, M48 J52-6 D52-MT4

- Cotter Home MAE I8t 7|7 22 L S|AH

2 o
3= ¢

HFHAR

« In order to selection of Cutter Home, please let us know the model and company of Machine at ordering step.

2! & S= (Tapping range of Drill)

B 5= [TAPPING RANGE]

mm

CaEC
CODE NO. METRIC INCH PIPE 2120 [Drill Holder]

SDT24 i i M4 - M24 ug3/e-u7/8 | P1/8-P1/2 232

SDT33 g g M8 - M3+M35 | U5/16-U 11/4 P1/8-P1 (50

SDT52 g : M20 - M60 u7/8-U2 P1/2-P13/4 275

129

H3dvL 11Hd



43dvL 114d

DRILL TAPPER CHUCK

DT-MT
CODE No. (RLLNG B0AE
SDT24 i 2 M4 - M24 U3/16-U7/8 P1/8-P1/2 @32
SDT33 g g M8 - M34,M35 | U5/16-U 11/4 P1/8-P1 @50
SDT52 2 2 M?20 - M60 U7/8-U2 P1/2-P13/4 @75

+ Cotter Home MES {18 717 22 & MY S LHFMAL.

- In order to selection of Cutter Home, please let us know the model and company of Machine at ordering step.

DRILL TAPPER COLLET

T-M, T-U, T-P

mn
=A

CODE NO. [Application Drill Holder]

HZ&24 [STANDARD SIZE]

METRIC M4, 5,6,8, 10,12, 14,16, 18, 20, 22, 24, 27
T24 INCH U3/16, 1/4, 5/16, 3/8,7/16, 1/2,9/16, 5/8, 3/4,7/8, 1 DT24
PIPE P1/8,1/4,3/8,1/2
METRIC M8, 10,12, 14,16, 18, 20, 22, 24, 27, 30, 33, 34
T33 INCH U5/16, 3/8,7/16,1/2,9/16,5/8,3/4,7/8,1,1/8,1/4 DT33
PIPE P1/8,1/4,3/8,1/2,3/4,1
METRIC M20, 22, 24, 27, 30, 33, 36, 39, 42, 45, 48, 52, 60
T52 INCH u7/8,1,11/8,1 1/4,1 3/8,1 1/2,1 3/4,1 7/8,2 DT52
PIPE P1/2,3/4,1,1 1/4,1 1/2,1 3/4

Qo 130



DRILL TAPPER DRILL CHUCK

DT-MT

=2 53 =5

CODENG: [DRILLING BORE] | [APPLICATION DRILL HOLDER]
J24 DT24
J33 6 6 1-13 DT33
J52 DT52

CODE NO =2 53 [APPﬁcilemN
[DRILLING BORE] | ot
D24 MT1, MT2, MT3 2.0-32 DT24
D33 | MT1, MT2, MT3, MT4 2.0-50 DT33
D52 | MT2, MT3, MT4, MT5 14.1-75 DT52

(GAP)

L

0 (¢ } R £ M U C2 E0s XA EA ZHS 51X LoH ERQf X0| AXEX| %O
il < (Gap adjusting bolt] o =2 28 Al 38 Loz S520| 47 =20| 0|EHEl= 40| UAFLICH
% & ’é*‘afgﬁb G 1. 2H0] =2 M U =2 SHE MUt A =0| FIX| & H7X| EM 2 &
L amping bol =,
3 E2 ZMELIC
2d g = = o _ < = e aixie =
eelball 2 X3 BES 2 3 2A0 4Ysiol ST M Y S SCiS HHG| SITAH A
2 20| AR Er9 Eoi| UX|==XIE Sl ch
25
(Chuck body)

1. Insert the Drill chuck or Drill holder into the body and then adjusting the Gap

cS2H 3 EyEd adjusting bolt till set the steel ball on position.
(Drill chuck and Drill holder)

2. After clamping the Clamping bolt, and check that the steel ball has been fixed on
position by slowly rotating the Drill chuck or Drill holder.

131

H3dvL 11Hd



TOOL SETTING STAND

F= H3S (Prevent Main Spindle)

FET MY Y E ABCS BE XA B0 HolHRo| A4S
WRIsto F5S BEFLC,
- Prevent the Holder taper(shank) when clamping the PS bolt

and setting-up a tool so that prevent the main spindle after
assembling a toolholders into the main spindle.

ZHEst EE | Z!! (Easy Clamping)

- Ratchet handle 0 2lot EAEIE SE AEtS ZHHSHA|
Lict,

o

- Easy clamping of P/S bolt by Rachet handle.

- Easy setting-up a tool by complete holding a toolholders.

S3140SS333V

e
LIEDE . ‘ [APPLICATION HOLDER]
TSS 40 BT 40
TSS 50 BT 50

- LpAsoIDE o= Fmollict - W WS BOIS DHBILICL - AT AHCO| HYUSI0] ratchet - TAIBT AIE O H4 KIS B
+ Clamping P/S bolt by human - Fixing the holder by turning Cap handleZ 2. L|ch
power handle + Closing and turn the rachet + Setting-up a tool
handle

o 132



HSK TOOL SETTING STAND

DING69893 HSK-TSS

CODE NO. ‘ MEZ[APPLICATION DRILL HOLDER]
s BT 30 [KEYSi= TYPE]
TSS-BT30(24%) [For without Head Home]

TSS-BT30-2 BT 30

TSS-BT40-2 BT 40

TSS-BT50-2 BT 50

TSS-HSK40 HSK40

TSS-HSK50 HSK50

TSS-HSK63 HSK63

TSS-HSK100 HSK100

BT TOOL SETTING STAND

MAS403 BT-TSS

EEET
CIEDE U ‘ [APPLICATION DRILL HOLDER] [PE
TSS-BT30AL BT30
TSS-BT40AL BT40 A
TSS-BT50AL BT50
TSS-HSK 40 HSK 40
TSS-HSK 50 HSK 50 B
TSS-HSK 63 HSK 63
TSS-HSK 100 HSK 100

133 www.iwidin.com

S31H0SS3AV



S3140SS333V

TOUCH SENSOR

- Stylus?| Sheel Ball ZERIXIE ZUSIHE AZLR0| ZF50] miE
= Y

- Battery AG13X2Pcs7t AFREILCE,

TP-20 20 X ZHISES Floating0| EIX| Yoo 2 7& AEA| IR0 237} Qoo
10 38 15
TP-32 32 2 XY= TouchZ2t AF20| 7Hs§iLCh,

BASE MASTER

Z0P-50 HP-100
e
- NC7|A 24-F22 0| I 2ol M=zd AFo| AFZEU  MZAXH7t SKS3FH st H=7t Hre600]d HAMZS
(431, 2B oAl NEf 9 UBTA0] A1) 2IciAo| = 930 93
E.:.uiéls oH=0| 0/5tH 2kxtgi0] Hats| ES™E 4 AUsL - CIOI2IAOIXIE LZoE SHEIARl o5 E74A] THAMX]

- H|O]A =0
- H|0]A =0 50mm o] | 100mm

. ™Mo 0.01mm - HUE 0.01Tmm
o= .

MAGNETIC BASE MASTER

ZDI1-50/ZD1-100
QIC|AI0IE 4] 75 £

*NC7|7Al 24822 =0| H Z0[9 M=F HFol AZEuU
(2], 2+EY HAI WEE o UBBAT|AH0 AL) 2lCi#|o]
El Y42 H=0| EolotH 2XIglo| H&ts| £ 4 AUsL
ct.

- #|0]A £=0| 50mm

- ™Maz 0.01mm

@lDIN



PULL STUD BOLT

Q

D1
!

(1S07388, PS-G TYPE)

- 2 IICRI0] 0] UK U2 2 ARE

(P TYPE)

Ec 52 FEEU,

(DING9872 TYPE)

+ Other size can be supplied based on order made.

PS
CODE NO.
1 45°
P30T 2 " 7 12.5 16.5 23.0 43.0 60° M12
3 90°
1 45°
P40T 2 15 10 17 23.0 35.0 60.0 60° M16
3 90°
1 45°
P50T 2 23 17 25 38.0 45.0 85.0 60° M24
3 90°
HP40T(PSG) 51 19 12.5 17 22.0 19.1 441 A5 M16
HP50T(PSG) 41 29 20.8 25 37.0 25.2 65.2 M24
SK40(DING9872) | 309 19 14.0 17 23.0 26.0 54.0 750 M16
SK50(DING9872) | 512 28 21.0 25 36.0 34.0 74.0 M24
JIS(6339) 1 19 14 17 23 29 54 75° M16

135

S3IH0SS3AAV




av3H 319NV

ANGLE HEAD & @

‘IsE FU7ISAU oky WSS EZ! CNC oM HEVK| =2 S8

0l

“Arbor type of Angle Head for high efficiency and precision machining!”

BT50!

il

&
&

LIPS
%
I'e) | £

G 01
02

Lol ——

3
[

|5
i

Classification

Code Description

Parameter value Parameter value

50 40
AELEG(EAY WAN 50-40 WAN BT50 for Machine Side BT40 for Tool Side
UNIVERSAL HEAD WUN A-B WUN A B
Taper of Machine Side Taper of Tool Side
BORING HEAD WBO WBO
TILTING HEAD WTI A-B WTI A B
Taper of Machine Side Taper of Tool Side

SIZE

WAN 50-40

236 156.5 46.5 90 87 89 125 110 BT40 15

@lpm 136



CNC FACING HEAD

: ACCREDITED

CNC FACING HEAD 750

+ Product which can make machining in Vertical Lathe proceed in
Boring Machine.

- Saving machining time, machining cost. Variable machining works.
- Best Performance with Precision process and round work.

- Easy to use and Up to date automatic control function.

650

@@ @00 © 6 © e ¢
.¢.

© @ st 270

365

725

.’.
360
PRODUCT LIST

+ Angle Head
+ Boring Head
- Facing Head

+ Special customized product

18

654

133

510

20

137 www.iwidin.com

av3H I19NV




43033dS
F1ANIdS

ROTATING TOOL HOLDER

AXIAL ROTATING TOOL HOLDER

- Special design for Low-noise & High-rigidity.
- Use thermal material to minimize variation of accuracy.
+ Every precision spindle spends long-hours on a special test bench.

Shank BMT45 BMT55 BMT65 BMT75 BMT85
ER, ET Collet Size 20 25 32 40 50
Drill Size 1~13 1~16 2~20 3~26 10-34

o 138



ROTATING TOOL HOLDER

43033dS
JF1ANIdS

+ Use special bevel gear for Low-noise & Low-vibration.
- Special design of high-rigidity bearing structure.
+ All of our productions are designed & manufactured by customer demand.

T2 / Division | SH2 / Item
Shank BMT45 BMT55 BMT65 BMT75 BMT85
ER, ET Collet Size 20 25 32 40 50
Drill Size 1~13 1~16 2~20 3~26 10~34

139 www.iwidin.com



PASSION FOR PRECISION!




DATA

-BT SHANK

-COTTER GROOVE H|z =
-BORING HA&F =

-DRILL H4} =

-ENDMILL &t x=A

‘REAMER &4 =

TAP E&t =A

-TWIST DRILL2| TROUBLE CH4
‘REAMER2| TROUBLE CHZ4
‘BURNISHING DRILL2| TROUBLE CHZ
-ENDMILLS| TROUBLE L4
41410 TROUBLE CHZH

HAMEE 2 TORQUE

AN
HAAE U A0S

-TAP HOLE DRILLZ
-TAPER STANDARD



viva

BT-SHANK

7/24 Taper

Gauge Line

-
<
>

i
]
o
o
N
EE

MAS403

TAPER HEE 75%0| A A= 95% 04
2 TAPER 2= 518} AT3 JIS B06142| AT30]| 2
3 TAPER £0i| chst D2 RUNOUT TIR0.05
4 TAPER £0i hsh d2f RUNOUT TIR0.02
5 TAPER H0i| CHt BS] RUNOUT TIR0.02
. bl ZAl0] chet EAl BT30-45:0.06 HE9| 51EX|2 Bt
BT50-60:0.1
7 Lo| =&t +0.2
8 de| Zxt H8
9 de| Zxt H12
10 to| Zxt -0.2
11 DO| Zxt h8
12 Vol Bxt +0.1
13 x| Sxt +0.1
14 @o| Zxt -15° @=30°
15 yo| SRt +0.4
16 y12| BAt -0.4
17 TAPER £ 2iLiAte] SAE TIRO.2 35mm MEHoM S5
18 LiAte| M= 6H JIS B209oj| 2|5t
TAPER & 1.6 A= 0.8S
19 EERL Hag 3.28
719 7|Et vV
20 E, CRACK, &= BURR Fo= &0l
21 ol HAHH 0]2oll= X2
22 2l
23 THE SMC415
- - 710]:0.8-1.0 ITW$ ZIEHER|
HRC 55-62 ZEHO| A

@lpm 142



COTTER HOME (ZHS H|uk)

1o
mII
0=
[oll
HU
ORI OF
-

AN

A JKBA| 52
QlLct

- 3 82 379 HEHS YXELCL

- IH 2o 742 | Ao met t2e2
MBI 2 L1, L2, WIS LT AN,

|

L2

L1

ZZelolnNO | MEIA

15 15.5 8.2 5° YR130
Yoshida Y 18 15 8.2 5° YRD1000
9 21 8.2 5° YD3-65
MT4 5 18 8.2 5° R2000
Ooya 0 9 " 8.2 5° RA2-1300
10 10 8.2 5° RE1250A
Kurama K 26.3 295 12.2 5°
Aoyama A 44 40 13 5 ATB-3
Okuma B 27 41 12.4 5
Ikegai | 52 85 13.2 5
Kurashiki K 53 35 13.2 5
Nomura N 27 38 12.2 8° AFB-4
MT5 Shinada S 37 37 16 0°
Toshiba T 50 35 13 0°
Voshida y 25 20 20 5® YRD700
9 BEks) 8 O YDD700
15 25 12.2 5 RE3-2000
Ooya 0
14 20 12.2 5 RE-2500
70p71E K 54 4.3 16.2 0°
HessY D 52 45 16.2 5°
Aoyama A 50 38 19.3 5°
Okuma B 37 485 16.4 5° DRB3000
MT6 lkegai | 52 45 16.2 5°
Kurashiki K 54 41 16.3 5°
Nomura N 27 42 16.2 8°
Shinada S 54.5 475 19.3 0°
Toshiba T 54 40 16.2 0°

143 www.iwidin.com

viva




viva

&= Ul Aol sz EAzlo|

V(m/min) (mm/rev) V(m/min) V(m/min) (mm/rev) V(m/min)
24-30 110-140 0.05-0.15 0.05-0.30 100-130 0.15-0.25 4.2
29-40 115-150 0.05-0.15 0.05-0.30 105-140 0.15-0.30 5.7
EtAZH 39-50 115-150 0.05-0.15 0.06-0.35 105-150 0.20-0.30 5.7
(S45C, S50C) 49-102 115-150 0.15-0.20 0.06-0.35 105-150 0.25-0.35 6.3
100-220 115-150 0.15-0.20 0.07-0.50 105-150 0.30-0.40 6.3
220-500 100-130 0.15-0.20 0.07-0.50 105-150 0.30-0.40 6.3
24-30 110-140 0.05-0.15 0.05-0.30 90-120 0.15-0.25 4.2
29-40 110-150 0.05-0.15 0.05-0.30 100-130 0.15-0.30 5.7
szt 39-50 110-150 0.05-0.15 0.06-0.35 100-130 0.20-0.30 5.7
(SCM, SNCM) | 49102 110-150 0.05-0.20 0.06-0.35 100-130 0.25-0.35 6.3
100-220 110-150 0.05-0.20 0.07-0.50 100-130 0.30-0.40 6.3
220-500 110-150 0.05-0.20 0.07-0.50 100-130 0.30-0.40 6.3
24-30 70-100 0.07-0.15 0.12-0.35 60-90 0.12-0.20 42
29-40 80-110 0.07-0.15 0.12-0.35 70-100 0.15-0.25 5.7
AE|OIAZ 39-50 80-110 0.07-0.15 0.20-0.50 70-100 0.15-0.25 5.7
(SUS) 49-102 80-110 0.10-0.20 0.20-0.50 70-100 0.20-0.30 6.3
100-220 80-110 0.12-0.20 0.25-0.75 70-100 0.25-0.35 6.3
220-500 80-110 0.12-0.20 0.25-0.75 70-100 0.25-0.35 6.3
24-30 75-100 0.07-0.15 0.12-0.35 60-110 0.20-0.30 42
29-40 80-115 0.07-0.15 0.12-0.35 60-110 0.25-0.35 5.7
=7t 39-50 80-115 0.07-0.15 0.20-0.50 60-110 0.25-0.35 5.7
(FC) 49-102 80-115 0.12-0.20 0.20-0.50 60-110 0.30-0.40 6.3
100-220 80-115 0.12-0.20 0.25-0.75 60-110 0.30-0.45 6.3
220-500 80-115 0.12-0.20 0.25-0.75 60-110 0.30-0.45 6.3
24-30 150-300 0.05-0.15 0.12-0.35 120-300 0.20-0.30 4.2
29-40 150-360 0.10-0.20 0.12-0.35 150-370 0.25-0.35 5.7
il 3950 150-360 010020 | 020-0.50 150-370 0.25-0.35 5.7
( A‘:'C)° 49-102 150-360 0.10-0.20 0.20-0.50 150-370 0.30-0.40 6.3
100-220 150-360 0.10-0.25 0.25-0.75 150-370 0.30-0.45 6.3
220-500 150-360 0.10-0.25 0.25-0.75 150-370 0.30-0.45 6.3
24-30 30-40 0.75-0.15 0.12-0.35 25-35 0.12-0.20 42
29-40 40-45 0.07-0.15 0.12-0.35 30-40 0.15-0.25 5.7
Eazt 39-50 40-45 0.07-0.15 0.20-0.50 30-40 0.15-0.25 5.7
(SKD61) 49-102 40-45 0.10-0.20 0.20-0.50 30-40 0.20-0.30 6.3
100-220 40-45 0.10-0.20 0.25-0.75 30-40 0.25-0.35 6.3
220-500 40-45 0.10-0.20 0.25-0.75 30-40 0.25-0.35 6.3

@lpm 144



|

LR0|lsF=

==
(FC25) (AC4A, ADC)
A A A A A
22-30mm/min 20-25mm/min 8-12Zmm/min 32-40mm/min 63-100min
oI5 oI5

(mm/rev) (mm/rev) (mm/rev) (mm/rev) (mm/rev)

1 8,000 | 0.03-0.05 7,000 | 0.03-0.05 3,200 | 0.03-0.05 11,500 | 0.04-0.06 20,000 | 0.06-0.09
2 4,000 | 0.06-0.09 3,500 | 0.06-0.09 1,600 = 0.06-0.09 5,700 | 0.08-0.11 10,000 | 0.12-0.18
3 2,800 | 0.10-0.13 2,400 | 0.10-0.13 1,060 | 0.10-0.13 3,850 | 0.11-0.16 10,000 | 0.20-0.28
4 2,100 | 0.11-0.15 1,800 @ 0.11-0.15 800 | 0.11-0.15 2,900 | 0.13-0.19 7,500 | 0.24-0.34
5 1,600 | 0.12-0.18 1,400 | 0.12-0.18 630 | 0.12-0.18 2,260 | 0.16-0.22 6,300 | 0.28-0.40
6 1,320 | 0.13-0.19 1,180 | 0.13-0.19 530 | 0.13-0.19 1,900 | 0.19-0.26 5,000 | 0.34-0.48
8 1,000 | 0.17-0.24 900 | 0.17-0.24 400 | 0.17-0.24 1,400 | 0.21-0.30 4,000 | 0.38-0.53
10 800 | 0.20-0.28 710 | 0.20-0.28 320 | 0.20-0.28 1,120 | 0.25-0.36 3,150 | 0.45-0.63
12 670 | 0.24-0.34 600 | 0.24-0.34 270 | 0.24-0.34 950 | 0.30-0.42 2,650 | 0.53-0.75
13 610 | 0.26-0.36 540 | 0.26-0.36 240 | 0.26-0.36 880 | 0.33-0.44 2,400 | 0.56-0.79
14 570 | 0.28-0.39 500 | 0.28-0.39 230 | 0.28-0.39 820 | 0.31-0.42 2,250 | 0.57-0.81
16 500 | 0.30-0.43 440 | 0.30-0.43 200 | 0.30-0.43 720 | 0.34-0.46 1,950 | 0.61-0.85
18 440 | 0.34-0.49 390 | 0.34-0.49 180 | 0.34-0.49 640 | 0.36-0.50 1,750 | 0.63-0.90
20 400 | 0.36-0.50 350 | 0.36-0.50 160 | 0.36-0.50 570 | 0.40-0.56 1,550 | 0.68-0.98
22 360 | 0.40-0.55 320 | 0.40-0.55 150 | 0.40-0.55 520 | 0.42-0.59 1,400 | 0.73-1,06
24 330 | 0.41-0.60 290 | 0.41-0.60 135 | 0.41-0.60 480 | 0.46-0.65 1,300 | 0.77-1.13
26 310 | 0.42-0.65 270 | 0.42-0.65 120 | 0.42-0.65 440 | 0.47-0.68 1,200 | 0.81-1.20
28 290 | 0.45-0.70 250 | 0.45-0.70 110 | 0.45-0.70 410 | 0.50-0.73 1,700 | 0.84-1.26
30 270 | 0.48-0.75 230 | 0.48-0.75 105 | 0.48-0.75 380 | 0.54-0.78 1,000 | 0.87-1.32
32 250 | 0.51-0.80 220 | 0.51-0.80 100 | 0.51-0.80 360 | 0.58-0.83 950 | 0.90-1.38

145 www.iwidin.com

viva




0|

(mm/rev)
1
2
3 4,500 100 3,360 75 2,000 36 1,400 20 11,200 250
4 3,150 125 2,360 85 1,400 40 1,000 5 8,000 290
5 2,500 140 1,900 95 1,120 45 800 28 6,300 315
6 2,240 150 1,700 100 1,000 48 710 28 5,600 315
8 1,600 180 1,180 118 710 56 500 34 4,000 387
10 1,250 200 950 132 560 63 400 38 3,150 400
12 1,000 190 750 118 450 60 315 38 2,500 375
14 900 180 670 118 400 60 280 40 2,240 855
16 800 170 600 112 355 60 250 40 2,000 345
18 710 165 530 106 315 56 224 40 1,800 345
20 630 160 475 95 280 56 200 40 1,600 315
22 560 150 425 85 250 50 180 36 1,400 300
24 500 140 375 75 224 45 160 32 1,250 280
25 500 140 375 75 224 45 160 32 1,250 280
26 500 140 375 75 224 45 160 32 1,250 280
28 450 125 335 65 200 40 140 28 1,120 265
30 450 125 335 65 200 40 140 28 1,120 265
n g 32 400 120 300 60 180 36 125 5 1,000 236
= 35 355 105 265 53 160 32 112 22 900 224
36 355 105 265 53 160 32 112 22 900 224
40 315 100 236 48 140 28 100 20 800 200
45 280 90 212 42 125 25 90 18 710 180
50 280 80 190 38 112 22 80 18 130 160
- 0| B= YUH 2 =0l 1/2 D, e 4 HIL0| 1/4 DE 71E2 2 5t0f ZadsIRELICt
- HZ0|7t M7|12 matEt i O|&ATE 20~50% R0 FLC

- 7|72t H2 20l UE eIt E2 A AEELTL
- EARE DMl HEet s MEEUC

@lDIN



250 315
250 415
236 280
250 250
240 224

>
= N o

In

mo
NI 2

El

1

T
T
ok

T
0!

rlo

0

> In

rl_l.

IS
e

ne
rlo
o

0z
k=

o

X

o
N

l
i)
H

39

of

_|0_||
mrorx

L5 1/22 HEUCH
+5 1.341 ~ 15812 SfL|ch
Yot =2 AS AEFU L

ol Hehet Zis MFELC

10/(0.1D) X HUZ(1.5D)E 7I&E22

212 85 112

212 85 112

190 75 100

170 85 90

150 75 80
SIAELICE

147 www.iwidin.com

viva



HAA T 20|} 27 0f&(mm/d)
(m/min) | @5 | @10 | @15 | @20 | @25 | @30 | @35 | @40
<70 12-20 | 007 | 009 | 013 | 016 | 020 | 025 030 @ 035 0 15-45

70-100 10-15 | 0.05 | 0.08 | 013 H 015 | 021 | 026 | 0.28 | 030 0 15-45
E=vAy 100-150 6-12 005 008 | 013 | 015 | 021 | 026 | 0.28 | 0.30 0 15-45
<220HB 8-15 010 | 012 017 | 020 030 | 040 | 045 050 | 0(5) | 15-45

= >220HB 6-10 007 | 070 014 | 018 H 026 | 032 | 036 040 | 0(5) | 1545
HetEE <220HB 6-12 0.07 | 010 | 014 | 018 | 026 | 032 | 036 | 0.40 0 15-45
= 60-80HB | 15-20 | 0.12 = 0.15 | 018 | 022 | 030 035 | 037 | 040 5 45
s 50-120HB | 10-15 | 012 | 015 | 0.18 | 022 | 030 | 035 | 037 | 0.40 g 15-45
dsF= | 60-100HB | 8-15 012 | 015 | 018 | 022 | 030 | 035 | 0.37 | 0.40 5 15-45
L=0|=8= | 90-120HB | 20-30 | 015 | 018 | 023 | 028 | 035 | 045 | 050 @050 8 30

mm

2lo|mo| =7 | 71201S

0.8-1.2 0.05
1.2-1.6 0.10
1.6-3.0 0.15
3.0-6.0 0.20
6.0-18.0 0.30
18.0—-30.0 0.40
30.0—100.0 0.50

viva

2|0|H ZHA| FolAket
- 2|0|HE Wi A3|TSIX| OMUAlLR.
ool mp ol 2 XMGIE [t AlZiuct
- HAMRE S0l 3Fote] To| Mt S| sHIAlL.

XEEE =0|HH U2 AL 2 0|48 37| 5tH ELch
o)) 10mmcHzH 0.05mm H=

@mﬂv 148



FeAY mEAZ

(820-40C) (S20C 0|4 (H-;%;%é:s) AH|QI
SCM, FCD SKD &
BASE | EAMSE | EAMSE | EMAe AL T
8-13m/min 6-9m/min 3-5m/min 6-11m/min
§| T
M3 850-1,380 740-1,270 640-960 320-530 420-740 640-1,170 1,060-1,590
M4 640-1,040 560-960 480-720 230-400 320-560 480-880 800-1,190
Mb 510-830 450-760 380-570 190-320 260-450 380-700 640-960
M6 420-690 370-640 320-480 160-270 210-370 320-580 530-800
M8 320-520 280-480 240-360 120-200 160-280 240-440 400-600
M10 260-410 230-380 190-290 95-160 130-220 190-350 320-480
M12 210-350 190-320 160-240 80-130 110-190 160-590 270-400
M16 160-260 140-240 120-180 60-99 80-140 120-220 200-300
M20 130-210 110-190 95-140 40-80 64-110 90-180 160-240
M24 110-170 93-160 80-120 40-66 53-98 80-150 130-200
M30 85-140 74-130 64-95 32-53 42-74 64-120 110-160
M33 77-130 68-120 58-87 29-48 39-68 58-110 96-150
M36 71-120 62-110 53-80 27-44 35-62 53-97 88-130
M39 65-110 57-98 49-73 24-41 33-57 49-90 82-120
M48 53-86 46-80 40-60 20-33 27-46 40-73 66-99
M52 50-80 43-73 BIEES 18-31 24-43 37-67 61-92
o
=

- SKH SHE= & 71Z= Lt

- AT MBI CIS S TRSHIAIL.
Bo| HAAE 9 B|T4E B0l M, WX|, 57, S, LAPES Z0l, TAIHS A,
HAISH O] ARREZIO W2t 27 AL
Jeio2 9 BO| HTA| ABEES BE5| Folsto] FAAIL.

149 www.iwidin.com



TWIST DRILLS| TROUBLE CHZH

TROUBLE

AL O| Chipping

# ¢l
olMo| ollz| gt
O7Ztat ThinningR2| =0l
olzlgt

CH

- Honing & Z(%E&= HoningZg aA & A)
- Tip F4E! HZA 0140| 2 o2 oS =M

EASETIHR =3

THIN(BU, B

- BNZS B7H30)
EMAES S0I)

- Coating, Cermet

- MBAE

ZI= 2l Chattering 2

. 7|-A‘|0| =L II'H| E‘: Dr|||% A}g.gal' Zd

- JISEE ATEH TYAE A
C AHAA T2 LE
=217 =

A

T

=

Tip XEol| Hsh HALETt

HAAES UE A

=

L HALS A1

- ZEZKPoint Angle)2 HA
- M Tip MRS MY

138 BME By

HAIAHOIM T

viva

- Guide Bush AtE
- HAAEOIM 0l8E RE
C7IEE HHE YSst &

- 7|A2 Horet A
- Thinning Type HA

et s YRS

- 240l 2 Tl A
7132 1Y WAL M

TARES 015 RE X

==

IEES I

Drill 7ol 201X U

- Guide Bush AF2 ! Guide ClearanceE 27|
- Drile] 242 A A
- Drill MTHE AEY %iéf | 3to FAo] £E2

ot
N

Thinning TypeL 2

ChipO0| atgl

- Step Feeding & A
-o0la2 wE 7
- Ao = Al2E A

7|E}

Drill Chucking 0| 2
DrilZd2| Back Taper?} 912

- Chucking2 Y=ot & A
- Miot At7 (et Ao S 2YE A

@lDIN



REAMER2| TROUBLE CHZH

TROUBLE | 89l
AEA0) By
AL T

Ol&&E iy

AMAH 2 22
gtrhztol mtry

 EAAES GECL

- 0IEE=E HEC

o=

7|A1e 2

IIAEES| 2
I|ARHRIClamp 24 B&
37 Holder MEo| £xigt

- Spindle?| XI5, Bush Clearance, Spindlezt Bush?|
- EmentS2 &8

- Clamp2| Z4E =2QICt

- Guide Bush7} @& A<= Quick Change Holder

ARgS Tl

372 EH|

N Holo| ™alo| 3t
Setting HE7t =2F
3o SE0| 1t
3o 2ol BE

a2l M2 SHASHT}

oo

- RHRIALA| 24K ATHZH(E3| Tip 22 &4

- SettingAl 2] RunoutdE SFA(Shank2| EF 5)
- He FAZOIS Bict

- 20| SAE B RYOZ HiRLE

HAR0| 2
S| Mo| L
S0l Hat, Bajol ofst 50| Hst

FHSEY BF

- 3|X Bk22 X3 BITH(RI3H BTt 10~208H)

. 220 =2 SHE A

M HAIRE MBI

- SR 3 Chipel A EtRRle] S mdict

. ZIYS B0 SA| 95 HAlKY) =SS B

oHo= © TR 252 =

TiAHel 2R
T

ZApio| stgy

L=l
B e

3,
AN =
(OIEEBEE R

-

T
T
ct.

A
ZHA|

:

[l

rob rol

:

[y |

i

HMZZo| BXHY
0|&4 = T2 215t Chisel Z
O|&&E T2 215t Chi

3|T4 DICHZ QIS MALS

=]

iI pz

=3
=

J
W o= Ik

ikl

E
T

- 0IE&EE HEL.

= X
AZ LIX

- B TIpQIEE ZHoleim Chipo ot

XHHAO| 2X|

Thinning2| £XH0]| 2|st Chiself 4=
o x5t

THHAAME ko ZH{of| 2IFt Burnishing
Torque®| St L= Tipe| FH9o| {0t
HZ L

viva

HYet oM AL Sttt
THAAMA g2 247 HH

717182l =

- M7 ASe| 2|
- OJARRY Clampit 7HA

AR ZH|

151

www.iwidin.com



BURNISHING DRILLS] TROUBLE CH=H

TROUBLE

Hole2| &tcH

]

Burnishing &1t 3 A|SHCY.

cH

- Chamfer Zt& ZfA|SHC

- Margin Z2 3 A3},

- Back TaperE XA},

- 2t Chamfer2 Slofgtct,

- Reamer Dia.2| MY HEE Check SHCt.

Buit-up edge 2HMS AX|StCE

- Margin 22 ZAA|7Ict

- 2& ChamferS Hofatct,

- DJAITHe] EXf2| =g HE

- HALEZE 0|1 0|48 =9I},

ZES HPAZIC

=217 —

. HALS molg =jIA|ZIC}

HAH 9| Un—balanceS &0ILt.,

- Cutting edge®| EEXIE 5/1000 O|LHZ STt
- MM E S20IC)

- SpindleTt 7|=Z9| AlignmentE &QIct.

- BushQ| OtZAEHE M walstc},

c 28N HMARUM 24EMOE WESIC

HoleQ| &4

Finish 21t& &¢Ik,

- Cutting edge 2| O{R2t2 I (SCt,
- Margin 22 =9Ict,

- Back TaperE 3 At
- FALCS Ol

=7 2t

ChatteringS &°9ICt,

- 71A19] 282 =2t

- Bush Zxt& &9Ict,

- Left Helix Reamer2 HZASICY,
- Margin 2 3 Astct.

- Back TaperE 3AISiCY.
s N e I_r=‘<|:|-

0|52 2RI

viva

BurnishingS =7|8tCt,

- Left Helix ReamerZ tHZASHC},
- Chamfer 2t & A|Stct,
- 2Et Chamfer2 HOfGtCE,

o
]
fjo
g0

o
inl

- Rake angleg 3 7(tCt,
- FHAE T2 ot

- FeedE £2IC}.

ChatteringS QLY.

- Cutting edge 2| EZXIE 5/1000 O|LHZ BiCt,
- HAEES =0ICt

- Spindle 2} 7|=ZA9| AlignmentE &L}
-84 HARUM 24840 F Wetstir),

Chip2| ZH4E HIAgiCt.

- Flute TypeZ astct.
- Flute Z/0|Z ZHAISICE,

@lDIN



ENDMILLS| TROUBLE CHH

TROUBLE

Tool mp&

3 2

TjAfRet BHAE o

022 BY A
- E5Y2 53U

osEE EE A

- Toolg Z7|0f| mBHOt=2 =)

- Chuckt ColletE et

- SEYS YA

- A0 HoningS AlA|

- 47} M2 Endmilg ALR(42—24))

o|5ol Wt HEAZ I

- 0|8 9| gk HZAAZ|7| Tol| o|5EE EYUA
- Chuck2} ColletE mst

Aol I

Coner29| m~

- Hand lapperZ Chamfers & %A
- Down CutE Up CutZ H4

MAZI0| BRE0| T

- Down CutE Up Cutz H4

EAAEE BY A

Chipping

TSt Chipping

(OIBEEEEY A

- 47t M2 EndmilS AFZ(42—24)

- 21401l Honing= & Z(Solid Endmill2] <)
S EAMAZE =l
- pARIRE BAIRIo 2 HE(Brazed Endmille] ZP)

EAIRRIZ AIE 20iE ZIAlRIRoR W

il

et o=y

- Up Cut2 Down Cutz HZA

- 0IE&=E 37t

BH0| Y 713 B

oIEEEEEY A

- GTE U2 Endmil2 AE(2g—4Y)

HASES 3 3

T-A0|M(Built-up edge)o| - GAEMOE AL
S - o1Mofl OBt HoningZfS & A
- Up Cut€ Down Cut2 HA
- Q1Mo O|MISt HoningS & A
7HSH| 7t22 ZRLT} L 22N HAes M_Q_:HE -
HIAHGHE. 74O So 2TT= o= AN
2T om=2 oT

- Down Cut& Up CutZ HZ

Chattering &t

(0|IEEEE SIE A

- HAMLEE HA

CEEYS EY A

- SIAERIAAlOl= 24 Endmill, AR Ol 44 Endmill
2 A8

- Down CutZ Up Cutz2 HZA

153 www.iwidin.com

viva




viva

MAto| TROUBLE LHZH

STM=

5ol My

07_|r2 3 3_“: _ 74Xl
sz ey gooS TR HMLEE L Bt sam=
s ok dolsolge g Eos S EE el 0SS ARSBIC ARBON
290l = SIMEIZS T B IS e OSSR ASEI, CERMET
MES MESHC} = =L/ 2T HAISE HALQR|Z AFRSH}
=AY K22 A A EZ Ll ST
S e oz mmuz ongg | USSR S B Huniz
T FCh=| i) o= =/ 2L
s wmar, oo BASE AIBHILLAIRIISHIS)
o | sxsg Sl Mz A ) BAAEE W Bt B
= H22Mol 52 | ZAZIE it 0152 WA B, g
o A5 HEHL, S240| 52 HASHE A
HAZIS THE T TS : s
oias suranzzd | TLIEAEAIESO ansce son N s
oizg 2N Am aisg pmsi e Co7ll Ligtera
=3 ol W22 AMOo| = HRO|ZIS 0|42 B7HAIZIC, ===
= | I' xH_;.:_g A‘PH%H:I' 'I'él:l—l_ 5-7'" ?_H:I' MRS MAlO = = AEJEHA
S= U3 SLI2 ®by|EiC) MESH HAQE ALESICE T2zt
oo
BAAES W B,
s Mizte), A2y, ThES L | olsE i st
Shd = PAS o= oJle ML X = o= x err.
semom e oipag ol = A wck  opE NSk o e
2HiE Mgt
_ FMAAZZ L STt
TOI BES ARSIz QM) e
sz DS MEE MR | C e e o | 018 S B, ARz
) o] HE HAOR Bt .
Zklzstoz Bict,
_ o7t ZHAIZE OIMHIZAS )
o goso g2 sg A0 SNHEEHEE ausc o g ol o S ROLL
o —o = — = =
Aestct ot sug ey, | 2% B0t B2 SAE A 8%
QINE9IZIS A Bict, s
. ool seaize | SHoIEAEIME TARES mo| MBIt ot
o frtts oA 27 Bt T S
o i%jl% 37_” 3,_|‘|:.|'_ IoE x7'” °|_E|'.
BAZEE EAISHCH 0|42 WA sict
- Lotz Mol 2 siE | o1 = DA o= =/ 2L oy
B2 M EE e uae = B Tole A #ict e
& Algsich s =t BASE AZSITL(NEIISTID) 8%
o Hi= PN - —
JAHESA oo e B Qmmel oy Bl B R,
o3 i i 0152 WA B usinyz
s77e = e Helars Hms| s,
oy o0 mo xme | QARSI oMol mAs 0152 wi gt
Ds i T M BAOR BT | TS HA Bl e
HEE &¢ s4g =7 Bt HAEAOR Bt
oLE9I2}, oIl BASE 018 WA B, Jenl
o e UolRAOl B2 FuMo| NS HAo= B | Huws A Bt e
WSS MBI, | SHS AL HEs BARE At =
- LSt =2
opss ok mo qpms | BMS 30 Bk HMAEE EoICt NA| e S
A A0l F2 MBS | 5 quzae 9 5 o = Co7 LiEE=
[ itk oLuIZS T BTt 018E FIAZICY, P
So| 24 ot poues 2 : . |
- 542 =7 st S2H0| 52 HARHE A i
N UOIRA0I B2 | o9, ZALS MEs| B, | ASES WAL
S e s BB ASHT  mmes b it 0l5E WA B, Aunz
EBBE | e xime sy | oavES T st HEs BARE Agsi, ST E
3ict. 5492 = sttt Miztaloll= x| gt
270N NS B,
siar oo| me yzs | OOIEE 2BolsE  NAEE W B
- SR -t gsch 015E WA B, e
2= S0, QL0 Cit oAl Helarg = s,
Fojsir}
) ool me rpms | B 39 IS
oy TEOEEMEE s mAAEE W Bt
Haj|o|Xl S [SINEDNETR A LIy 5 |
saol e ise ng | SIS U o Ol€ WA i S E]
srsiof ol 22| % SOlEIAl MBI, olare = oitt,
NES Algsit

@lpm 154



3.14XDXN

1000

(mm/rev)

Z O

T HAEE (mm/min)
C EZEF (mm)
: 3|®2 (rp.m)

(mm/min)

»n —

014 (mm/rev)

T 122 7+2Z0] (mm/min)
D312 (rp.m)

A EQ3 Ul ERAE

Md = Kd2 X (0.0631 + 1.686 X f) (kg/cm)

T = 57.95KDf0.85(kg)

e HAEAE(K)
ka/mit
PaESRas| 21 177 1.00
O|OLI0|EXH 28 198 1.39
s|lZ=A 35 224 1.88
10202 (EtAZE C 0.2%) 55 160 2.22
11127 (42 C0.12, S0.2%) 62 183 1.42
13352 (Mn 1.75%) 63 197 1.45
31152 (Ni 1.25, Cr 0.6, Mn0.5) 53 163 1.56
31202 (Ni 1.25, Cr 0.6, Mn0.7) 69 174 2.02
31402 88 241 232
41152 (Cr 0.5, Mo 0.11, Mn 0.8) 63 167 1.62
41302 (Cr 0.95, Mo 0.2, Mn 0.5) 77 229 2.10
41402 (Cr 0.95, Mo 0.2, Mn 0.85) 94 269 2.41
46152 (Ni 1.8, Mo 0.25, Mn0.5) 75 212 212
48202 (Ni 3.5, Mo 0.25, Mn 0.6) 140 390 3.44
51502 (Cr 0.8, Mn 0.8) 95 277 2.46
61152 (Cr 0.6, Mn 0.6, V 0.12) 58 174 2.08
61202 (Cr0.8, Mn 0.8,V 0.1) 80 255 2.22
61302 79 260 2.20

155 www.iwidin.com

viva




KAAEA al O
EMEE
3.14XDXN SV BAEE (mm/min)
= (mm/rev) D EZXF (mm)
1000 -N @ 3F4 (rp.m)
o 23
F=fXZXN (mm/min) - F : Table3|Z4 (mm/min)
S E0l4 (mm/tooth)
S ] A= EN
f= N (mm/min) “N @ EF% (np.m)
ART
S
W = (km) SW D AQEE (Kw)
60 X102 X n Hp : A0}
- Q : BIEZ (cm3/min)
Hp = v (k) Lt A ()
0.75 - F : Table2| &4 (mm/min)
-d  =HAZO| (mm)
LXfXVXLXZ DXfXVXLXZ - Ks @ H|IEAKE (kg/mm?2)

viva

i) 52 220 195 182 170 158
Eral 62 198 180 173 160 157
a8 72 252 220 204 185 174
378 67 198 180 173 170 160
37 77 203 180 175 170 158
I=azz 77 230 200 188 175 166
=gz 63 275 230 206 180 178
AEE2EHY 73 254 225 214 200 180
IESEHY 60 218 200 186 180 167
LAIESEHY 94 200 180 168 160 150
LA ESe|EHIT HB 352 210 180 176 170 153
=z 52 280 250 232 220 204
paESRas| HRC 46 300 270 250 240 220
O|OlLIO|ExRE 36 218 200 175 160 147
S|1FH HB 200 175 140 124 105 97
s 50 115 95 80 70 63
AES(A-Mg) 16 58 48 40 35 32
AEE(A-S) 20 70 60 45 39

@mﬂv 156




2MNST
314XDXN ,
V= (mm/min)
1000 N ¢ 8E4 (rpm)
1 3|H50M HASEES Fols 42 PV EAEE (mm/min)
D : 7IBE 2F (mm)
1000 XV
N=
3.14XD
- W 3|Fa (Kw)
W Q X ks DXfXdXks - Q : Chip2| MX (cm)
= = -V BASE (mm/min)
60X 102 X » 60X 102 X n 1 0l (mmyrev)
-d @ ZAZ0| (mm)
Hp = w “y : 7IAEE (05 - 085)
0.75 “Hp : A0
- Ks : DAY HI=AIK S (kg/cm)

AL 52 361 310 272 250 228
Eral 62 308 270 257 245 230
a8 72 450 360 325 295 264
37 67 304 280 263 250 240
37 77 315 285 262 245 234
IEUHL 77 383 325 290 265 240
IEUY 63 451 390 324 290 263
AESEHY 73 340 390 340 315 285
eS| EHY 60 361 320 288 270 250
LiA3ES2=HY 94 307 265 235 220 198
L3 ES2 =Y HB 352 331 290 258 240 220
dExE HRC 46 319 280 260 245 227
O|o{LIO|ExRH 36 230 193 173 160 145
sl=H HB 200 211 180 160 140 133

HAL Xig

P=AXKs A=dXf

A L EHAHE () A L EHAHE ()

P HAKE (ko) -d 1 HAIZI0] (kg)

- Ks : HIZAXE (kg/mi) 11 0l& (kg/mm/rev)

157 www.iwidin.com

viva




viva

e

I
=

2
()

I EZLIAHmm)

mm

L IHOILAUNC)

xmr | 13 | 23 3= saxmix | 38 | 2B 1B
M2X0.4 1.65 1.65 NO. 1-64 UNC 1.57 1.75
M2.2X0.45 1.81 1.83 NO. 2-56 UNC 1.86 1.86
M2.5X0.45 2.11 213 NO. 3-48 UNC 2.14 2.14
M3X0.5 257 2.59 2.62 NO. 4-40 UNC 236 236
M3.5X0.5 2.95 3.01 3.05 NO. 5-40 UNC 269 2.69
M4X0.7 3.36 3.39 3.43 NO. 6-32 UNC 2.86 2.86
M4.5X0.75 3.81 3.85 3.89 NO. 8-32 UNC 352 352
M5X0.8 4.25 4.31 4.35 NO. 10-24 UNC 391 391
MBX1.0 5.08 5.13 5.19 NO. 12-24 UNC 451 457
M7X1.0 6.08 6.13 6.19 1/4-20 UNC 5.25 5.25 5.25
MBX1.25 6.85 6.85 6.92 5/16-18 UNC 6.64 6.72 6.72
M8X1.25 /.85 /.85 1.92 3/8-16 UNC 8.06 8.15 8.15
M10X1.5 8.45 8.62 8.70 7/16-14 UNC 9.40 9.50 9.50
MT1X1.5 9.54 962 9.70 1/2-13 UNC 10.8 11.0 1.0
M12X1.75 103 104 105 9/16-12 UNC 12.3 12.3 12.3
M14X2.0 12.1 12.2 12.3

5/8-24 UNC 136 138 138
M16X2.0 14.1 14.2 14.3
M 18X2 & 8 5 g 3/4-11 UNC 16.6 16.8 16.8
N20XD & 6 7 178 7/8-10 UNC 195 196 196
M22X2.5 19.6 19.7 19.8 1-9 UNC 223 22.5 225
2430 IR IF) ) 11/8-8 UNC 25.0 25.2 25.2
MZ7%3.0 941 e 947 1 1/4-7 UNC 28.2 28.4 28.4
M30X3 5 205 6.6 %.8 1.3/8-7 UNC 30.8 31.0 31.0
M39X4.0 35.1 35.1 35.3 2-5UNC 453 45.3 453
M42X4 5 376 376 379 2 1/4-4 1/2 UNC 51.7 51.7 51.7
M45X4.5 406 406 40.9 2 1/2-4 1/2 UNC 57.3 57.3 57.3
M48X5.0 43.1 43.1 43.4 2 3/4-4 UNC 63.7 63.7 63.7
M52X5.0 471 47.1 474 3-4UNC 70.0 70.0 70.0
M56X5.5 50.6 50.6 50.9 3 1/4-4UNC 76.4 76.4 76.4
MB0X5.5 54.6 54.6 54.9 3 1/2-4UNC 82.7 82.7 82.7
MB4X6.0 57.8 57.2 58.5 3 3/4-4UNC 89.1 89.1 89.1
MB8X6.0 61.8 61.2 62.5 4-4 UNC 95.4 95.4 95.1
ZHELIA

SHXA | PF | 20DMEAl | ZOENEA | PF NPTF
1/6-28 6.79 B.11 6.23 6.49 20/ | Zo | NPS| zloj | o |NPSF
1/8-28 8.80 8.11 8.24 8.50 ABAl | 2AIBA A8l | EMBAI
1/4-19 1.8 108 10.9 113 1/6-27 610 625 635 594 | 6.15 | 625
1/8-19 15.3 14.2 14.2 14.9 1/8-27 833 | 843 (874 833 | 843 |82
1/2-14 19.1 17.7 18.0 185 1/4-18 1072 | 1111 [1113] 1072 | 11.11 | 11.11
5/8-14 21.1 3/8-18 14.29 | 14.29 | 1468 1429  14.29 1468
3/4-14 24.6 23.1 23.3 24.0 1/2-14 17.46 | 17.86 |18.26 17.46 17.86 17.86
7/8-14 28.3 3/4-14 2262 | 22.02 | 2242 22.62 | 23.02 2342
1-11 30.9 29.1 29.4 31.1 1-11 1/2 | 2858 | 28.97 2936 38.58 | 28.97 2937
1.1/8-1 355 11/41112 | 37.31 | 37.70 38.10] 37.31 | 37.70
1.1/4-1 395 375 38.0 38.8 11/21112 | 43.66 | 44.05 4445| 43.26 | 43.66
1.1/2-1 45.4 434 43.8 445 2-11 1/2 | 5556 | 55.96 5636 55.17 | 55.56
1 3/4-1 51.4 2 1/2-8 | 65.88 | 66.68 6745 6548 | 66.28
2-11 57.2 54.9 55.4 56.5
2 1/41 63.3 72.0
2 1/2-1 72.8 70.2 70.7 84.7

@lpm 158



&L : Machining Center &
Hlo|m E822| =2l0|E 7|E0 o8t EITE
ATCE UE 27, /IXIZEE |

Application : For Machninig Centers.
Torque transmission with drive keys on the taper.
2U—grooves for ATC, Positioning notch.

* 8 : ATC7} = Transfer Line, M&7|.
c Hlo|m E222| E210|2 7|20 o8t EITE

¢ Application : Transfer lines and special purpose machines without ATC.
* Torque transmission with drive keys on the taper.

Sajols 7] £0| gl 2 thE S,

Application : High speed machining centers and wood milling machines.
Torgue transmission by friction.
Complete symmetrical shape without drive keys.

DING9893-1, ISO 12164-1 : 2001

N

_QT v
=

* 8 : Machining Center, HEg%al MHI2
¢ Coolant tube0ll 2|t Flange through coolant &= Through cc
* Flange 22| U0 2|8t TorqueZE o AXIZFELX|

¢ Application : For Machining centers, milling machines lathes
* Flange through coolant feed or through coolant feed by coo
¢ Torque transmission by U—groove on the flange.

¢ Positioning notch

* 8% : ATC7} Sl= Transfer Line, T&7|,
- 2 24X 28 * Flange Through Coolant.
* Flange 2| UE0| 2|5t TorqueX™E

¢ Application : Transfer lines and special purpose machines wit
¢ Large flange diameter. ¢ Flange through coolant feed.
* Torque transmission by U—groove on the flange.

* Application : High speed machining centers and wood milling r
¢ Large flange diameter.

159

vivda



viva

HSK Shank DIN 69893-1, ISO 12164-1 : 2001

¢ D2
2D
@ D3

N

L1

L3

B2

B1

B3
-~

HSK 40A 40 30 45.00 34 5.0 46 20 20 4.0 35 16
HSK 50A 50 38 59.30 42 6.8 6.0 25 26 5.0 42 18
HSK 63A 63 48 72.30 53 8.4 7.5 32 26 6.3 42 18
HSK 100A 100 75 109.75 85 12.0 12.0 50 29 10.0 45 20

HSK 40A 21 255 23 8.05 11 9 17.0 12.0 M12 1.0
HSK 50A 26 32.0 29 10.54 14 12 21.0 1555 M16 1.0
HSK 63A 34 40.0 37 12.54 18 16 26.5 20.0 M18 1.0
HSK 100A 58 63.0 58 20.02 22 20 44.0 1.5 M24 1.5

@mm 160



Bottle Grip Taper MAS403-BT

2D

9 D2

A
BT30 46 31.75 38 12.5 48.4 13.6 13.6 20 2 16.1 | M12 1.75
BT40 63 44.45 53 17 65.4 16.6 16.6 25 2 16.1 | M16 2
BT50 100 69.85 85 25 101.8 | 232 232 35 3 257 | M24 3
BT60 155 | 107.95 | 135 31 161.8 | 28.2 28.2 45 3 25.7 | M30 3.5

DIN 69871-1 A/B, 7388/1 : 1983(E)

SK30 50 31.75 | 443 45 13 47.8 16.4 19 15 16.1 | M12 1.75
SK40 63.55 | 4445 | 56.25 50 17 68.4 22.8 25 18.5 16.1 | M16 2.0
SK50 975 | 69.85 | 91.25 80 25 101.75 | 355 37.7 30 25.7 | M24 3.0

161 www.iwidin.com

viva




viva

CAT Shank (ANSI/ASME B5.50-1985

CAT30 50 31.75 443 31.75 13 47625 | 16.25 18.67 16.1 UNC1/2-13
CAT40 63.55 | 44.45 56.25 | 44.45 17 68.25 | 22.60 25 16.1 UNC5/8-11
CAT50 97.5 69.85 | 91.25 70.1 25 101.6 353 37.7 257 | UNC1-18
CAT60 155 107.95 | 135.26 32 161.8 | 161.93 54 59.3 25.7 | UNC C1,1/4-7

DIN 2080, JIS B 6101, ISO 297 : 1988(E)

L2 ‘ L2

L3

L

NT30 46 31.75 17.4 68.4 48.4 16.2 10 1.6 16.1 1/2-13UNC
NT40 63 44.45 25.8) 93.4 65.4 225 10 1.6 16.1 UNC5/8-11
NT50 100 69.85 39.6 126.8 | 101.8 353 12 3.2 25.7 | UNC1-18
NT60 155 | 107.85  60.2 206.8 | 161.8 60 15 3.2 25.7 | UNCC1,1/4-7

@mﬂv 162



Morse Taper - Screw type

TAPER
TAPER ‘TAPER‘ e
MTO | 1/19212 | 1°2927" | 9045 | 3 9201 | 6442 | 5 53 | 64 : : 4 02
MT1 | 1/20047 | 1°2543" | 12065 = 35 | 12065 | 93% | 5 | 5 | 94 | Ms | 16 5 02
MT2 | 1/20000 | 1°2550" | 17780 | 5 | 17780 | 14583 6 69 | 146 | M0 2 5 02
MT3 | 1/19922 | 1°2676" | 23825 | 5 | 23825 | 19759 | 8 8 | 198 | M2 | 7 06
MT4 | 119254 | 1°2915" | 31267 | 65 | 31267 25943 | 1025 | 109 | 259 M6 | 32 9 1
MT5 | 1/19002 | 1°30%6" | 44399 | 65 | 44399 | 37584 | 1295 | 136 | 376 | M2 | 40 9 25
MT6 | 1/19180 | 1°29%’ | 63348 | 8 | 63348 53859 | 18 | 190 | 539  M# | 50 12 1
MT7 | 1/19231 | 1°2922° | 83058 | 10 | 8308 | 70058 | 25 | 20 | 700 | M33 | 80 | 185 | 5

viva

List of Taper Morse Taper Tang type

8°18

[ 777777777 B 7j Y

TAPER
TAPER ‘TAPER ‘ ANGLE

119212 | 1°2927" ! ) .
MT1 1/20.047 | 1°25'3" | 12065 = 35 | 12065 | 89712 | 620 65.5 8.7 52 85 135
MT2 1/20.020 | 1°25'0" | 17.780 5 17780 | 14034 | 750 80.0 135 6.3 10 1
MT3 1/19.922 | 1°26'16" | 23.825 8 23825 | 19107 | 940 99.0 185 79 13 2
MT4 1/19.254 | 1°29115" | 31267 | 65 | 31.267 | 25164 | 1175 | 1240 | 245 19 16 2
MT5 1/19.002 | 1°30726" | 44399 | 65 | 44399 | 36531 | 1495 | 1560 | 357 159 19 2
1 1 4
1 5

@ d2
2 D1

MT6 1/18.180 | 1729'36" | 63.348 8 63348 | 52393 | 2100 | 2180 | 510 19.0 2
MT7 1/19.231 | 1°2922" | 83058 | 10 | 83058 | 68.186 | 2860 = 2960 | 668 | 286 3

—| = |—m ||| oo | =
o

163 www.iwidin.com



www.iwidin.com

Machine
Tool Holde
System

_—

TE
S|
TEL. 051-319-09 4,
HFEUL TN LRSI 48
TEL. 062-961-0985 / FAX. 062-961-098
ZHEEHA  ZMGE ERIA| ofES AIIC2 300 (RES) IT! BD 1025 [51401
TEL. 055-277-9911 / FAX. 055-237-0904

Head office & Changwon Factory
172, Sahwa-ro, Uichang-gu, Changwon-si, Gyeongsangnam-do, Korea [51389]
TEL. 82-55-286-0905 FAX. 82-55-286-0978

Chicago Office(WIDIN. INC.)
1801 Hicks Rd, Unit B Rolling Meadow il 60008
TEL. 1-847-947-8320  FAX. 1-847-947-8322

Shanghai Office(WIDIN Shanghai Trade Co.,Ltd.)
#303, NO 6818-10, Zhong Chun RD Min Hang District, Shanghai, China 201101
TEL. 86-21-5831-8103  FAX. 86-21-5831-8153

Vietnam Office(WIDIN VINA Co.,Ltd.)
Room A308, 3rd floor, The Manor Tower, Me Tri Rd, My Dinh Ward,Nam Tu Liem Dist, Hanoi, Vietnam
TEL. 84-4-6287-3839  FAX. 84-4-6287-3828 l DI N



